Bid Committee Bid Tab

Bid M4-NPR11 Ended At Jan 31, 2024 10:00:00 AM CST CONTST/MAPS 4 - M4-NPR11 MAPS 4 Park Enhancements, Public Spaces Transformation River - Phase

Company:	Manhattan Road and Bridge	Downey Contracting, L.L.C.	
BASE BID	\$5,549,103.76	\$17,558,477.00	
ALTERNATE 1	\$162,360.00	\$355,158.00	
ALTERNATE 2	\$1,039,235.00	\$2,432,250.00	
ALTERNATE 3	\$64,400.00	\$520,000.00	
TOTAL BID:	\$6,815,098.76	\$20,865,885.00	

Tresha Williams City Clerk

Angee Wagner Purchasing Agent Janet McWilliams Auditor

Potential Bid Defects Noted:

- **#1** Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- **#3** Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- **#5** Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a nonpublished document for review by staff.

Bid #M4-NPR11 - M4-NPR11 MAPS 4 Park Enhancements, Public Spaces Transformation River - Phase 1

Creation Date Nov 28, 2023

Start Date Dec 20, 2023 8:08:31 AM CST

End Date Jan 31, 2024 10:00:00 AM CST

Awarded Date Not Yet Awarded

M4-NPR1101-01 BASE BID: AUDIO-VIDEO RECO	ORDING PRE- AND POST CO	NSTRUCTION			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Downey Contracting, L.L.C.	First Offer - \$1,000.00	1 / lump sum	\$1,000.00	Y	Y
Product Code:		Supplier Product Coo	le:		
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge 🙀	First Offer - \$7,498.96	1 / lump sum	\$7,498.96		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

M4-NPR1101-02 BASE BID: SEDIMENT AND ER	OSION CONTROL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Downey Contracting, L.L.C.	First Offer - \$14,000.00	1 / lump sum	\$14,000.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge 🙀	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

M4-NPR1101-03 BASE BID: UNCLASSIFIED EXCAVATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge 🙀	First Offer - \$47.50	510 / cubic yard	\$24,225.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$200.00	510 / cubic yard	\$102,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

M4-NPR1101-04 BASE BID: BORROW					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Manhattan Road and Bridge 👔	First Offer - \$22.50	1589 / cubic yard	\$35,752.50		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$85.00	1589 / cubic yard	\$135,065.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

M4-NPR1101-05 BASE BID: SUBGRADE (6IN COMPACTED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge 👔	First Offer - \$4.00	956 / square yard	\$3,824.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$7.00	956 / square yard	\$6,692.00		Y			
Product Code:	·	Supplier Product Code:	· · · ·					
Agency Notes:		Supplier Notes:						

M4-NPR1101-06 BASE BID: AGGREGATE BASE	//4-NPR1101-06 BASE BID: AGGREGATE BASE TYPE A (4 INCH)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$90.00	107 / cubic yard	\$9,630.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge 🙀	First Offer - \$150.00	107 / cubic yard	\$16,050.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

M4-NPR1101-07 BASE BID: PORTLAND CEMENT CONCRETE PAVEMENT (6 INCH)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$90.00	863 / square yard	\$77,670.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge 🙀	First Offer - \$100.00	863 / square yard	\$86,300.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

M4-NPR1101-08 BASE BID: TRAFFIC STRIPE (PAINT) (4INCH WIDE) (YELLOW)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$12.00	102 / linear foot	\$1,224.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge 👔	First Offer - \$82.00	102 / linear foot	\$8,364.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

M4-NPR1101-09 BASE BID: CONSTRUCTION STAKING (CONSTRUCTION SURVEY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$13,500.00	1 / lump sum	\$13,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge 👔	First Offer - \$52,122.00	1 / lump sum	\$52,122.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

M4-NPR1101-10 BASE BID: CONSTRUCTION SIGNING AND TRAFFIC CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge 👔	First Offer - \$12,500.00	1 / lump sum	\$12,500.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$14,000.00	1 / lump sum	\$14,000.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

M4-NPR1101-11 BASE BID: MOBILIZATION					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Manhattan Road and Bridge 👔	First Offer - \$275,000.00	1 / lump sum	\$275,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$700,000.00	1 / lump sum	\$700,000.00		Y

Product Code: Agency Notes:

Supplier Product Code: Supplier Notes:

M4-NPR1101-12 BASE BID: CLEARING & GRUBBING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$30,500.00	1 / lump sum	\$30,500.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge 🙀	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

M4-NPR1101-13 BASE BID: REMOVE PAVEMENT (CONCRETE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$10.00	525 / square yard	\$5,250.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge 🙀	First Offer - \$20.00	525 / square yard	\$10,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

M4-NPR1101-14 BASE BID: SAWCUT PAVEMENT (CONCRETE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$5.00	24 / linear foot	\$120.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge 🙀	First Offer - \$22.50	24 / linear foot	\$540.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

M4-NPR1101-15 BASE BID: PAVEMENT REINFORCING FABRIC									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$3.00	1197 / square yard	\$3,591.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge 🙀	First Offer - \$5.15	1197 / square yard	\$6,164.55		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

M4-NPR1101-16 BASE BID: (TYPE II) (PLAIN RIPRAP) (18-INCH DIA.)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$80.00	120 / ton	\$9,600.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge 👔	First Offer - \$125.00	120 / ton	\$15,000.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

M4-NPR1101-17 BASE BID: (FILTER BLANKET) (6-INCH THICK)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge 👔	First Offer - \$75.00	38 / ton	\$2,850.00		Y				

 M4-NPR11 - NPR11 MAPS 4 Park	City of Oklahoma its Trusts	City and		
Product Code:		Supplier Product Cod	de:	
Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$80.00	38 / ton	\$3,040.00	Y
Product Code:		Supplier Product Co	le:	
Agency Notes:		Supplier Notes:		

M4-NPR1101-18 BASE BID: FILTER FABRIC (RIPRAP)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$3.00	160 / square yard	\$480.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge 🙀	First Offer - \$5.00	160 / square yard	\$800.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

M4-NPR1101-19 BASE BID: SOLID SLAB SODDING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge 🙀	First Offer - \$3.25	11056 / square yard	\$35,932.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$4.00	11056 / square yard	\$44,224.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

M4-NPR1101-20 BASE BID: CONSTRUCTION ENTRANCE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$3,625.00	1 / each	\$3,625.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge 🙀	First Offer - \$6,500.00	1 / each	\$6,500.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

M4-NPR1101-21 BASE BID: LIGHT CONTROLLER WITH REMOTE CONNECTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$16,099.00	1 / lump sum	\$16,099.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge 🙀	First Offer - \$22,500.00	1 / lump sum	\$22,500.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

M4-NPR1101-22 BASE BID: GUARDRAIL - PEDESTRIAN BRIDGE & LIGHT UNIT SXB									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge 🙀	First Offer - \$440.00	1360 / linear foot	\$598,400.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$1,741.00	1360 / linear foot	\$2,367,760.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

|--|

bid #M4-NPR11 -
M4-NPR11 MAPS 4 Park

Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Offer - \$2,500.00	32 / each	\$80,000.00		Y
	Supplier Product Co	de:		
	Supplier Notes:			
First Offer - \$5,031.00	32 / each	\$160,992.00		Y
	Supplier Product Co	de:		
	Supplier Notes:			
	Unit Price First Offer - \$2,500.00 First Offer - \$5,031.00	Unit Price Qty/Unit First Offer - \$2,500.00 32 / each Supplier Product Consupplier Notes: First Offer - \$5,031.00 32 / each Supplier Product Consupplier Notes:	Unit Price Qty/Unit Total Price First Offer - \$2,500.00 32 / each \$80,000.00 Supplier Product Code: Supplier Notes: First Offer - \$5,031.00 32 / each \$160,992.00 Supplier Product Code: Supplier Product Code:	Unit Price Qty/Unit Total Price Attch. First Offer - \$2,500.00 32 / each \$80,000.00 \$80,000.00 Supplier Product Code: Supplier Product Code: \$90,000 \$160,992.00 First Offer - \$5,031.00 32 / each \$160,992.00 \$160,992.00 Supplier Product Code: Supplier Product Code: \$160,992.00 \$160,992.00

M4-NPR1101-24 BASE BID: Substructure excavation common							
Supplier	Unit P	Price Qty/Unit	Total Price	Attch.	Docs		
Manhattan Road and Bridge 👔	First Offer - \$30	0.00 1299 / cubic yard	\$38,970.00		Y		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$152	2.00 1299 / cubic yard	\$197,448.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

M4-NPR1101-25 BASE BID: Granular backfill							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Manhattan Road and Bridge 🙀	First Offer - \$100.00	1010 / cubic yard	\$101,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$207.00	1010 / cubic yard	\$209,070.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

M4-NPR1101-26 BASE BID: Approach slab							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$219.00	217 / square yard	\$47,523.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Manhattan Road and Bridge 👔	First Offer - \$400.00	217 / square yard	\$86,800.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

M4-NPR1101-27 BASE BID: Concrete parapet						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Manhattan Road and Bridge 🙀	First Offer - \$42.00	1360 / linear foot	\$57,120.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$202.00	1360 / linear foot	\$274,720.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

M4-NPR1101-28 BASE BID: Stainless steel fixed bearing assembly							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$5,844.00	6 / each	\$35,064.00		Y		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
Manhattan Road and Bridge 🙀	First Offer - \$6,500.00	6 / each	\$39,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

M4-NPR1101-29 BASE BID: Stainless steel exp	M4-NPR1101-29 BASE BID: Stainless steel exp. Bearing assembly							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$4,475.00	15 / each	\$67,125.00		Y			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge 🙀	First Offer - \$6,500.00	15 / each	\$97,500.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

M4-NPR1101-30 BASE BID: Class aa concrete							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Manhattan Road and Bridge 🙀	First Offer - \$1,000.00	276 / cubic yard	\$276,000.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$2,765.00	276 / cubic yard	\$763,140.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					

M4-NPR1101-31 BASE BID: Special concrete finish							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Manhattan Road and Bridge 🙀	First Offer - \$18.00	1557 / square yard	\$28,026.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$52.00	1557 / square yard	\$80,964.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

M4-NPR11–01-32 BASE BID: Class a concrete (abutment)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Manhattan Road and Bridge 👔	First Offer - \$850.00	404 / cubic yard	\$343,400.00		Y		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$1,383.00	404 / cubic yard	\$558,732.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					

M4-NPR1101-33 BASE BID: Class a concrete (pier)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge 👔	First Offer - \$1,000.00	125 / cubic yard	\$125,000.00		Y				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$3,000.00	125 / cubic yard	\$375,000.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

M4-NPR1101-34 BASE BID: Graffiti treatment							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Manhattan Road and Bridge 👔	First Offer - \$3.00	14013 / square foot	\$42,039.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$8.00	14013 / square foot	\$112,104.00		Y		

Product Code: Agency Notes:

Cumulian Duadu

Supplier Product Code: Supplier Notes:

M4-NPR11--01-35 BASE BID: Reinforcing steel Supplier Unit Price Qty/Unit **Total Price** Attch. Docs Downey Contracting, L.L.C. First Offer - \$1.30 20660 / pound \$26,858.00 Υ Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Manhattan Road and Bridge 🙀 First Offer - \$1.60 20660 / pound \$33,056.00 Υ Supplier Product Code: Product Code: Agency Notes: Supplier Notes:

M4-NPR1101-36 BASE BID: Epoxy coated reinforcing steel										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$1.70	197030 / pound	\$334,951.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge ٳ	First Offer - \$2.00	197030 / pound	\$394,060.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

M4-NPR1101-37 BASE BID: Water repellent (visually inspected)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge 🙀	First Offer - \$6.25	1557 / square yard	\$9,731.25		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$12.00	1557 / square yard	\$18,684.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

M4-NPR1101-38 BASE BID: Drilled shafts 54 inch diameter (abutment)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge 🙀	First Offer - \$1,000.00	480 / linear foot	\$480,000.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$2,942.00	480 / linear foot	\$1,412,160.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

M4-NPR1101-39 BASE BID: Drilled shafts 72 inch diameter (pier)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge 👔	First Offer - \$2,750.00	216 / linear foot	\$594,000.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$8,000.00	216 / linear foot	\$1,728,000.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

M4-NPR1101-40 BASE BID: Crosshole sonic logging							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Manhattan Road and Bridge 🙀	First Offer - \$2,000.00	3 / each	\$6,000.00		Y		

Agency Notes:		Supplier Notes:			
Product Code:		Supplier Product Code:			
Downey Contracting, L.L.C.	First Offer - \$3,220.00	3 / each	\$9,660.00		Y
Agency Notes:		Supplier Notes:			
Product Code:		Supplier Product Code:			
NEINTI WAFO 4 FAIK	115 110515				

M4-NPR1101-41 BASE BID: Sealed expansion joints									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge 🙀	First Offer - \$350.00	66 / linear foot	\$23,100.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$448.00	66 / linear foot	\$29,568.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

M4-NPR1101-42 BASE BID: Sealer crack preparation									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge 🙀	First Offer - \$7.25	66 / linear foot	\$478.50		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$64.00	66 / linear foot	\$4,224.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

M4-NPR1101-43 BASE BID: Sealer resin					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Manhattan Road and Bridge 🙀	First Offer - \$230.00	2 / gallon	\$460.00		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$349.00	2 / gallon	\$698.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

M4-NPR1101-44 BASE BID: Haul and erect steel beams									
Supplier	Unit Price	Qty/Unit	Total Price	Docs					
Manhattan Road and Bridge 🙀	First Offer - \$625,000.00	1 / lump sum	\$625,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$6,203,269.00	1 / lump sum	\$6,203,269.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

M4-NPR11–01-45 BASE BID: (Sp) aesthetic formliners (non-biddable)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge 🙀	First Offer - \$45,000.00	1 / lump sum	\$45,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$120,000.00	1 / lump sum	\$120,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

M4-NPR11--01-46 BASE BID: (PI) installation of bridge items

bid #M4-NPR11 -
M4-NPR11 MAPS 4 Park

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Manhattan Road and Bridge 👔	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$500,000.00	1 / lump sum	\$500,000.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

M4-NPR1101-47 BASE BID: 6 inch perforated pipe underdrain round								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge 🙀	First Offer - \$35.00	440 / linear foot	\$15,400.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$118.00	440 / linear foot	\$51,920.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

M4-NPR1101-48 BASE BID: 6 inch non-perf. Pipe underdrain rnd.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge 🙀	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$118.00	100 / linear foot	\$11,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

M4-NPR1101-49 BASE BID: Outlet lateral headwall								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge 🙀	First Offer - \$1,500.00	2 / each	\$3,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$3,220.00	2 / each	\$6,440.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

M4-NPR1101-50 BASE BID: Retaining wall					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Downey Contracting, L.L.C.	First Offer - \$1,995.00	231 / square yard	\$460,845.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge 👔	First Offer - \$2,000.00	231 / square yard	\$462,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

M4-NPR1101-51 BASE BID: Piles furnished (hp 12x53)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$45.00	2512 / linear foot	\$113,040.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Manhattan Road and Bridge 🙀	First Offer - \$75.00	2512 / linear foot	\$188,400.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

M4-NPR11–01-52 BASE BID: Piles driven (hp 12x53)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge 🙀	First Offer - \$20.00	2512 / linear foot	\$50,240.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$34.00	2512 / linear foot	\$85,408.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

M4-NPR1102-01 ALTERNATE 1: LIGHT UNIT SXA (16 foot)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$7,269.00	18 / each	\$130,842.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge 👔	First Offer - \$8,131.00	18 / each	\$146,358.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

M4-NPR1102-02 ALTERNATE 1: LIGHT POLE BANNER ARMS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge 👔	First Offer - \$444.50	36 / each	\$16,002.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$6,231.00	36 / each	\$224,316.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

M4-NPR1103-01 ALTERNATE 2: DECORATIVE PANEL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge 🙀	First Offer - \$85.00	6000 / square foot	\$510,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$313.00	6000 / square foot	\$1,878,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

M4-NPR1103-02 ALTERNATE 2: DECORATIVE PANEL PAINT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$14.00	6000 / square foot	\$84,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge 🙀	First Offer - \$21.50	6000 / square foot	\$129,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

M4-NPR1103-03 ALTERNATE 2: LIGHT UNIT SXD							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Manhattan Road and Bridge 🙀	First Offer - \$383.00	1045 / linear foot	\$400,235.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$450.00	1045 / linear foot	\$470,250.00		Y		

Product Code: Agency Notes:

Trusis

Supplier Product Code:

Supplier Notes:

M4-NPR1104-01 ALTERNATE 3: PIER MEDALLION							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Manhattan Road and Bridge 🙀	First Offe	er - \$8,050.00	8 / each	\$64,400.00		Y	
Product Code:	Product Code: Supplier Product Code:						
Agency Notes:			Supplier Notes:				
Downey Contracting, L.L.C.	First Offer	- \$65,000.00	8 / each	\$520,000.00		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				

Supplier Totals

f Manhattan	Road and Bridge	\$6,815,098.76 (58/58 items)
Bid Contact	Robert Rains bob.rains@manhattanrb.com Ph 918-878-3332	Address 5601 South 122nd East Avenue Tulsa, OK 74146	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	👔 (Status: Authorized on Jan 31, 2024)		
Agency Notes:	:	Supplier Notes:	Head
			Attch:
f Downey Cor	ntracting, L.L.C.	\$20,865,885.00 (58/58 items)	
Bid Contact	Sheila Stovall rmorris@downeycontracting.com Ph 405-478-5277	Address 3217 NE 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch: 🕖

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Bid Committee Bid Tab

Bid PC-0730 Ended At Jan 31, 2024 10:00:00 AM CST CONSTRUCTION/CITY - Bicycle Facilities, N Villa Ave, N Youngs Blvd, N Venice Blvd NW 62nd & NW 10th

Company:	RCC Traffic, LLC	
Base Bid	\$533,672.50	
Alternate No. 1	\$32,186.00	
TOTAL BID:	\$565,858.50	

Tresha Williams City Clerk

Angee Wagner Purchasing Agent Janet McWilliams Auditor

Potential Bid Defects Noted:

- **#1** Anti-collusion affidavit not properly notarized
- **#2** Bid Bond missing
- **#3** Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- **#5** Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a nonpublished document for review by staff.

Bid #PC-0730 - Bicycle Facilities, N Villa Ave, N Youngs Blvd, N Venice Blvd NW 62nd & NW 10th

Creati	ion Date	Dec 18, 2023	End Date	Jan 3 ⁻	1, 2024 10:00:	00 AM CST	
Start I	Date	Jan 3, 2024 7:35:09 AM CST	Awarded Date	Not Y	et Awarded		
RCC	Traffic, L	LC				\$565,858.50	(32/32 items)
	ontact	Doug Walker walkerdoug1970@gmail.com Ph 405-417-5218	Ad	dress	3101 NE 63ro Oklahoma C	d St. City, OK 73121	
		OKC PRE-QUALIFIED CONTRACTORS					
Item	y Notes:		Supplier Notes:				
#	Line Ite	m	Unit P	Price	Qty/Unit		Total Price
PC- 0730- -01- 01	Base	Bid: SEDIMENT AND EROSION CONTROL - First Offer	\$85	60.00	1 / lump sum		\$850.00
	ict Code: cy Notes:		Supplier Product Coo Supplier Notes:	de:			
PC- 0730- -01- 02		Base Bid: EARTHWORK - First Offer	\$1,65	50.00	1 / lump sum		\$1,650.00
Produ	ict Code: cy Notes:		Supplier Product Coo Supplier Notes:	de:	11		
PC- 0730- -01- 03		Base Bid: CURB AND GUTTER - First Offer	\$4	4.00	167 / linear foot		\$7,348.00
	ict Code: cy Notes:		Supplier Product Coo Supplier Notes:	de:	11		
PC- 0730- -01- 04		Base Bid: SHEET ALUMINUM SIGNS - First Offer		60.00	452.35 / square foot		\$22,617.50
	ict Code: cy Notes:		Supplier Product Coo Supplier Notes:	de:	11		
PC- 0730- -01- 05		Base Bid: REMOVE EXISTING SIGN - First Offer	\$7	25.00	20 / each		\$1,500.00
	ict Code: cy Notes:		Supplier Product Coo Supplier Notes:	de:			
PC- 0730- -01- 06		Base Bid: SQUARE STEEL SIGN POST - First Offer	\$2	20.00	591 / linear foot		\$11,820.00
	ict Code: cy Notes:		Supplier Product Coo Supplier Notes:	de:			
PC- 0730-	Base	Bid: TRAFFIC STRIPE PLASTIC 4 INCH WIDE - First Offer	\$	3.00	75772 / linear foot		\$227,316.00

-01- 07					
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:			
PC- 0730- -01- 08	Base Bid: TRAFFIC STRIPE PLASTIC ARROWS SINGLE - First Offer		13 / each	\$975.00	
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:			
PC- 0730- -01- 09	Base Bid: TRAFFIC STRIPE PLASTIC SYMBOLS - First Offer	\$150.00	197 / each	\$29,550.00	
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:			
PC- 0730- -01- 10	Base Bid: VERTICAL FLEXIBLE DELINEATORS WHITE - First Offer		300 / each	\$28,500.00	
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1	I	
PC- 0730- -01- 11	Base Bid: RADAR DETECTION SYSTEM PRESENCE SENSORS - First Offer	\$8,745.00	10 / each	\$87,450.00	
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:			
PC- 0730- -01- 12	Base Bid: RADAR CABINET INTERFACE MODEL 656 - First Offer	\$8,125.00	1 / each	\$8,125.00	
1	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1		
PC- 0730- -01- 13	Base Bid: RADAR DETECTOR CABLE - First Offer	\$5.50	1300 / linear foot	\$7,150.00	
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		1	
PC- 0730- -01- 14	Base Bid: CONSTRUCTION SIGNING AND TRAFFIC CONTROL - First Offer	\$14,900.00	1 / lump sum	\$14,900.00	
1	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1		
PC- 0730- -01- 15	Base Bid: MOBILIZATION - First Offer	\$12,500.00	1 / lump sum	\$12,500.00	
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:			
PC- 0730- -01- 16	Base Bid: CLEARING AND GRUBBING - First Offer	\$2,200.00	1 / lump sum	\$2,200.00	
Produ	ct Code:	Supplier Product Code:			

Agenc	y Notes:	Supplier Notes:		
PC- 0730- -01- 17	Base Bid: STRUCTURE REMOVAL TRAFFIC SIGNAL - First Offer	\$1,565.00	1 / lump sum	\$1,565.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1	
PC- 0730- -01- 18	Base Bid: REMOVE CURB AND GUTTER - First Offer	\$22.00	46 / linear foot	\$1,012.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1	
PC- 0730- -01- 19	Base Bid: REMOVE SIDEWALK 4 Foot - First Offer	\$22.00	8 / square yard	\$176.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
PC- 0730- -01- 20	Base Bid: REMOVE CONCRETE STRIP - First Offer	\$22.00	18 / linear foot	\$396.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
PC- 0730- -01- 21	Base Bid: REMOVE CONCRETE MEDIAN - First Offer	\$22.00	21 / square yard	\$462.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1	
PC- 0730- -01- 22	Base Bid: REMOVE PAVEMENT MARKING SP - First Offer	\$1.50	10000 / linear foot	\$15,000.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1	
PC- 0730- -01- 23	Base Bid: BASE REPAIR ASPHALT PAVEMENT - First Offer		20 / square yard	\$4,400.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1	
PC- 0730- -01- 24	Base Bid: ADJUST EXISTING STRUCTURE SIGN - First Offer		4 / each	\$1,000.00
Produ	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1	
PC- 0730- -01- 25	Base Bid: SAWCUT PAVEMENT CONCRETE - First Offer		10 / linear foot	\$110.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
PC- 0730-	Base Bid: SIDEWALK 8 Foot - First Offer	\$110.00	210 / square yard	\$23,100.00

ties, N	30 - Bicycle City of Ok Villa Ave, N it	s Trusts		
-01- 26				
	lict Code:	Supplier Product Code:		
Agenc	cy Notes:	Supplier Notes:		
PC- 0730- -01- 27	Base Bid: CURB RAMP TYPE B - First Offer	\$2,420.00	5 / each	\$12,100
	ict Code: cy Notes:	Supplier Product Code: Supplier Notes:		
PC- 0730- -01- 28	Base Bid: SOLID SLAB SODDING - First Offer	\$11.00	500 / square yard	\$5,500
	ict Code: cy Notes:	Supplier Product Code: Supplier Notes:		
PC- 0730- -01-	Base Bid: TACTILE MARKERS/TRUNCATED DOMES - First Offer	\$55.00	80 / square foot	\$4,400
29				
Produ	ict Code: :y Notes:	Supplier Product Code: Supplier Notes:		
Produ				Lot Total: \$533,672
Produ			Qty/Unit	
Produ Agenc Item	cy Notes:	Supplier Notes:	Qty/Unit 2 / each	Total P
Produ Agenc Item # PC- 0730- -02- 01 Produ	Line Item Alternate No. 1: RADAR INDICATED SPEED LIMIT FLASHING	Supplier Notes: Unit Price	-	Total P
Produ Agenc Item # PC- 0730- -02- 01 Produ	Line Item Alternate No. 1: RADAR INDICATED SPEED LIMIT FLASHING ASSEMBLY - First Offer act Code:	Supplier Notes: Unit Price \$14,000.00 Supplier Product Code:	-	Total P \$28,000
Produ Agenc Item # PC- 0730- -02- 01 Produ Agenc 0730- -02- 0730- -02- 02 Produ	Line Item Alternate No. 1: RADAR INDICATED SPEED LIMIT FLASHING ASSEMBLY - First Offer act Code: cy Notes:	Supplier Notes: Unit Price \$14,000.00 Supplier Product Code: Supplier Notes:	2 / each 43.72 /	Lot Total: \$533,672 Total P \$28,000 \$2,186
Produ Agenc Item # PC- 0730- -02- 01 Produ Agenc 0730- -02- 0730- -02- 02 Produ	Line Item Alternate No. 1: RADAR INDICATED SPEED LIMIT FLASHING ASSEMBLY - First Offer Code: Cy Notes: Alternate No. 1: SHEET ALUMINUM SIGNS - First Offer Code: Cy C	Supplier Notes: Unit Price \$14,000.00 Supplier Product Code: Supplier Notes: \$50.00 Supplier Product Code:	2 / each 43.72 /	Total P \$28,000
Produ Agenc PC- 0730- -02- 01 Produ Agenc 02 02 Produ Agenc 02 02 Produ Agenc 03 Produ Agenc 02 02 Produ Agenc	Line Item Alternate No. 1: RADAR INDICATED SPEED LIMIT FLASHING ASSEMBLY - First Offer ASSEMBLY - First Offer Alternate No. 1: SHEET ALUMINUM SIGNS - First Offer Alternate No. 1: SHEET ALUMINUM SIGNS - First Offer Code: Co	Supplier Notes: Unit Price \$14,000.00 Supplier Product Code: Supplier Notes: \$50.00 Supplier Product Code: Supplier Notes:	2 / each 43.72 / square foot 100 / linear	Total P \$28,000 \$2,186

Bid Committee Bid Tab

Bid PM-0307 Ended At Jan 31, 2024 10:00:00 AM CST CONSTRUCTION/CITY - Concrete Streets and Sidewalks Repairs Unit Price Contract

Company:	EMC SERVICES LLC	Atlas Paving Company #2	Rudy Construction Co.
BASE BID	\$4,565,647.50		\$4,876,120.00
TOTAL BID:	\$4,565,647.50	\$4,728,400.00	\$4,876,120.00

Company:	SCHWARZ PAVING CO., INC.	C-P Integrated Services	T.J. Campbell Construction Co.
BASE BID	\$5,298,625.00	\$5,491,877.50	\$5,721,435.00
TOTAL BID:	\$5,298,625.00	\$5,491,877.50	\$5,721,435.00

Company:	Silver Star Construction Company#2	2	
BASE BID	\$7,359,000.00		
TOTAL BID:	\$7,359,000.00		

Tresha WilliamsAngee WagnerJanet McWilliamsCity ClerkPurchasing AgentAuditor

Potential Bid Defects Noted:

- **#1** Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- **#3** Bid Bond incorrect awarding agency
- **#4** Bid Bond insufficient amount
- **#5** Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a nonpublished document for review by staff.

Bid #PM-0307 - Concrete Streets and Sidewalks Repairs Unit Price Contract

Creation Date Dec 19, 2023

Start Date Jan 3, 2024 7:35:09 AM CST

End Date Jan 31, 2024 10:00:00 AM CST

Awarded Date Not Yet Awarded

PM-030701-01 BASE BID: 200-00 UNCLASSIFIED EXCAVATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C-P Integrated Services 🙀	First Offer - \$11.00	1500 / cubic yard	\$16,500.00		Y			
Product Code: Agency Notes:	· ·	Supplier Product Code: Supplier Notes:						
EMC SERVICES LLC	First Offer - \$12.00	1500 / cubic yard	\$18,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Rudy Construction Co. 👔	First Offer - \$15.00	1500 / cubic yard	\$22,500.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			<u>.</u>			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$15.00	1500 / cubic yard	\$22,500.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			-			
T.J. Campbell Construction Co.	First Offer - \$20.00	1500 / cubic yard	\$30,000.00	Y	Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$20.00	1500 / cubic yard	\$30,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			-			
Atlas Paving Company 👔	First Offer - \$35.00	1500 / cubic yard	\$52,500.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PM-030701-02 BASE BID: 200-00 UNSUITABLE MATERIAL EXCAVATION								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
EMC SERVICES LLC		First Offer - \$12.00	1500 / cubic yard	\$18,000.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Atlas Paving Company 🙀		First Offer - \$15.00	1500 / cubic yard	\$22,500.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Rudy Construction Co. 👔		First Offer - \$15.00	1500 / cubic yard	\$22,500.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔		First Offer - \$15.00	1500 / cubic yard	\$22,500.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Silver Star Construction Company 👔		First Offer - \$20.00	1500 / cubic yard	\$30,000.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$22.00	1500 / cubic yard	\$33,000.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
C-P Integrated Services 👔		First Offer - \$25.00	1500 / cubic yard	\$37,500.00		Y		

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:

PM-030701-03 BASE BID: 220-02 PROOF ROLLING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$0.01	10000 / square yard	\$100.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$0.10	10000 / square yard	\$1,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$0.15	10000 / square yard	\$1,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$0.20	10000 / square yard	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 🧕	First Offer - \$0.20	10000 / square yard	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services 👔	First Offer - \$0.75	10000 / square yard	\$7,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$2.45	10000 / square yard	\$24,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-030701-04 BASE BID: 225-00 AGGREGATE BASE (TYPE A)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.		First Offer - \$70.00	2000 / cubic yard	\$140,000.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
EMC SERVICES LLC		First Offer - \$70.00	2000 / cubic yard	\$140,000.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
C-P Integrated Services 🙀		First Offer - \$75.00	2000 / cubic yard	\$150,000.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Silver Star Construction Company 👔		First Offer - \$78.00	2000 / cubic yard	\$156,000.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Atlas Paving Company 👔		First Offer - \$80.00	2000 / cubic yard	\$160,000.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Rudy Construction Co. 👔		First Offer - \$80.00	2000 / cubic yard	\$160,000.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔		First Offer - \$83.00	2000 / cubic yard	\$166,000.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					

PM-0307--01-05 BASE BID: 222-00 CEMENTITIOUS STABILIZED SUBGRADE (8 INCHES THICK COMPACTED)

bid #PM-0307 - Concrete Streets and Sidewalks

City of Oklahoma City and

ets and Sidewalks	its Trust	5			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$1.00	30000 / square yard	\$30,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 🙀	First Offer - \$3.00	30000 / square yard	\$90,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$3.30	30000 / square yard	\$99,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services 🙀	First Offer - \$3.75	30000 / square yard	\$112,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$4.00	30000 / square yard	\$120,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$4.50	30000 / square yard	\$135,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$7.00	30000 / square yard	\$210,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-030701-06 BASE BID: 222-00 CEMENT SLURRY	(4%)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
C-P Integrated Services 🙀	First Offer - \$182.00	500 / ton	\$91,000.00		Y	
Product Code: Agency Notes:	·	Supplier Product Co Supplier Notes:	ode:			
Silver Star Construction Company 👔	First Offer - \$230.00	500 / ton	\$115,000.00		Y	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$260.00	500 / ton	\$130,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$270.00	500 / ton	\$135,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Atlas Paving Company 👔	First Offer - \$290.00	500 / ton	\$145,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$300.00	500 / ton	\$150,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
T.J. Campbell Construction Co.	First Offer - \$500.00	500 / ton	\$250,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PM-030701-07 BASE BID: 314-00 P C CONC PVMT (6 INCH) (4000 PSI HES 500 SY AND GREATER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C-P Integrated Services 🙀	First Offer - \$60.00	10000 / square yard	\$600,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

id #PM-0307 - Concrete treets and Sidewalks	City of Oklahoma its Trusts	City and			
EMC SERVICES LLC	First Offer - \$69.00	10000 / square yard	\$690,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		· ·	
Atlas Paving Company 👔	First Offer - \$70.00	10000 / square yard	\$700,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		'	
Rudy Construction Co. 👔	First Offer - \$70.00	10000 / square yard	\$700,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		i	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$72.50	10000 / square yard	\$725,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$75.00	10000 / square yard	\$750,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 🙀	First Offer - \$165.00	10000 / square yard	\$1,650,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-030701-08 BASE BID: 314-00 PCC PAVEMENT (8 INCH) (4000 PSI HES) (REINF. CONC. VALLEY GUTTER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC	First Offer - \$82.00	4000 / square yard	\$328,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
C-P Integrated Services 🙀	First Offer - \$85.00	4000 / square yard	\$340,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Rudy Construction Co. 👔	First Offer - \$90.00	4000 / square yard	\$360,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$95.00	4000 / square yard	\$380,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company 👔	First Offer - \$95.00	4000 / square yard	\$380,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$100.00	4000 / square yard	\$400,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$125.00	4000 / square yard	\$500,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PM-030701-09 BASE BID: 316-00 P C CONC PVMT (6 INCH) (DOWELL JOINTED) (4000 PSI HES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C-P Integrated Services 🙀	First Offer - \$60.00	4000 / square yard	\$240,000.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Rudy Construction Co. 👔	First Offer - \$67.00	4000 / square yard	\$268,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
EMC SERVICES LLC	First Offer - \$70.00	4000 / square yard	\$280,000.00		Y			

bid #PM-0307 - Concrete
Streets and Sidewalks

City of Oklahoma City and

its Trusts			
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$78.00	4000 / square yard	\$312,000.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$80.00	4000 / square yard	\$320,000.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$82.00	4000 / square yard	\$328,000.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$155.00	4000 / square yard	\$620,000.00	Y
	Supplier Product Code:		
	Supplier Notes:		
	First Offer - \$78.00 First Offer - \$80.00 First Offer - \$82.00	Supplier Product Code: Supplier Notes:First Offer - \$78.004000 / square yardSupplier Product Code: Supplier Notes:Supplier Notes:First Offer - \$80.004000 / square yardFirst Offer - \$80.00Supplier Product Code: Supplier Notes:First Offer - \$82.004000 / square yardFirst Offer - \$82.004000 / square yardFirst Offer - \$155.004000 / square yardFirst Offer - \$155.00Supplier Product Code: Supplier Notes:	Supplier Product Code: Supplier Notes:First Offer - \$78.004000 / square yard\$312,000.00Supplier Product Code: Supplier Notes:\$320,000.00First Offer - \$80.004000 / square yard\$320,000.00First Offer - \$82.004000 / square yard\$328,000.00First Offer - \$82.004000 / square yard\$328,000.00First Offer - \$82.004000 / square yard\$328,000.00First Offer - \$155.004000 / square yard\$620,000.00Supplier Product Code: Supplier Notes:\$upplier Notes:

PM-030701-10 BASE BID: 316.00 P C CONC PVMT (8 INCH) (DOWELL JOINTED) (4000 PSI HES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C-P Integrated Services 🙀	First Offer - \$78.00	4000 / square yard	\$312,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
EMC SERVICES LLC	First Offer - \$80.00	4000 / square yard	\$320,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$85.00	4000 / square yard	\$340,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$85.00	4000 / square yard	\$340,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$90.00	4000 / square yard	\$360,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$93.00	4000 / square yard	\$372,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 🙀	First Offer - \$125.00	4000 / square yard	\$500,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PM-030701-11 BASE BID: 316-00 P. C. CONC. PAVEMENT (10 INCHES) (DOWELL JOINTED) (4000 PSI, HES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
EMC SERVICES LLC	First Offer - \$84.00	2000 / square yard	\$168,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co. 🙀	First Offer - \$90.00	2000 / square yard	\$180,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$96.00	2000 / square yard	\$192,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$105.00	2000 / square yard	\$210,000.00		Y				
Product Code:		Supplier Product Code:							

bid #PM-0307 - Concrete Streets and Sidewalks

	113 110313			
Agency Notes:		Supplier Notes:		
Atlas Paving Company 🙀	First Offer - \$110.00	2000 / square yard	\$220,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
C-P Integrated Services 🙀	First Offer - \$112.00	2000 / square yard	\$224,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Silver Star Construction Company 🙀	First Offer - \$145.00	2000 / square yard	\$290,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-030701-12 BASE BID: SP CURB AND GUTTER (ALL SIZES)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co. 👔		First Offer - \$30.00	3500 / linear foot	\$105,000.00		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
EMC SERVICES LLC		First Offer - \$30.00	3500 / linear foot	\$105,000.00		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
Atlas Paving Company 👔		First Offer - \$35.00	3500 / linear foot	\$122,500.00		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$36.00	3500 / linear foot	\$126,000.00		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔		First Offer - \$38.00	3500 / linear foot	\$133,000.00		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
C-P Integrated Services 🙀		First Offer - \$41.25	3500 / linear foot	\$144,375.00		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
Silver Star Construction Company 👔		First Offer - \$44.00	3500 / linear foot	\$154,000.00		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						

PM-030701-13 BASE BID: SP INTEGRAL CURB (BARRIER)(6 INCH)									
Unit Price	Qty/Unit	Total Price	Attch.	Docs					
First Offer - \$8.00	1000 / linear foot	\$8,000.00		Y					
First Offer - \$9.00	1000 / linear foot	\$9,000.00		Y					
·	Supplier Product Code: Supplier Notes:								
First Offer - \$10.00	1000 / linear foot	\$10,000.00		Y					
	Supplier Product Code: Supplier Notes:								
First Offer - \$10.00	1000 / linear foot	\$10,000.00		Y					
·	Supplier Product Code: Supplier Notes:								
First Offer - \$13.00	1000 / linear foot	\$13,000.00		Y					
	Supplier Product Code: Supplier Notes:								
	Unit Price First Offer - \$8.00 First Offer - \$9.00 First Offer - \$10.00 First Offer - \$10.00	Unit Price Qty/Unit First Offer - \$8.00 1000 / linear foot Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: First Offer - \$9.00 1000 / linear foot First Offer - \$10.00 1000 / linear foot First Offer - \$10.00 1000 / linear foot Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: First Offer - \$10.00 1000 / linear foot Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$10.00 1000 / linear foot Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: First Offer - \$13.00 1000 / linear foot	Unit PriceQty/UnitTotal PriceFirst Offer - \$8.001000 / linear foot\$8,000.00Supplier Product Code: Supplier Notes:Supplier Notes:First Offer - \$9.001000 / linear foot\$9,000.00Supplier Product Code: Supplier Notes:Supplier Notes:First Offer - \$10.001000 / linear foot\$10,000.00First Offer - \$10.001000 / linear foot\$10,000.00Supplier Product Code: Supplier Notes:Supplier Product Code: 	Unit PriceQty/UnitTotal PriceAttch.First Offer - \$8.001000 / linear foot\$8,000.00\$8,000.00Supplier Product Code: Supplier Notes:First Offer - \$9.001000 / linear foot\$9,000.00Supplier Product Code: Supplier Notes:\$9,000.00\$First Offer - \$9.001000 / linear foot\$10,000.00First Offer - \$10.001000 / linear foot\$10,000.00First Offer - \$13.001000 / linear foot\$13,000.00First Offer - \$13.001000 / linear foot\$13,000.00					

PM-0307 - Concrete ets and Sidewalks	City of Oklahoma C its Trusts	tity and		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$15.00	1000 / linear foot	\$15,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
C-P Integrated Services 🙀	First Offer - \$30.00	1000 / linear foot	\$30,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-030701-14 BASE BID: SP INTEGRAL CURB (BARRIER)(8 INCH)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co. 🙀	First Offer - \$10.00	1000 / linear foot	\$10,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$11.00	1000 / linear foot	\$11,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company 🧕	First Offer - \$11.00	1000 / linear foot	\$11,000.00		Y				
Product Code: Agency Notes:	· ·	Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$12.00	1000 / linear foot	\$12,000.00		Y				
Product Code: Agency Notes:	· ·	Supplier Product Code: Supplier Notes:							
EMC SERVICES LLC	First Offer - \$15.00	1000 / linear foot	\$15,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$16.00	1000 / linear foot	\$16,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
C-P Integrated Services 👔	First Offer - \$34.00	1000 / linear foot	\$34,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PM-030701-15 BASE BID: SP INTEGRAL CURB FO	R SIDEWALKS (0 TO 12 IN	CH)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$17.00	250 / linear foot	\$4,250.00		Y
		Supplier Product Code Supplier Notes:	:		
Atlas Paving Company 👔	First Offer - \$20.00	250 / linear foot	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co. 👔	First Offer - \$20.00	250 / linear foot	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$20.00	250 / linear foot	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$23.00	250 / linear foot	\$5,750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$25.00	250 / linear foot	\$6,250.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
C-P Integrated Services	First Offer - \$52.50	250 / linear foot	\$13,125.00		Y

Supplier Product Code: Supplier Notes:

PM-030701-16 BASE BID: 315-00 CLEANING AND SEALING JOINTS IN PCC PAVEMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
EMC SERVICES LLC	First Offer - \$1.50	50000 / linear foot	\$75,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1.50	50000 / linear foot	\$75,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$2.00	50000 / linear foot	\$100,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$2.00	50000 / linear foot	\$100,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$2.50	50000 / linear foot	\$125,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$2.55	50000 / linear foot	\$127,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
C-P Integrated Services	First Offer - \$8.50	50000 / linear foot	\$425,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PM-030701-17 BASE BID: 315-00 CLEANING AND SEALING CRACKS IN PCC PAVEMENT										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
EMC SERVICES LLC	First Offer - \$1.60	25000 / linear foot	\$40,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1.80	25000 / linear foot	\$45,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Rudy Construction Co. 👔	First Offer - \$2.00	25000 / linear foot	\$50,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$2.50	25000 / linear foot	\$62,500.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Atlas Paving Company 👔	First Offer - \$2.50	25000 / linear foot	\$62,500.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$2.50	25000 / linear foot	\$62,500.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
C-P Integrated Services 🙀	First Offer - \$10.50	25000 / linear foot	\$262,500.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

PM-0307--01-18 BASE BID: 404-00 STRUCTURAL CONCRETE

bid #PM-0307 - Concrete Streets and Sidewalks

City of Oklahoma City and

ets and Sidewalks	its Trusts				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co. 👔	First Offer - \$500.00	50 / cubic yard	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Atlas Paving Company 👔	First Offer - \$550.00	50 / cubic yard	\$27,500.00		Y
Product Code: Agency Notes:	·	Supplier Product Cod Supplier Notes:	le:		
T.J. Campbell Construction Co.	First Offer - \$600.00	50 / cubic yard	\$30,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$600.00	50 / cubic yard	\$30,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Silver Star Construction Company 👔	First Offer - \$725.00	50 / cubic yard	\$36,250.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
EMC SERVICES LLC	First Offer - \$800.00	50 / cubic yard	\$40,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
C-P Integrated Services 🙀	First Offer - \$1,250.00	50 / cubic yard	\$62,500.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PM-030701-19 BASE BID: 404-04 CONCRETE (FLOWABLE FILL)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$200.00	50 / cubic yard	\$10,000.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$200.00	50 / cubic yard	\$10,000.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$200.00	50 / cubic yard	\$10,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
EMC SERVICES LLC	First Offer - \$210.00	50 / cubic yard	\$10,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company 🙀	First Offer - \$275.00	50 / cubic yard	\$13,750.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$310.00	50 / cubic yard	\$15,500.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
C-P Integrated Services 🙀	First Offer - \$350.00	50 / cubic yard	\$17,500.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

PM-030701-20 BASE BID: 411-00 REINFORCING STEEL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀	First Offer - \$1.00	1500 / pound	\$1,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

l #PM-0307 - Concrete reets and Sidewalks	City of Oklahoma Ci its Trusts	ity and						
T.J. Campbell Construction Co.	First Offer - \$3.00	1500 / pound	\$4,500.00	Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Silver Star Construction Company 🙀	First Offer - \$3.00	1500 / pound	\$4,500.00	Y				
Product Code: Agency Notes:	· · ·	Supplier Product Code Supplier Notes:	:	I				
EMC SERVICES LLC	First Offer - \$3.00	1500 / pound	\$4,500.00	Y				
		Supplier Product Code Supplier Notes:	:					
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3.50	1500 / pound	\$5,250.00	Y				
Product Code: Agency Notes:	· · ·	Supplier Product Code Supplier Notes:	:	I				
C-P Integrated Services 🙀	First Offer - \$4.25	1500 / pound	\$6,375.00	Y				
Product Code: Agency Notes:	<u> </u>	Supplier Product Code Supplier Notes:	:					
Rudy Construction Co. 👔	First Offer - \$6.00	1500 / pound	\$9,000.00	Y				
Product Code: Agency Notes:	· ·	Supplier Product Code Supplier Notes:	:					

PM-030701-21 BASE BID: 451-01 (CGMP) STORM F	PIP	E (18 INCH)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$40.00	100 / linear foot	\$4,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
EMC SERVICES LLC	Π	First Offer - \$45.00	100 / linear foot	\$4,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
Rudy Construction Co. 👔		First Offer - \$60.00	100 / linear foot	\$6,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
Silver Star Construction Company 👔	Π	First Offer - \$74.00	100 / linear foot	\$7,400.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$80.00	100 / linear foot	\$8,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
C-P Integrated Services	Π	First Offer - \$80.00	100 / linear foot	\$8,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.		First Offer - \$90.00	100 / linear foot	\$9,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		

PM-030701-22 BASE BID: 451-02 (CGMP) PREFAB END SECTION (18 INCH)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$250.00	4 / each	\$1,000.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
EMC SERVICES LLC	First Offer - \$350.00	4 / each	\$1,400.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company 👔	First Offer - \$460.00	4 / each	\$1,840.00		Ŷ		

bid #PM-0307 - Concrete
Streets and Sidewalks

City of Oklahoma City and

ets and Sidewalks	its Trusts			
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co. 🙀	First Offer - \$500.00	4 / each	\$2,000.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$675.00	4 / each	\$2,700.00	Y
Product Code:	·	Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$700.00	4 / each	\$2,800.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
C-P Integrated Services 🙀	First Offer - \$750.00	4 / each	\$3,000.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PM-030701-23 BASE BID: 451-05 (CGMP) STORM	I PII	PE (24 INCH)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀		First Offer - \$50.00	100 / linear foot	\$5,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		
EMC SERVICES LLC		First Offer - \$60.00	100 / linear foot	\$6,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		
Rudy Construction Co. 👔		First Offer - \$70.00	100 / linear foot	\$7,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$80.00	100 / linear foot	\$8,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		
C-P Integrated Services 👔		First Offer - \$85.00	100 / linear foot	\$8,500.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$86.00	100 / linear foot	\$8,600.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		
T.J. Campbell Construction Co.		First Offer - \$100.00	100 / linear foot	\$10,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		

PM-030701-24 BASE BID: 451-06 (CGMP) PREFAB END SECTION (24 INCH)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀	First Offer - \$300.00	4 / each	\$1,200.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
EMC SERVICES LLC	First Offer - \$530.00	4 / each	\$2,120.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co. 🙀	First Offer - \$600.00	4 / each	\$2,400.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
C-P Integrated Services 👔	First Offer - \$650.00	4 / each	\$2,600.00		Y	
Product Code:		Supplier Product Co	ode:			

bid #PM-0307 - Concrete
Streets and Sidewalks

	Supplier Notes:		
First Offer - \$800.00	4 / each	\$3,200.00	Y
	Supplier Product Co	ode:	
	Supplier Notes:		
First Offer - \$910.00	4 / each	\$3,640.00	Y
· ·	Supplier Product Co	ode:	
	Supplier Notes:		
First Offer - \$975.00	4 / each	\$3,900.00	Y
	Supplier Product Co	ode:	
	Supplier Notes:		
	First Offer - \$910.00	First Offer - \$800.00 4 / each Supplier Product Co Supplier Notes: First Offer - \$910.00 4 / each Supplier Product Co Supplier Product Co Supplier Notes: Supplier Product Co First Offer - \$910.00 4 / each Supplier Product Co Supplier Notes: First Offer - \$975.00 4 / each Supplier Product Co Supplier Notes:	First Offer - \$800.00 4 / each \$3,200.00 Supplier Product Code: Supplier Notes: First Offer - \$910.00 4 / each \$3,640.00 Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: First Offer - \$975.00 4 / each \$3,900.00 First Offer - \$975.00 4 / each \$3,900.00

PM-030701-25 BASE BID: 453-12 REINFORCED COM	NCRETE PIPE 18 INCH O	RING			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$50.00	100 / linear foot	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
EMC SERVICES LLC	First Offer - \$60.00	100 / linear foot	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$70.00	100 / linear foot	\$7,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$82.00	100 / linear foot	\$8,200.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$85.00	100 / linear foot	\$8,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
C-P Integrated Services 🙀	First Offer - \$92.00	100 / linear foot	\$9,200.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$95.00	100 / linear foot	\$9,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:			

PM-0307–01-26 BASE BID: 453-13 REINFORCED CONCRETE PIPE 24 INCH O RING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$65.00	100 / linear foot	\$6,500.00		Y		
		Supplier Product Code: Supplier Notes:					
EMC SERVICES LLC	First Offer - \$84.00	100 / linear foot	\$8,400.00		Y		
		Supplier Product Code: Supplier Notes:					
Rudy Construction Co. 👔	First Offer - \$85.00	100 / linear foot	\$8,500.00		Y		
		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔	First Offer - \$105.00	100 / linear foot	\$10,500.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				
T.J. Campbell Construction Co.	First Offer - \$110.00	100 / linear foot	\$11,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				

#PM-0307 - Concrete ets and Sidewalks	City of Oklahoma Cit its Trusts	ty and		
C-P Integrated Services 🙀	First Offer - \$112.00	100 / linear foot	\$11,200.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
Silver Star Construction Company 🙀	First Offer - \$115.00	100 / linear foot	\$11,500.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	

PM-030701-27 BASE BID: 453-19 REINFORCE	D CON	CRETE PIPE END SECTION	(18 INCH)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀		First Offer - \$1,000.00	4 / each	\$4,000.00		Y	
Product Code:	i	·	Supplier Product (Code:			
Agency Notes:			Supplier Notes:				
EMC SERVICES LLC		First Offer - \$1,000.00	4 / each	\$4,000.00		Y	
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co. 🙀		First Offer - \$1,200.00	4 / each	\$4,800.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$1,250.00	4 / each	\$5,000.00		Y	
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$1,500.00	4 / each	\$6,000.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$1,600.00	4 / each	\$6,400.00		Y	
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				
C-P Integrated Services 👔		First Offer - \$2,050.00	4 / each	\$8,200.00		Y	
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				

PM-030701-28 BASE BID: 453-25 REINFORCED CON	ICRETE PIPE END SECTION	(24 INCH)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$1,200.00	4 / each	\$4,800.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Atlas Paving Company 👔	First Offer - \$1,250.00	4 / each	\$5,000.00		Y
Product Code: Agency Notes:	-	Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 👔	First Offer - \$1,400.00	4 / each	\$5,600.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$1,550.00	4 / each	\$6,200.00		Y
Product Code: Agency Notes:	-	Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$1,600.00	4 / each	\$6,400.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2,000.00	4 / each	\$8,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 🧕	First Offer - \$2,250.00	4 / each	\$9,000.00		Y

Product Code: Agency Notes:

Supplier Product Code:

Supplier Notes:

PM-030701-29 BASE BID: 454-34 DESIGN 2-0 INLET	COMPLETE IN PLACE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$1,000.00	10 / each	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$3,200.00	10 / each	\$32,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
EMC SERVICES LLC	First Offer - \$3,550.00	10 / each	\$35,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 👔	First Offer - \$3,600.00	10 / each	\$36,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 🧕	First Offer - \$4,000.00	10 / each	\$40,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$4,500.00	10 / each	\$45,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 👔	First Offer - \$7,000.00	10 / each	\$70,000.00		Y
Product Code: Agency Notes:	· · · · · · · · · · · · · · · · · · ·	Supplier Product Co Supplier Notes:	ode:		

PM-030701-30 BASE BID: 454-37 DESIGN 2-1 INLET	r con	MPLETE IN PLACE				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$1,500.00	2 / each	\$3,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
T.J. Campbell Construction Co.		First Offer - \$4,200.00	2 / each	\$8,400.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
EMC SERVICES LLC		First Offer - \$4,500.00	2 / each	\$9,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$4,600.00	2 / each	\$9,200.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔		First Offer - \$4,800.00	2 / each	\$9,600.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$6,500.00	2 / each	\$13,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
C-P Integrated Services 🙀		First Offer - \$8,775.00	2 / each	\$17,550.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

PM-0307--01-31 BASE BID: 454-38 DESIGN 2-2 INLET COMPLETE IN PLACE

bid #PM-0307 - Concrete Streets and Sidewalks

els and Sidewarks	its musis				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$2,000.00	2 / each	\$4,000.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$5,000.00	2 / each	\$10,000.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 🙀	First Offer - \$5,600.00	2 / each	\$11,200.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 🙀	First Offer - \$5,800.00	2 / each	\$11,600.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$6,000.00	2 / each	\$12,000.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$8,500.00	2 / each	\$17,000.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
C-P Integrated Services 🙀	First Offer - \$11,250.00	2 / each	\$22,500.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PM-030701-32 BASE BID: 454-45 DESIGN 2-3 INLET	T C	OMPLETE IN PLACE				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$2,500.00	2 / each	\$5,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
EMC SERVICES LLC		First Offer - \$5,800.00	2 / each	\$11,600.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 👔		First Offer - \$6,500.00	2 / each	\$13,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 👔		First Offer - \$6,600.00	2 / each	\$13,200.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.		First Offer - \$7,000.00	2 / each	\$14,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$10,500.00	2 / each	\$21,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 🙀		First Offer - \$13,500.00	2 / each	\$27,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		

PM-030701-33 BASE BID: 454-50 RECESS DESIGN 2-0 INLET COMPLETE IN PLACE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
EMC SERVICES LLC	First Offer - \$3,550.00	10 / each	\$35,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
		ĺ					

oid #PM-0307 - Concrete Streets and Sidewalks	City of Oklahoma City its Trusts	and		
T.J. Campbell Construction Co.	First Offer - \$4,000.00	10 / each	\$40,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Rudy Construction Co. 👔	First Offer - \$4,200.00	10 / each	\$42,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5,000.00	10 / each	\$50,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Silver Star Construction Company 👔	First Offer - \$5,600.00	10 / each	\$56,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Atlas Paving Company 👔	First Offer - \$6,000.00	10 / each	\$60,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	·
C-P Integrated Services 🙀	First Offer - \$6,500.00	10 / each	\$65,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

PM-030701-34 BASE BID: 454-51 RECESS DESIGN 2-	-1 INLET COMPLETE IN PLA	ACE			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$4,500.00	2 / each	\$9,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$5,000.00	2 / each	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 👔	First Offer - \$5,000.00	2 / each	\$10,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$7,000.00	2 / each	\$14,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$7,000.00	2 / each	\$14,000.00		Y
		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$7,100.00	2 / each	\$14,200.00		Y
		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 🙀	First Offer - \$8,775.00	2 / each	\$17,550.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PM-030701-35 BASE BID: 454-52 RECESS DESIGN 2	2-2	INLET COMPLETE IN PLAC	CE			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$5,000.00	2 / each	\$10,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 🙀		First Offer - \$6,000.00	2 / each	\$12,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$7,000.00	2 / each	\$14,000.00		Y

bid #PM-0307 - Concrete
Streets and Sidewalks

ets and Sidewalks	its trusts				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Atlas Paving Company 👔	First Offer - \$8,000.00	2 / each	\$16,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 👔	First Offer - \$8,200.00	2 / each	\$16,400.00	``	Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$9,000.00	2 / each	\$18,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 🙀	First Offer - \$11,500.00	2 / each	\$23,000.00	``	Y
Product Code:		Supplier Product Co Supplier Notes:	ode:		
Agency Notes:		supplier Notes:			

PM-030701-36 BASE BID: 454-53 RECESS DESIGN 2-3 INLET COMPLETE IN PLACE								
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs	
EMC SERVICES LLC		First Offer - \$5,800.00	2 / each		\$11,600.00		Y	
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Rudy Construction Co. 👔		First Offer - \$6,700.00	2 / each		\$13,400.00		Y	
Product Code:			Supplier Product Co	ode:	·			
			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$9,000.00	2 / each		\$18,000.00		Y	
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Atlas Paving Company 🙀		First Offer - \$9,000.00	2 / each		\$18,000.00		Y	
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					
Silver Star Construction Company 🙀		First Offer - \$9,100.00	2 / each		\$18,200.00		Y	
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔		First Offer - \$11,000.00	2 / each		\$22,000.00		Y	
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					
C-P Integrated Services 🙀		First Offer - \$13,500.00	2 / each		\$27,000.00		Y	
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					

PM-030701-37 BASE BID: 454-88 STORM WATER CURB OPENING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co. 🙀	First Offer - \$300.00	10 / each	\$3,000.00		Y		
		Supplier Product Code: Supplier Notes:					
EMC SERVICES LLC	First Offer - \$300.00	10 / each	\$3,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Atlas Paving Company 🙀	First Offer - \$350.00	10 / each	\$3,500.00		Y		
		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$400.00	10 / each	\$4,000.00		Y		
Product Code:		Supplier Product Co	ode:				

bid #PM-0307 - Concrete Streets and Sidewalks

Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$400.00	10 / each	\$4,000.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company 👔	First Offer - \$850.00	10 / each	\$8,500.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
C-P Integrated Services 🙀	First Offer - \$3,750.00	10 / each	\$37,500.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PM-030701-38 BASE BID: 459-01 ADJUST MANHOL	E TO GRADE				
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$600.00	10 / each	\$6,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$650.00	10 / each	\$6,500.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$700.00	10 / each	\$7,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,000.00	10 / each	\$10,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,000.00	10 / each	\$10,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
C-P Integrated Services 🙀	First Offer - \$1,250.00	10 / each	\$12,500.00		Y
		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 🙀	First Offer - \$1,500.00	10 / each	\$15,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PM-030701-39 BASE BID: 460-00 PROVIDE AND SET NEW MANHOLE RING AND COVER								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
EMC SERVICES LLC		First Offer - \$660.00	10 / each	\$6,600.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:	Supplier Notes:				
Atlas Paving Company 👔		First Offer - \$700.00	10 / each	\$7,000.00		Y		
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔		First Offer - \$1,000.00	10 / each	\$10,000.00		Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Rudy Construction Co. 👔		First Offer - \$1,200.00	10 / each	\$12,000.00		Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
C-P Integrated Services 🙀		First Offer - \$1,350.00	10 / each	\$13,500.00		Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					

ŧPM-0307 - Concrete ets and Sidewalks	City of Oklahoma City its Trusts	and		
T.J. Campbell Construction Co.	First Offer - \$1,400.00	10 / each	\$14,000.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company 🙀	First Offer - \$1,500.00	10 / each	\$15,000.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PM-030701-40 BASE BID: 511-14 WATER SERVICE	LIP	NE SHORT (1 INCH) (W/M	ETER RELOCATE)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.		First Offer - \$1,200.00	1 / each	\$1,200.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
EMC SERVICES LLC		First Offer - \$1,600.00	1 / each	\$1,600.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 👔		First Offer - \$3,200.00	1 / each	\$3,200.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 👔		First Offer - \$3,750.00	1 / each	\$3,750.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Atlas Paving Company 👔		First Offer - \$4,000.00	1 / each	\$4,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$5,000.00	1 / each	\$5,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 🙀		First Offer - \$5,250.00	1 / each	\$5,250.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		

PM-030701-41 BASE BID: 511-27 WATER METER ADJUST TO GRADE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
T.J. Campbell Construction Co.	First Offer - \$115.00	5 / each	\$575.00		Y					
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:								
EMC SERVICES LLC	First Offer - \$250.00	5 / each	\$1,250.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							
Rudy Construction Co. 👔	First Offer - \$300.00	5 / each	\$1,500.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							
Atlas Paving Company 👔	First Offer - \$325.00	5 / each	\$1,625.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							
Silver Star Construction Company 🧕	First Offer - \$800.00	5 / each	\$4,000.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$900.00	5 / each	\$4,500.00		Y					
Product Code: Agency Notes:	1	Supplier Product Co Supplier Notes:	ode:							
C-P Integrated Services	First Offer - \$1,500.00	5 / each	\$7,500.00		Y					

Supplier Product Code: Supplier Notes:

PM-030701-42 BASE BID: 516-02 REMOVE AND RE	ELC	CATE FIRE HYDRANT				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$5,000.00	1 / each	\$5,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$5,000.00	1 / each	\$5,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 👔		First Offer - \$8,000.00	1 / each	\$8,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 🙀		First Offer - \$8,500.00	1 / each	\$8,500.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
EMC SERVICES LLC		First Offer - \$10,000.00	1 / each	\$10,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 👔		First Offer - \$11,000.00	1 / each	\$11,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.		First Offer - \$15,000.00	1 / each	\$15,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		

PM-030701-43 BASE BID: 520-03 VALVE BOX ADJU	ST	TO GRADE				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$230.00	10 / each	\$2,300.00		Y
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Atlas Paving Company 🙀		First Offer - \$250.00	10 / each	\$2,500.00		Y
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 👔		First Offer - \$300.00	10 / each	\$3,000.00		Y
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$500.00	10 / each	\$5,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$750.00	10 / each	\$7,500.00		Y
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$850.00	10 / each	\$8,500.00		Y
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
C-P Integrated Services 🙀		First Offer - \$1,500.00	10 / each	\$15,000.00		Y
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			

PM-0307--01-44 BASE BID: 520-15 WATER VALVE BOX

bid #PM-0307 - Concrete
Streets and Sidewalks

ets and Sidewalks		its Trusts				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$300.00	10 / each	\$3,000.00		Y
Product Code:	· · ·		Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$350.00	10 / each	\$3,500.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$400.00	10 / each	\$4,000.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 👔		First Offer - \$400.00	10 / each	\$4,000.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$400.00	10 / each	\$4,000.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$850.00	10 / each	\$8,500.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
C-P Integrated Services 🙀		First Offer - \$1,150.00	10 / each	\$11,500.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			

PM-030701-45 BASE BID: 520-16 WATER METER B	OX (TRAFFIC TYPE)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$375.00	20 / each	\$7,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$375.00	20 / each	\$7,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$400.00	20 / each	\$8,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
EMC SERVICES LLC	First Offer - \$450.00	20 / each	\$9,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 👔	First Offer - \$500.00	20 / each	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 👔	First Offer - \$850.00	20 / each	\$17,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 🙀	First Offer - \$1,375.00	20 / each	\$27,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PM-030701-46 BASE BID: 713-00 3 INCH GALVANIZED STEEL CONDUIT (INSTALLED WITH ONE HOLE MALLIBLE STRAPS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$50.00	100 / linear foot	\$5,000.00		Y		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					

#PM-0307 - Concrete eets and Sidewalks	City of Oklahoma Ci its Trusts	ty and		
Rudy Construction Co. 👔	First Offer - \$51.50	100 / linear foot	\$5,150.00	Y
Product Code: Agency Notes:	 1	Supplier Product Code Supplier Notes:	2:	I
Silver Star Construction Company 👔	First Offer - \$52.00	100 / linear foot	\$5,200.00	Y
Product Code: Agency Notes:	 	Supplier Product Code Supplier Notes:	2:	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$55.00	100 / linear foot	\$5,500.00	Y
Product Code: Agency Notes:	 	Supplier Product Code Supplier Notes:	2:	
T.J. Campbell Construction Co.	First Offer - \$60.00	100 / linear foot	\$6,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
EMC SERVICES LLC	First Offer - \$110.00	100 / linear foot	\$11,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
C-P Integrated Services 👔	First Offer - \$135.00	100 / linear foot	\$13,500.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	

PM-030701-47 BASE BID: 713-08 2 INCH TRAFFIC SI	GNAL CONDUIT (TREN	CHED)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$22.00	100 / linear foot	\$2,200.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Silver Star Construction Company 👔	First Offer - \$23.00	100 / linear foot	\$2,300.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co. 🙀	First Offer - \$23.00	100 / linear foot	\$2,300.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$24.00	100 / linear foot	\$2,400.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$25.00	100 / linear foot	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
EMC SERVICES LLC	First Offer - \$27.50	100 / linear foot	\$2,750.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
C-P Integrated Services 🙀	First Offer - \$34.00	100 / linear foot	\$3,400.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PM-030701-48 BASE BID: 713-09 2 INCH TRAFFIC SIGNAL CONDUIT (BORED)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔		First Offer - \$30.00	100 / linear foot	\$3,000.00		Y		
Product Code:			Supplier Product Code	2:				
Agency Notes:			Supplier Notes:					
Rudy Construction Co. 👔		First Offer - \$31.00	100 / linear foot	\$3,100.00		Y		
Product Code:			Supplier Product Code	2:				
Agency Notes:			Supplier Notes:					
Silver Star Construction Company 👔		First Offer - \$32.00	100 / linear foot	\$3,200.00		Y		

bid #PM-0307 - Concrete
Streets and Sidewalks

	113 110313			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$33.00	100 / linear foot	\$3,300.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
T.J. Campbell Construction Co.	First Offer - \$35.00	100 / linear foot	\$3,500.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
EMC SERVICES LLC	First Offer - \$44.00	100 / linear foot	\$4,400.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:		
C-P Integrated Services	First Offer - \$55.00	100 / linear foot	\$5,500.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	, ,

PM-030701-49 BASE BID: 713-10 3 INCH TRAFFIC SIGNAL CONDUIT (TRENCHED)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 🙀	First Offer - \$20.00	100 / linear foot	\$2,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$21.00	100 / linear foot	\$2,100.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Rudy Construction Co. 🙀	First Offer - \$21.00	100 / linear foot	\$2,100.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
SCHWARZ PAVING CO., INC. 👔	First Offer - \$22.00	100 / linear foot	\$2,200.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$25.00	100 / linear foot	\$2,500.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
EMC SERVICES LLC	First Offer - \$33.00	100 / linear foot	\$3,300.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
C-P Integrated Services 🙀	First Offer - \$40.50	100 / linear foot	\$4,050.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

PM-030701-50 BASE BID: 713-11 3 INCH TRAFFIC SIGNAL CONDUIT (BORED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$50.00	100 / linear foot	\$5,000.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company 👔	First Offer - \$51.00	100 / linear foot	\$5,100.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co. 🙀	First Offer - \$51.50	100 / linear foot	\$5,150.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
EMC SERVICES LLC	First Offer - \$55.00	100 / linear foot	\$5,500.00		Y		
Product Code:		Supplier Product Code	:				

Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$55.00	100 / linear foot	\$5,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$60.00	100 / linear foot	\$6,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
C-P Integrated Services 🙀	First Offer - \$67.50	100 / linear foot	\$6,750.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PM-030701-51 BASE BID: 714-01 TWO CONDUCTOR SHIELDED LOOP DETECTOR LEAD-IN CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC	First Offer - \$4.20	100 / linear foot	\$420.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
T.J. Campbell Construction Co.	First Offer - \$5.00	100 / linear foot	\$500.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Atlas Paving Company 🙀	First Offer - \$5.00	100 / linear foot	\$500.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Silver Star Construction Company 👔	First Offer - \$5.00	100 / linear foot	\$500.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
C-P Integrated Services 👔	First Offer - \$5.25	100 / linear foot	\$525.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Rudy Construction Co. 👔	First Offer - \$5.50	100 / linear foot	\$550.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5.50	100 / linear foot	\$550.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

PM-030701-52 BASE BID: 714-02 LOOP DETECTOR WIRE (AWG 14)(TYPE XHHW)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔		First Offer - \$6.00	1200 / linear foot	\$7,200.00		Y		
			Supplier Product Code: Supplier Notes:					
Silver Star Construction Company 👔		First Offer - \$6.40	1200 / linear foot	\$7,680.00		Y		
			Supplier Product Code: Supplier Notes:					
Rudy Construction Co. 👔		First Offer - \$6.50	1200 / linear foot	\$7,800.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔		First Offer - \$6.50	1200 / linear foot	\$7,800.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$7.00	1200 / linear foot	\$8,400.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		1			

#PM-0307 - Concrete ets and Sidewalks	City of Oklahoma C its Trusts	City and		
EMC SERVICES LLC	First Offer - \$8.80	1200 / linear foot	\$10,560.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
C-P Integrated Services 🙀	First Offer - \$11.00	1200 / linear foot	\$13,200.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-030701-53 BASE BID: 714-04 5C CONDUCTOR	TR	AFFIC SIGNAL ELECT	RICAL CABLE			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$5.00	2000 / linear foot	\$10,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔		First Offer - \$6.00	2000 / linear foot	\$12,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 🙀		First Offer - \$6.40	2000 / linear foot	\$12,800.00		Y
			Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔		First Offer - \$6.50	2000 / linear foot	\$13,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$6.50	2000 / linear foot	\$13,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$7.00	2000 / linear foot	\$14,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
C-P Integrated Services 🙀		First Offer - \$7.00	2000 / linear foot	\$14,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			

PM-030701-54 BASE BID: 714-05 7C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
EMC SERVICES LLC	First Offer - \$6.90	500 / linear foot	\$3,450.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$7.00	500 / linear foot	\$3,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$7.45	500 / linear foot	\$3,725.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Rudy Construction Co. 👔	First Offer - \$7.50	500 / linear foot	\$3,750.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$7.50	500 / linear foot	\$3,750.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$8.00	500 / linear foot	\$4,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
C-P Integrated Services 👔	First Offer - \$9.00	500 / linear foot	\$4,500.00		Y				

Supplier Product Code:

Supplier Notes:

PM-030701-55 BASE BID: 714-06 10C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
EMC SERVICES LLC	First Offer - \$7.00	100 / linear foot	\$700.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$8.00	100 / linear foot	\$800.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$8.00	100 / linear foot	\$800.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Rudy Construction Co. 🙀	First Offer - \$8.50	100 / linear foot	\$850.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$9.00	100 / linear foot	\$900.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$9.00	100 / linear foot	\$900.00		Y				
		Supplier Product Code: Supplier Notes:							
C-P Integrated Services 🙀	First Offer - \$9.50	100 / linear foot	\$950.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PM-030701-56 BASE BID: 714-07 15C CONDUCTOR	TRAFFIC SIGNAL ELECT	RICAL CABLE			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$9.00	100 / linear foot	\$900.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$9.20	100 / linear foot	\$920.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 🧕	First Offer - \$9.50	100 / linear foot	\$950.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$9.50	100 / linear foot	\$950.00		Y
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:	·		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$10.00	100 / linear foot	\$1,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$11.00	100 / linear foot	\$1,100.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services 🧕	First Offer - \$11.50	100 / linear foot	\$1,150.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	· · · ·		

PM-0307--01-57 BASE BID: 714-08 18C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE

bid #PM-0307 - Concrete
Streets and Sidewalks

ets and Sidewalks	its Trusts				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$10.00	100 / linear foot	\$1,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Silver Star Construction Company 👔	First Offer - \$10.40	100 / linear foot	\$1,040.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co. 👔	First Offer - \$10.50	100 / linear foot	\$1,050.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
EMC SERVICES LLC	First Offer - \$11.00	100 / linear foot	\$1,100.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$11.00	100 / linear foot	\$1,100.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$12.00	100 / linear foot	\$1,200.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
C-P Integrated Services 🙀	First Offer - \$13.50	100 / linear foot	\$1,350.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PM-030701-58 BASE BID: 714-09 21C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀		First Offer - \$11.00	100 / linear foot	\$1,100.00		Y				
		Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔		First Offer - \$11.10	100 / linear foot	\$1,110.00		Y				
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:						
Rudy Construction Co. 👔		First Offer - \$11.50	100 / linear foot	\$1,150.00		Y				
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:						
EMC SERVICES LLC		First Offer - \$11.50	100 / linear foot	\$1,150.00		Y				
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:						
SCHWARZ PAVING CO., INC. 👔		First Offer - \$12.00	100 / linear foot	\$1,200.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.		First Offer - \$13.00	100 / linear foot	\$1,300.00		Y				
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:						
C-P Integrated Services 🙀		First Offer - \$14.00	100 / linear foot	\$1,400.00		Y				
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:						

PM-030701-59 BASE BID: 714-10 (1 CONDUCTOR)(AWG NO. 6) ELECTRICAL CONDUCTOR							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$3.00	500 / linear foot	\$1,500.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
		1	1 1				

#PM-0307 - Concrete	City of Oklahor				
ets and Sidewalks Silver Star Construction Company 🍙	its Tru:		\$1,500.00	Y	
				•	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3	30 500 / linear foot	\$1,650.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$3	50 500 / linear foot	\$1,750.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 🙀	First Offer - \$3	50 500 / linear foot	\$1,750.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$4	75 500 / linear foot	\$2,375.00	Y	
		Supplier Product Code: Supplier Notes:			
C-P Integrated Services 👔	First Offer - \$5	75 500 / linear foot	\$2,875.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-030701-60 BASE BID: 714-11 (1 CONDUCTOR)(AWG NO. 10) ELECTRICAL CONDUCTOR									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔	First Offer - \$3.00	500 / linear foot	\$1,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 📄	First Offer - \$3.00	500 / linear foot	\$1,500.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3.30	500 / linear foot	\$1,650.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$3.50	500 / linear foot	\$1,750.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
EMC SERVICES LLC	First Offer - \$3.50	500 / linear foot	\$1,750.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$3.75	500 / linear foot	\$1,875.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
C-P Integrated Services 🙀	First Offer - \$4.50	500 / linear foot	\$2,250.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:						

PM-030701-61 BASE BID: 717-03 PEDESTRIAN SIGNAL HEAD (1 WAY 2 SEC.ADJ SIG.HD. (S-20))							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀		First Offer - \$820.00	8 / each	\$6,560.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co. 🙀		First Offer - \$850.00	8 / each	\$6,800.00		Y	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				
EMC SERVICES LLC		First Offer - \$870.00	8 / each	\$6,960.00		Y	

bid #PM-0307 - Concrete
Streets and Sidewalks

its i rusts				
	Supplier Product Co Supplier Notes:	ode:		
First Offer - \$875.00	8 / each	\$7,000.00	Y	
	Supplier Product Co Supplier Notes:	ode:		
First Offer - \$900.00	8 / each	\$7,200.00	Y	
	Supplier Product Co Supplier Notes:	ode:		
First Offer - \$1,000.00	8 / each	\$8,000.00	Y	
	Supplier Product Co Supplier Notes:	ode:		
First Offer - \$1,150.00	8 / each	\$9,200.00	Y	
	Supplier Product Co Supplier Notes:	ode:		
	First Offer - \$875.00 First Offer - \$900.00 First Offer - \$1,000.00	Supplier Product Co Supplier Notes:First Offer - \$875.008 / eachSupplier Product Co Supplier Notes:Supplier Product Co Supplier Notes:First Offer - \$900.008 / eachFirst Offer - \$1,000.008 / eachFirst Offer - \$1,000.008 / eachSupplier Product Co Supplier Notes:Supplier Product Co Supplier Notes:First Offer - \$1,000.008 / eachSupplier Product Co Supplier Notes:Supplier Product Co Supplier Notes:First Offer - \$1,150.008 / each	Supplier Product Coll Supplier Notes:First Offer - \$875.008 / each\$7,000.00Supplier Product Coll Supplier Notes:\$1,000.00First Offer - \$900.008 / each\$7,200.00First Offer - \$900.008 / each\$7,200.00Supplier Product Coll Supplier Notes:\$1,000.00First Offer - \$1,000.008 / each\$8,000.00First Offer - \$1,000.008 / each\$8,000.00First Offer - \$1,000.008 / each\$9,200.00First Offer - \$1,150.008 / each\$9,200.00Supplier Product Coll Supplier Notes:\$9,200.00	Supplier Product Cole: Supplier Notes:First Offer - \$875.008 / each\$7,000.00YSupplier Product Cole: Supplier Notes:Supplier Notes:YFirst Offer - \$900.008 / each\$7,200.00YSupplier Product Cole: Supplier Notes:Supplier Product Cole:YFirst Offer - \$1,000.008 / each\$8,000.00YFirst Offer - \$1,150.008 / each\$9,200.00YFirst Offer - \$1,150.008 / each\$9,200.00YSupplier Product Cole:Supplier Product Cole:Y

PM-030701-62 BASE BID: 722-00 PEDESTRIAN PUSH BUTTON AND SIGN									
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs				
EMC SERVICES LLC	First Offer - \$1,145.00	8 / each	\$9,160.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Atlas Paving Company 👔	First Offer - \$1,310.00	8 / each	\$10,480.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Rudy Construction Co. 👔	First Offer - \$1,350.00	8 / each	\$10,800.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$1,400.00	8 / each	\$11,200.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
C-P Integrated Services 🙀	First Offer - \$1,400.00	8 / each	\$11,200.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
T.J. Campbell Construction Co.	First Offer - \$1,500.00	8 / each	\$12,000.00		Y				
		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,500.00	8 / each	\$12,000.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

PM-030701-63 BASE BID: 722-03 PEDESTRIAN PUSH BUTTON- CENTRAL CONTROL UNIT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$4,500.00	2 / each	\$9,000.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co. 🙀	First Offer - \$4,700.00	2 / each	\$9,400.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Silver Star Construction Company 👔	First Offer - \$5,000.00	2 / each	\$10,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$5,000.00	2 / each	\$10,000.00		Y		
Product Code:		Supplier Product Co	ode:				

its musis				
	Supplier Notes:			
First Offer - \$5,300.00	2 / each	\$10,600.00		Y
	Supplier Product Co	ode:		
	Supplier Notes:			
First Offer - \$5,500.00	2 / each	\$11,000.00		Y
	Supplier Product Co	ode:		
	Supplier Notes:			
First Offer - \$6,750.00	2 / each	\$13,500.00		Y
	Supplier Product Co	ode:		
	Supplier Notes:			
	First Offer - \$5,300.00	Supplier Notes: First Offer - \$5,300.00 2 / each Supplier Product Co Supplier Notes: First Offer - \$5,500.00 2 / each Supplier Product Co Supplier Notes: First Offer - \$6,750.00 2 / each Supplier Notes: Supplier Notes: First Offer - \$6,750.00 2 / each	Supplier Notes: Image: Signal state of the st	Supplier Notes: Image: Product Ode: Supplier Product Code: Supplier Notes: Image: Prist Offer - \$5,500.00 2 / each \$10,600.00 Image: Product Code: Supplier Notes: Image: Prist Offer - \$5,500.00 2 / each \$11,000.00 Image: Product Code: Supplier Notes: Image: Product Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Image: Product Code: Produ

PM-030701-64 BASE BID: 724-67 PEDESTAL POLE W/5 FOOT MOUNTING HEIGHT										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 👔	First Offer - \$1,500.00	8 / each	\$12,000.00		Y					
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:								
Rudy Construction Co. 👔	First Offer - \$1,550.00	8 / each	\$12,400.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Silver Star Construction Company 👔	First Offer - \$1,600.00	8 / each	\$12,800.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,650.00	8 / each	\$13,200.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$1,800.00	8 / each	\$14,400.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
EMC SERVICES LLC	First Offer - \$2,222.00	8 / each	\$17,776.00		Y					
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:								
C-P Integrated Services 🙀	First Offer - \$2,700.00	8 / each	\$21,600.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							

PM-030701-65 BASE BID: 724-68 PEDESTAL POLE W/10 FOOT MOUNTING HEIGHT										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀		First Offer - \$1,700.00	8 / each	\$13,600.00		Y				
			Supplier Product Co Supplier Notes:	ode:						
Rudy Construction Co. 👔		First Offer - \$1,750.00	8 / each	\$14,000.00		Y				
			Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔		First Offer - \$1,850.00	8 / each	\$14,800.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.		First Offer - \$2,000.00	8 / each	\$16,000.00		Y				
			Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 👔		First Offer - \$2,000.00	8 / each	\$16,000.00		Y				
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:						

≠PM-0307 - Concrete ets and Sidewalks	City of Oklahoma City its Trusts	and		
EMC SERVICES LLC	First Offer - \$2,660.00	8 / each	\$21,280.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
C-P Integrated Services 🙀	First Offer - \$3,250.00	8 / each	\$26,000.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PM-030701-66 BASE BID: 726-00 PULL BOX TYPE I							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔		First Offer - \$1,250.00	2 / each	\$2,500.00		Y	
			Supplier Product Co Supplier Notes:	ode:			
Rudy Construction Co. 👔		First Offer - \$1,300.00	2 / each	\$2,600.00		Y	
Product Code:			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$1,400.00	2 / each	\$2,800.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$1,500.00	2 / each	\$3,000.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 🧕		First Offer - \$1,500.00	2 / each	\$3,000.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC		First Offer - \$1,958.00	2 / each	\$3,916.00		Y	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:			
C-P Integrated Services 🙀		First Offer - \$2,400.00	2 / each	\$4,800.00		Y	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:			

PM-030701-67 BASE BID: 726-01 PULL BOX TYPE II					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$1,500.00	2 / each	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 👔	First Offer - \$1,550.00	2 / each	\$3,100.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,650.00	2 / each	\$3,300.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,800.00	2 / each	\$3,600.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 🙀	First Offer - \$1,800.00	2 / each	\$3,600.00		Y
		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$2,090.00	2 / each	\$4,180.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 👔	First Offer - \$2,550.00	2 / each	\$5,100.00		Y

Product Code: Agency Notes:

rusts

Supplier Product Code: Supplier Notes:

PM-030701-68 BASE BID: 726-04 PULL BOX ADJUSTMENT										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
EMC SERVICES LLC		First Offer - \$1,010.00	2 / each	\$2,020.00		Y				
			Supplier Product Code: Supplier Notes:							
Atlas Paving Company 👔		First Offer - \$1,250.00	2 / each	\$2,500.00		Y				
			Supplier Product Code: Supplier Notes:							
C-P Integrated Services 🙀		First Offer - \$1,250.00	2 / each	\$2,500.00		Y				
			Supplier Product Code: Supplier Notes:							
Rudy Construction Co. 👔		First Offer - \$1,300.00	2 / each	\$2,600.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 🙀		First Offer - \$1,400.00	2 / each	\$2,800.00		Y				
Product Code: Agency Notes:	·		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔		First Offer - \$1,400.00	2 / each	\$2,800.00		Y				
			Supplier Product Co Supplier Notes:	ode:						
T.J. Campbell Construction Co.		First Offer - \$1,500.00	2 / each	\$3,000.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							

PM-030701-69 BASE BID: 729-09 INSTALL AND REMOVE PROJECT SIGN										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Silver Star Construction Company 👔	First Offer - \$450.00	4 / each	\$1,800.00		Y					
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:								
EMC SERVICES LLC	First Offer - \$495.00	4 / each	\$1,980.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Rudy Construction Co. 🧕	First Offer - \$500.00	4 / each	\$2,000.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
T.J. Campbell Construction Co.	First Offer - \$550.00	4 / each	\$2,200.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
C-P Integrated Services 👔	First Offer - \$600.00	4 / each	\$2,400.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$800.00	4 / each	\$3,200.00		Y					
		Supplier Product Co Supplier Notes:	ode:							
Atlas Paving Company 🙀	First Offer - \$1,500.00	4 / each	\$6,000.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							

PM-0307--01-70 BASE BID: 729-10 REMOVE AND RELOCATE SIGN

its Trusts					
Unit Price	Qty/Unit	Total Price	Attch.	Docs	
First Offer - \$150.00	5 / each	\$750.00		Y	
	Supplier Product Co	ode:			
	Supplier Notes:				
First Offer - \$155.00	5 / each	\$775.00		Y	
	Supplier Product Co	ode:			
	Supplier Notes:				
First Offer - \$165.00	5 / each	\$825.00		Y	
	Supplier Product Co	ode:			
	Supplier Notes:				
First Offer - \$180.00	5 / each	\$900.00		Y	
	Supplier Product Code:				
	Supplier Notes:				
First Offer - \$200.00	5 / each	\$1,000.00		Y	
	Supplier Product Code:				
	Supplier Notes:				
First Offer - \$300.00	5 / each	\$1,500.00		Y	
·	Supplier Product Co	de:			
	Supplier Notes:				
First Offer - \$715.00	5 / each	\$3,575.00		Y	
	Supplier Product Co	ode:			
	Supplier Notes:				
	Unit Price First Offer - \$150.00 First Offer - \$155.00 First Offer - \$165.00 First Offer - \$165.00 First Offer - \$180.00 First Offer - \$200.00 First Offer - \$300.00	Unit Price Qty/Unit First Offer - \$150.00 5 / each Supplier Product Co Supplier Notes: First Offer - \$155.00 5 / each First Offer - \$155.00 5 / each First Offer - \$155.00 5 / each First Offer - \$165.00 5 / each First Offer - \$165.00 5 / each First Offer - \$180.00 5 / each Supplier Notes: Supplier Notes: First Offer - \$200.00 5 / each First Offer - \$300.00 5 / each Supplier Notes: Supplier Notes: First Offer - \$300.00 5 / each Supplier Notes: Supplier Notes: First Offer - \$715.00 5 / each	Unit PriceQty/UnitTotal PriceFirst Offer - \$150.005 / each\$750.00Supplier Product Coe: Supplier Notes:Supplier Notes:First Offer - \$155.005 / each\$775.00First Offer - \$155.005 / each\$775.00Supplier Product Coe: Supplier Notes:Supplier Notes:First Offer - \$165.005 / each\$825.00First Offer - \$165.005 / each\$825.00First Offer - \$180.005 / each\$900.00First Offer - \$180.005 / each\$900.00First Offer - \$180.005 / each\$1,000.00First Offer - \$180.005 / each\$1,000.00First Offer - \$180.005 / each\$1,000.00First Offer - \$200.005 / each\$1,000.00First Offer - \$200.005 / each\$1,000.00First Offer - \$300.005 / each\$1,500.00First Offer - \$300.005 / each\$1,500.00First Offer - \$300.005 / each\$1,500.00First Offer - \$15.005 / each\$1,500.00First Offer - \$300.005 / each\$1,500.00First Offer - \$15.005 / each\$1,500.00First Offer - \$15.005 / each\$1,500.00First Offer - \$15.005 / each\$1,500.00First Offer - \$715.005 / each\$3,575.00Supplier Product Coe: Supplier Notes:\$1,500.00First Offer - \$715.005 / each\$3,575.00Supplier Product Coe:\$1,500.00\$1,500.00First Offer - \$715.005 / ea	Unit PriceQty/UnitTotal PriceAttch.First Offer - \$150.005 / each\$750.00\$Supplier Product Coe:: Supplier Notes:\$\$\$First Offer - \$155.005 / each\$775.00\$First Offer - \$155.005 / each\$775.00\$First Offer - \$165.005 / each\$825.00\$First Offer - \$165.005 / each\$825.00\$First Offer - \$165.005 / each\$825.00\$First Offer - \$180.005 / each\$990.00\$First Offer - \$180.005 / each\$1,000.00\$First Offer - \$200.005 / each\$1,000.00\$First Offer - \$200.005 / each\$1,500.00\$First Offer - \$300.005 / each\$1,500.00\$First Offer - \$300.005 / each\$1,500.00\$First Offer - \$715.005 / each\$3,575.00\$First Offer - \$715.005 / each\$3,575.00\$First Offer - \$715.005 / each\$3,575.00\$First Offer - \$715.005 / each\$3,575.00\$	

PM-030701-71 BASE BID: 735-00 TRAFFIC STRIPE (4 INCH WIDE)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co. 👔		First Offer - \$0.75	15000 / linear foot	\$11,250.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
EMC SERVICES LLC		First Offer - \$0.83	15000 / linear foot	\$12,450.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.		First Offer - \$0.85	15000 / linear foot	\$12,750.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
C-P Integrated Services 👔		First Offer - \$1.00	15000 / linear foot	\$15,000.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			-				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$1.25	15000 / linear foot	\$18,750.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 👔		First Offer - \$1.65	15000 / linear foot	\$24,750.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
Atlas Paving Company 🙀		First Offer - \$3.25	15000 / linear foot	\$48,750.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							

PM-030701-72 BASE BID: 735-01 TRAFFIC STRIPE (ARROWS) (SINGLE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co. 👔	First Offer - \$70.00	20 / each	\$1,400.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

id #PM-0307 - Concrete treets and Sidewalks	City of Oklahoma City its Trusts	and		
EMC SERVICES LLC	First Offer - \$71.50	20 / each	\$1,430.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T.J. Campbell Construction Co.	First Offer - \$75.00	20 / each	\$1,500.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
Silver Star Construction Company 👔	First Offer - \$75.00	20 / each	\$1,500.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
C-P Integrated Services 👔	First Offer - \$86.75	20 / each	\$1,735.00	Y
Product Code: Agency Notes:	·	Supplier Product Co Supplier Notes:	de:	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$100.00	20 / each	\$2,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
Atlas Paving Company 🙀	First Offer - \$350.00	20 / each	\$7,000.00	Y
Product Code: Agency Notes:	·	Supplier Product Co Supplier Notes:	de:	· · · · · · · · · · · · · · · · · · ·

PM-030701-73 BASE BID: 735-06 TRAFFIC STRIPE (PLASTIC) (SYMBOLS) (SHARROW)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Silver Star Construction Company 🙀	First Offer - \$550.00	10 / each	\$5,500.00		Y					
		Supplier Product Co Supplier Notes:	ode:							
Rudy Construction Co. 👔	First Offer - \$565.00	10 / each	\$5,650.00		Y					
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$600.00	10 / each	\$6,000.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
EMC SERVICES LLC	First Offer - \$605.00	10 / each	\$6,050.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$650.00	10 / each	\$6,500.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Atlas Paving Company 🙀	First Offer - \$750.00	10 / each	\$7,500.00		Y					
		Supplier Product Co Supplier Notes:	ode:							
C-P Integrated Services 👔	First Offer - \$750.00	10 / each	\$7,500.00		Y					
		Supplier Product Co Supplier Notes:	ode:							

PM-030701-74 BASE BID: 735-07 TRAFFIC STRIPE (8 INCH WIDE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company 👔	First Offer - \$2.10	500 / linear foot	\$1,050.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co. 👔	First Offer - \$2.10	500 / linear foot	\$1,050.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
EMC SERVICES LLC	First Offer - \$2.20	500 / linear foot	\$1,100.00		Y			

ets and Sidewalks	its Trusts			
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$2.50	500 / linear foot	\$1,250.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
C-P Integrated Services 🙀	First Offer - \$2.75	500 / linear foot	\$1,375.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3.50	500 / linear foot	\$1,750.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Atlas Paving Company 👔	First Offer - \$4.50	500 / linear foot	\$2,250.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

PM-030701-75 BASE BID: 735-08 TRAFFIC STRIPE (12 INCH WIDE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co. 🙀	First Offer - \$2.10	500 / linear foot	\$1,050.00		Y					
Product Code: Agency Notes:	<u> </u>	Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$2.15	500 / linear foot	\$1,075.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
EMC SERVICES LLC	First Offer - \$2.20	500 / linear foot	\$1,100.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$2.50	500 / linear foot	\$1,250.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
C-P Integrated Services 👔	First Offer - \$2.75	500 / linear foot	\$1,375.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$4.50	500 / linear foot	\$2,250.00		Y					
Product Code: Agency Notes:	<u> </u>	Supplier Product Code: Supplier Notes:								
Atlas Paving Company 👔	First Offer - \$6.75	500 / linear foot	\$3,375.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:							

PM-030701-76 BASE BID: 735-09 TRAFFIC STRIPE (24 INCH WIDE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co. 👔	First Offer - \$15.50	800 / linear foot	\$12,400.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$16.00	800 / linear foot	\$12,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
EMC SERVICES LLC	First Offer - \$16.50	800 / linear foot	\$13,200.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$17.50	800 / linear foot	\$14,000.00		Y			
Product Code:		Supplier Product Code	:					

Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$18.00	800 / linear foot	\$14,400.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
C-P Integrated Services 🙀	First Offer - \$20.75	800 / linear foot	\$16,600.00		Y
Product Code:		Supplier Product Code	2		
Agency Notes:		Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$24.25	800 / linear foot	\$19,400.00		Y
Product Code:		Supplier Product Code	2:	·	
Agency Notes:		Supplier Notes:			

PM-030701-77 BASE BID: 735-10 TRAFFIC STRIPE (4 INCH WIDE)(SHADDOW STRIPING)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co. 👔		First Offer - \$1.40	1000 / linear foot	\$1,400.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 👔		First Offer - \$1.45	1000 / linear foot	\$1,450.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.		First Offer - \$1.50	1000 / linear foot	\$1,500.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
EMC SERVICES LLC		First Offer - \$1.50	1000 / linear foot	\$1,500.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔		First Offer - \$2.00	1000 / linear foot	\$2,000.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
C-P Integrated Services 🙀		First Offer - \$2.00	1000 / linear foot	\$2,000.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
Atlas Paving Company 👔		First Offer - \$4.50	1000 / linear foot	\$4,500.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							

PM-0307–01-78 BASE BID: 735-11 TRAFFIC STRIPE (PLASTIC) (SYMBOLS) (RR TRACKS)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co. 🙀	First Offer - \$770.00	6 / each	\$4,620.00		Y				
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$800.00	6 / each	\$4,800.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
EMC SERVICES LLC	First Offer - \$825.00	6 / each	\$4,950.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 🙀	First Offer - \$875.00	6 / each	\$5,250.00		Y				
		Supplier Product Co Supplier Notes:	ode:						
T.J. Campbell Construction Co.	First Offer - \$900.00	6 / each	\$5,400.00		Y				
		Supplier Product Code: Supplier Notes:							

#PM-0307 - Concrete ets and Sidewalks	City of Oklahoma City its Trusts	and		
C-P Integrated Services 👔	First Offer - \$1,000.00	6 / each	\$6,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Atlas Paving Company 👔	First Offer - \$2,250.00	6 / each	\$13,500.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

PM-030701-79 BASE BID: 735-12 TRAFFIC STRIPE (PLASTIC) (6 INCH WIDE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 👔	First Offer - \$2.00	500 / linear foot	\$1,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$2.10	500 / linear foot	\$1,050.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
EMC SERVICES LLC	First Offer - \$2.20	500 / linear foot	\$1,100.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$2.30	500 / linear foot	\$1,150.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
C-P Integrated Services 👔	First Offer - \$2.75	500 / linear foot	\$1,375.00		Y				
Product Code: Agency Notes:	· ·	Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3.00	500 / linear foot	\$1,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$4.15	500 / linear foot	\$2,075.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

ASTIC) (6 INCH WIDE	SHADDOW STRIPE)			
Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Offer - \$2.10	500 / linear foot	\$1,050.00		Y
	Supplier Product Code Supplier Notes:	:		
First Offer - \$2.15	500 / linear foot	\$1,075.00		Y
·	Supplier Product Code Supplier Notes:	:		
First Offer - \$2.20	500 / linear foot	\$1,100.00		Y
	Supplier Product Code: Supplier Notes:			
First Offer - \$2.30	500 / linear foot	\$1,150.00		Y
	Supplier Product Code Supplier Notes:	:		
First Offer - \$2.75	500 / linear foot	\$1,375.00		Y
	Supplier Product Code Supplier Notes:	:		
First Offer - \$3.50	500 / linear foot	\$1,750.00		Y
	Supplier Product Code Supplier Notes:	:		
First Offer - \$5.65	500 / linear foot	\$2,825.00		Y
	Unit Price First Offer - \$2.10 First Offer - \$2.15 First Offer - \$2.20 First Offer - \$2.20 First Offer - \$2.30 First Offer - \$2.30	First Offer - \$2.10 500 / linear foot Supplier Product Code Supplier Notes: First Offer - \$2.15 500 / linear foot Supplier Product Code Supplier Notes: First Offer - \$2.20 500 / linear foot Supplier Notes: 500 / linear foot First Offer - \$2.20 500 / linear foot Supplier Product Code Supplier Notes: First Offer - \$2.30 500 / linear foot Supplier Notes: 500 / linear foot First Offer - \$2.30 500 / linear foot Supplier Product Code Supplier Notes: First Offer - \$2.75 500 / linear foot Supplier Product Code Supplier Notes: First Offer - \$3.50 500 / linear foot Supplier Notes: 500 / linear foot	Unit PriceQty/UnitTotal PriceFirst Offer - \$2.10500 / linear foot\$1,050.00Supplier Product Code: Supplier Notes:Supplier Product Code: \$1,075.00First Offer - \$2.15500 / linear foot\$1,075.00Supplier Product Code: Supplier Notes:Supplier Product Code: \$1,100.00First Offer - \$2.20500 / linear foot\$1,100.00Supplier Product Code: Supplier Notes:Supplier Product Code: \$1,150.00First Offer - \$2.30500 / linear foot\$1,150.00Supplier Product Code: Supplier Notes:\$1,150.00First Offer - \$2.75500 / linear foot\$1,375.00First Offer - \$2.75500 / linear foot\$1,375.00First Offer - \$2.75500 / linear foot\$1,375.00First Offer - \$3.50500 / linear foot\$1,750.00Supplier Product Code: Supplier Notes:\$1,750.00First Offer - \$3.50500 / linear foot\$1,750.00	Unit PriceQty/UnitTotal PriceAttch.First Offer - \$2.10500 / linear foot\$1,050.00\$1Supplier Product Code: Supplier Notes:\$1,075.00\$1First Offer - \$2.15500 / linear foot\$1,075.00\$1Supplier Product Code: Supplier Notes:\$1,100.00\$1First Offer - \$2.20500 / linear foot\$1,100.00\$1First Offer - \$2.20500 / linear foot\$1,100.00\$1Supplier Product Code: Supplier Notes:\$1,150.00\$1\$1First Offer - \$2.30500 / linear foot\$1,150.00\$1First Offer - \$2.30500 / linear foot\$1,375.00\$1First Offer - \$2.75500 / linear foot\$1,375.00\$1First Offer - \$2.75500 / linear foot\$1,375.00\$1First Offer - \$2.50500 / linear foot\$1,375.00\$1First Offer - \$2.55500 / linear foot\$1,375.00\$1First Offer - \$3.50500 / linear foot\$1,750.00\$1Supplier Notes:\$1,000\$1,000\$1First Offer - \$3.50500 / linear foot\$1,750.00\$1First Offer - \$3.50500 / linear foot\$1,750.00\$1Supplier Notes:\$1,750.00\$1,750.00\$1First Offer - \$3.50500 / linear foot\$1,750.00\$1Supplier Notes:\$1\$1,750.00\$1First Offer - \$3.50500 / linear foot\$1,750.00\$1Supplier Notes:\$1\$1\$1 <td< td=""></td<>

Supplier Product Code: Supplier Notes:

Supplier Notes:

PM-0307--01-81 BASE BID: 738-08 REMOVE TRAFFIC MARKING (4 INCH WIDE STRIPE) Supplier Unit Price Qty/Unit **Total Price** Attch. Docs Rudy Construction Co. 🍙 First Offer - \$1.05 1000 / linear foot \$1,050.00 Υ Product Code: Supplier Product Code: Agency Notes: Supplier Notes: EMC SERVICES LLC First Offer - \$1.10 1000 / linear foot \$1,100.00 Y Product Code: Supplier Product Code: Supplier Notes: Agency Notes: T.J. Campbell Construction Co. First Offer - \$1.20 1000 / linear foot \$1,200.00 Y Supplier Product Code: Product Code: Agency Notes: Supplier Notes: First Offer - \$1.50 1000 / linear foot \$1,500.00 Y C-P Integrated Services 🔓 Product Code: Supplier Product Code: Agency Notes: Supplier Notes: First Offer - \$1.65 1000 / linear foot \$1,650.00 Υ Silver Star Construction Company 0 Supplier Product Code: Product Code: Agency Notes: Supplier Notes: 1000 / linear foot SCHWARZ PAVING CO., INC. 🔓 First Offer - \$2.00 \$2,000.00 Υ Supplier Product Code: Product Code: Supplier Notes: Agency Notes: Atlas Paving Company 🍃 First Offer - \$3.75 1000 / linear foot \$3,750.00 Υ Product Code: Supplier Product Code:

PM-030701-82 BASE BID: 738-10 REMOVE WORDS AND SYMBOLS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company 👔	First Offer - \$25.00	5 / each	\$125.00		Y			
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:						
EMC SERVICES LLC	First Offer - \$27.50	5 / each	\$137.50		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$30.00	5 / each	\$150.00		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$30.00	5 / each	\$150.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
C-P Integrated Services 👔	First Offer - \$33.50	5 / each	\$167.50		Y			
Product Code: Agency Notes:	· ·	Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$100.00	5 / each	\$500.00		Y			
		Supplier Product Co Supplier Notes:	ode:					
Atlas Paving Company 👔	First Offer - \$175.00	5 / each	\$875.00		Y			
		Supplier Product Co Supplier Notes:	ode:					

PM-0307--01-83 BASE BID: 745-01 RADAR DETECTION SYSTEM (ADVANCE SENSORS)

	113 110313						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$8,320.00	4 / each	\$33,280.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company 👔	First Offer - \$8,500.00	4 / each	\$34,000.00		Y		
Product Code: Agency Notes:	·	Supplier Product Co Supplier Notes:	ode:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$8,500.00	4 / each	\$34,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Rudy Construction Co. 👔	First Offer - \$8,550.00	4 / each	\$34,200.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
T.J. Campbell Construction Co.	First Offer - \$10,000.00	4 / each	\$40,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
EMC SERVICES LLC	First Offer - \$10,000.00	4 / each	\$40,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
C-P Integrated Services 🙀	First Offer - \$13,000.00	4 / each	\$52,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PM-030701-84 BASE BID: 745-02 RADAR DETECTIO	N SYSTEM (PRESENCE SENS	SORS)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$7,870.00	4 / each	\$31,480.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 👔	First Offer - \$8,100.00	4 / each	\$32,400.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$8,300.00	4 / each	\$33,200.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 👔	First Offer - \$8,500.00	4 / each	\$34,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$9,000.00	4 / each	\$36,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
EMC SERVICES LLC	First Offer - \$9,000.00	4 / each	\$36,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 🙀	First Offer - \$12,000.00	4 / each	\$48,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PM-030701-85 BASE BID: 745-04 RADAR CABINET INTERFACE (MODEL 656 6 SENSORS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$7,550.00	4 / each	\$30,200.00		Y		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
		1	1		i I		

 ŧPM-0307 - Concrete ets and Sidewalks	City of Oklahoma City a its Trusts	and		
Rudy Construction Co. 👔	First Offer - \$7,800.00	4 / each	\$31,200.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Silver Star Construction Company 👔	First Offer - \$8,000.00	4 / each	\$32,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

Agency Notes:			Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔	First C	offer - \$8,000.00	4 / each	\$32,000.00	Y
Product Code:			Supplier Product Co	ode:	
Agency Notes:			Supplier Notes:		
T.J. Campbell Construction Co.	First C	offer - \$9,000.00	4 / each	\$36,000.00	Y
Product Code:			Supplier Product Co	ode:	
Agency Notes:			Supplier Notes:		
EMC SERVICES LLC	First C	offer - \$9,000.00	4 / each	\$36,000.00	Y
Product Code:			Supplier Product Co	ode:	
Agency Notes:			Supplier Notes:		
C-P Integrated Services 🙀	First Of	fer - \$11,500.00	4 / each	\$46,000.00	Y
Product Code:			Supplier Product Co	ode:	
Agency Notes:			Supplier Notes:		

PM-030701-86 BASE BID: 745-05 RADAR DETECTO	R CABLE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$5.00	4000 / linear foot	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$5.00	4000 / linear foot	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5.00	4000 / linear foot	\$20,000.00		Y
Product Code: Agency Notes:	· ·	Supplier Product Code: Supplier Notes:	·		
Rudy Construction Co. 👔	First Offer - \$5.20	4000 / linear foot	\$20,800.00		Y
Product Code: Agency Notes:	· ·	Supplier Product Code: Supplier Notes:	·		
Silver Star Construction Company 👔	First Offer - \$5.25	4000 / linear foot	\$21,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	·		
T.J. Campbell Construction Co.	First Offer - \$6.00	4000 / linear foot	\$24,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services 🙀	First Offer - \$6.75	4000 / linear foot	\$27,000.00		Y
Product Code: Agency Notes:	· · ·	Supplier Product Code: Supplier Notes:			

M-030701-87 BASE BID: 745-06 SWITCH FOR EXISTING TRAFFIC CONTROL CABINET								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
EMC SERVICES LLC		First Offer - \$1,700.00	2 / each	\$3,400.00		Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Atlas Paving Company 👔		First Offer - \$1,750.00	2 / each	\$3,500.00		Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Rudy Construction Co. 🙀		First Offer - \$1,800.00	2 / each	\$3,600.00		Y		

oid #PM-0307 - Concrete Streets and Sidewalks	City of Oklahoma City its Trusts	and		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
T.J. Campbell Construction Co.	First Offer - \$2,000.00	2 / each	\$4,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Silver Star Construction Company 👔	First Offer - \$2,000.00	2 / each	\$4,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2,000.00	2 / each	\$4,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
C-P Integrated Services 👔	First Offer - \$2,150.00	2 / each	\$4,300.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

PM-030701-88 BASE BID: 801-05 SURVEY CREW (TV	VO MAN)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$150.00	20 / hour	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 👔	First Offer - \$185.00	20 / hour	\$3,700.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 👔	First Offer - \$200.00	20 / hour	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
EMC SERVICES LLC	First Offer - \$220.00	20 / hour	\$4,400.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Atlas Paving Company 👔	First Offer - \$225.00	20 / hour	\$4,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$275.00	20 / hour	\$5,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 🙀	First Offer - \$350.00	20 / hour	\$7,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PM-030701-89 BASE BID: 811-11 STRUCTURE REMO	M-030701-89 BASE BID: 811-11 STRUCTURE REMOVAL (STORM SEWER INLET)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
EMC SERVICES LLC	First Offer - \$800.00	10 / each	\$8,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
T.J. Campbell Construction Co.	First Offer - \$900.00	10 / each	\$9,000.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
C-P Integrated Services 🙀	First Offer - \$1,100.00	10 / each	\$11,000.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company 👔	First Offer - \$2,500.00	10 / each	\$25,000.00		Y		
Product Code:		Supplier Product Co	ode:				

Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2,500.00	10 / each	\$25,000.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co. 👔	First Offer - \$3,000.00	10 / each	\$30,000.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Atlas Paving Company 👔	First Offer - \$5,000.00	10 / each	\$50,000.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PM-030701-90 BASE BID: 812-01 REMOVE SIDEWA	LK				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$12.00	1000 / square yard	\$12,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:	1	Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$15.50	1000 / square yard	\$15,500.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services 🙀	First Offer - \$17.00	1000 / square yard	\$17,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$20.00	1000 / square yard	\$20,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company 🙀	First Offer - \$20.00	1000 / square yard	\$20,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$20.00	1000 / square yard	\$20,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$20.00	1000 / square yard	\$20,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PM-030701-91 BASE BID: 812-02 REMOVE CURB A	ND	GUTTER				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
C-P Integrated Services 🙀		First Offer - \$6.50	3500 / linear foot	\$22,750.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC		First Offer - \$8.00	3500 / linear foot	\$28,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔		First Offer - \$10.00	3500 / linear foot	\$35,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 🙀		First Offer - \$10.00	3500 / linear foot	\$35,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$15.00	3500 / linear foot	\$52,500.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			

First Offer - \$15.00	3500 / linear foot	\$52,500.00	Y
	Supplier Product Code Supplier Notes:	:	
First Offer - \$16.00	3500 / linear foot	\$56,000.00	Y
		:	
	its Trusts First Offer - \$15.00	Supplier Notes: First Offer - \$16.00	its Trusts First Offer - \$15.00 3500 / linear foot \$52,500.00 Supplier Product Code: Supplier Notes: First Offer - \$16.00 3500 / linear foot \$56,000.00 Supplier Product Code:

PM-030701-92 BASE BID: 812-03 PAVEMENT REMO	OVAL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$10.00	10000 / square yard	\$100,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$10.00	10000 / square yard	\$100,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services 🙀	First Offer - \$10.50	10000 / square yard	\$105,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$18.00	10000 / square yard	\$180,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$20.00	10000 / square yard	\$200,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$20.00	10000 / square yard	\$200,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👰	First Offer - \$31.00	10000 / square yard	\$310,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-030701-93 BASE BID: 813-00 REMOVE DRIVEW	/AY				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$10.00	6000 / square yard	\$60,000.00		Y
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:	·		
EMC SERVICES LLC	First Offer - \$10.00	6000 / square yard	\$60,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$12.00	6000 / square yard	\$72,000.00		Y
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:	·		
C-P Integrated Services 🙀	First Offer - \$12.00	6000 / square yard	\$72,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$15.00	6000 / square yard	\$90,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$17.00	6000 / square yard	\$102,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$20.00	6000 / square yard	\$120,000.00		Y

Product Code: Agency Notes:

Supplier Product Code: Supplier Notes:

PM-0307--01-94 BASE BID: 819-03 ADJUST EXISTING STRUCTURE (2-0 INLET REPAIR) Supplier Unit Price Qty/Unit **Total Price** Attch. Docs Rudy Construction Co. 🍙 First Offer - \$1,000.00 \$2,000.00 2 / each Υ Product Code: Supplier Product Code: Agency Notes: Supplier Notes: EMC SERVICES LLC First Offer - \$1,000.00 2 / each \$2,000.00 Y Product Code: Supplier Product Code: **Supplier Notes:** Agency Notes: T.J. Campbell Construction Co. First Offer - \$1,100.00 2 / each \$2,200.00 Y Supplier Product Code: Product Code: Agency Notes: Supplier Notes: First Offer - \$1,150.00 2/each \$2,300.00 Y C-P Integrated Services 🔓 Product Code: Supplier Product Code: Agency Notes: Supplier Notes: First Offer - \$1,500.00 2/each \$3,000.00 Υ Atlas Paving Company 🔓 Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Silver Star Construction Company 🔓 First Offer - \$1,880.00 2 / each \$3,760.00 Υ Supplier Product Code: Product Code: Supplier Notes: Agency Notes: SCHWARZ PAVING CO., INC. 🍃 First Offer - \$2,000.00 2 / each \$4,000.00 Υ Product Code: Supplier Product Code: Supplier Notes: Agency Notes:

PM-030701-95 BASE BID: 819-04 ADJUST EXISTING	STRUCTURE (2-1 INLET RE	PAIR)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$1,100.00	2 / each	\$2,200.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
C-P Integrated Services 🙀	First Offer - \$1,250.00	2 / each	\$2,500.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,300.00	2 / each	\$2,600.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$1,300.00	2 / each	\$2,600.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$2,000.00	2 / each	\$4,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2,100.00	2 / each	\$4,200.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$2,200.00	2 / each	\$4,400.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

PM-0307--01-96 BASE BID: 819-16 ADJUST EXISTING STRUCTURE (2-2 INLET REPAIR)

bid #PM-0307 - Concrete
Streets and Sidewalks

ets and Sidewalks	its	s I rusts				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer -	\$1,200.00	2 / each	\$2,400.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 👔	First Offer -	· \$1,300.00	2 / each	\$2,600.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 👔	First Offer -	• \$1,600.00	2 / each	\$3,200.00		Y
Product Code: Agency Notes:	·		Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer -	\$1,800.00	2 / each	\$3,600.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔	First Offer -	\$2,200.00	2 / each	\$4,400.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Atlas Paving Company 👔	First Offer -	\$2,500.00	2 / each	\$5,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 👔	First Offer -	\$2,645.00	2 / each	\$5,290.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		

PM-030701-97 BASE BID: 819-17 ADJUST EXISTING	5 STRUCTURE (2-3 INLET RE	PAIR)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$1,400.00	2 / each	\$2,800.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services 🙀	First Offer - \$1,500.00	2 / each	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 👔	First Offer - \$2,000.00	2 / each	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$2,300.00	2 / each	\$4,600.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2,300.00	2 / each	\$4,600.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Atlas Paving Company 👔	First Offer - \$3,000.00	2 / each	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 🙀	First Offer - \$3,200.00	2 / each	\$6,400.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Total Price	Attch.	_
	Auth.	Docs
\$5,400.00		Y
ıct Code:		
5:		
	ct Code:	ct Code:

d #PM-0307 - Concrete reets and Sidewalks	City of Oklahoma City its Trusts	and		
Rudy Construction Co. 👔	First Offer - \$350.00	24 / each	\$8,400.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$350.00	24 / each	\$8,400.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T.J. Campbell Construction Co.	First Offer - \$400.00	24 / each	\$9,600.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
EMC SERVICES LLC	First Offer - \$400.00	24 / each	\$9,600.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
C-P Integrated Services 👔	First Offer - \$400.00	24 / each	\$9,600.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Silver Star Construction Company 👔	First Offer - \$650.00	24 / each	\$15,600.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

PM-030701-99 BASE BID: 819-20 STORM SEWE	R CAS	T GRATE REPLACEMENT					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔		First Offer - \$225.00	20 / each	\$4,500.00		Y	
			Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔		First Offer - \$350.00	20 / each	\$7,000.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$350.00	20 / each	\$7,000.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
EMC SERVICES LLC		First Offer - \$400.00	20 / each	\$8,000.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
C-P Integrated Services 👔		First Offer - \$550.00	20 / each	\$11,000.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
Silver Star Construction Company 👔		First Offer - \$650.00	20 / each	\$13,000.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.		First Offer - \$850.00	20 / each	\$17,000.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			

PM-030701-100 BASE BID: 819-21 STORM SEWER (CA	ST FRAME REPLACEMEN ⁻	г			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀		First Offer - \$225.00	10 / each	\$2,250.00		Y
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$400.00	10 / each	\$4,000.00		Y
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 🙀		First Offer - \$500.00	10 / each	\$5,000.00		Y

bid #PM-0307 - Concrete
Streets and Sidewalks

its i rusts			
	Supplier Product Co Supplier Notes:	ode:	
First Offer - \$550.00	10 / each	\$5,500.00	Y
	Supplier Product Co Supplier Notes:	ode:	
First Offer - \$650.00	10 / each	\$6,500.00	Y
	Supplier Product Co Supplier Notes:	ode:	
First Offer - \$850.00	10 / each	\$8,500.00	Y
	Supplier Product Co Supplier Notes:	ode:	
First Offer - \$1,500.00	10 / each	\$15,000.00	Y
	Supplier Product Co Supplier Notes:	ode:	
	First Offer - \$550.00 First Offer - \$650.00 First Offer - \$850.00	Supplier Product Co First Offer - \$550.00 10 / each First Offer - \$650.00 10 / each First Offer - \$650.00 10 / each First Offer - \$650.00 10 / each Supplier Product Co Supplier Product Co Supplier Notes: 10 / each First Offer - \$650.00 10 / each Supplier Product Co Supplier Notes: First Offer - \$850.00 10 / each Supplier Notes: Supplier Notes: First Offer - \$1,500.00 10 / each	Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$550.00 10 / each \$5,500.00 Supplier Product Code: Supplier Notes: First Offer - \$650.00 10 / each \$6,500.00 First Offer - \$650.00 10 / each \$6,500.00 First Offer - \$650.00 10 / each \$6,500.00 First Offer - \$850.00 10 / each \$8,500.00 First Offer - \$850.00 10 / each \$8,500.00 First Offer - \$1,500.00 10 / each \$15,000.00 First Offer - \$1,500.00 10 / each \$15,000.00

PM-030701-101 BASE BID: 820-00 SAWCUT PAVEN	IENT (LOOPS)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$6.00	500 / linear foot	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Silver Star Construction Company 👔	First Offer - \$6.00	500 / linear foot	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$6.50	500 / linear foot	\$3,250.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$7.00	500 / linear foot	\$3,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co. 👔	First Offer - \$8.00	500 / linear foot	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
EMC SERVICES LLC	First Offer - \$13.00	500 / linear foot	\$6,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
C-P Integrated Services 🧕	First Offer - \$16.00	500 / linear foot	\$8,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PM-030701-102 BASE BID: 823-00 SIDEWALK					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$40.00	8000 / square yard	\$320,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services 🙀	First Offer - \$45.00	8000 / square yard	\$360,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$55.00	8000 / square yard	\$440,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$55.00	8000 / square yard	\$440,000.00		Y
Product Code:		Supplier Product Code:			

Agency Notes:			Supplier Notes:		
EMC SERVICES LLC	Π	First Offer - \$60.00	8000 / square yard	\$480,000.00	Y
Product Code:			Supplier Product Code:		
Agency Notes:			Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$67.00	8000 / square yard	\$536,000.00	Y
Product Code:			Supplier Product Code:	· · · ·	
Agency Notes:			Supplier Notes:		
Silver Star Construction Company 👔		First Offer - \$92.00	8000 / square yard	\$736,000.00	Y
Product Code:			Supplier Product Code:		
Agency Notes:			Supplier Notes:		

PM-030701-103 BASE BID: 823-03 6 INCH P.C. CONC. DRIVEWAY (HES)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C-P Integrated Services 🙀	First Offer - \$60.00	6000 / square yard	\$360,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$69.00	6000 / square yard	\$414,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$70.00	6000 / square yard	\$420,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$78.00	6000 / square yard	\$468,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$78.00	6000 / square yard	\$468,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$85.00	6000 / square yard	\$510,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$95.00	6000 / square yard	\$570,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-030701-104 BASE BID: 823-11 8 INCH P.C. CON	IC. DRIVEWAY (3000 PSI	HES)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$75.00	500 / square yard	\$37,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services 🙀	First Offer - \$81.00	500 / square yard	\$40,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$90.00	500 / square yard	\$45,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$90.00	500 / square yard	\$45,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$100.00	500 / square yard	\$50,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-0307 - Concrete ets and Sidewalks	City of Oklahoma C its Trusts	ity and		
Silver Star Construction Company [First Offer - \$110.00	500 / square yard	\$55,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$120.00	500 / square yard	\$60,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-030701-105 BASE BID: 823-12 10 INCH P.C. CC	NC. DRIVEWAY (3000 PS	il HES)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$80.00	500 / square yard	\$40,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$95.00	500 / square yard	\$47,500.00		Y
Product Code:	·	Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$95.00	500 / square yard	\$47,500.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services 🙀	First Offer - \$97.00	500 / square yard	\$48,500.00		Y
Product Code:	·	Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 🙀	First Offer - \$105.00	500 / square yard	\$52,500.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$120.00	500 / square yard	\$60,000.00		Y
Product Code:	·	Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$150.00	500 / square yard	\$75,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PM-030701-106 BASE BID: 823-16 ARTICULATING	JOINT STRIPS				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$19.00	100 / linear foot	\$1,900.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$40.00	100 / linear foot	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services 👔	First Offer - \$61.00	100 / linear foot	\$6,100.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$90.00	100 / linear foot	\$9,000.00		Y

Supplier Product Code: Supplier Notes:

PM-030701-107 BASE BID: 826-08 PERFORATED PI	PE UNDERDRAIN (6 INC	H)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co. 👔	First Offer - \$15.00	500 / linear foot	\$7,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$18.00	500 / linear foot	\$9,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Atlas Paving Company 👔	First Offer - \$20.00	500 / linear foot	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
EMC SERVICES LLC	First Offer - \$24.00	500 / linear foot	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Silver Star Construction Company 🙀	First Offer - \$37.00	500 / linear foot	\$18,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
C-P Integrated Services 🙀	First Offer - \$46.00	500 / linear foot	\$23,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$55.00	500 / linear foot	\$27,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PM-030701-108 BASE BID: 826-09 NON-PERFORAT	ED PIPE UNDERDRAIN	(6 INCH)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co. 👔	First Offer - \$15.00	500 / linear foot	\$7,500.00		Y
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$18.00	500 / linear foot	\$9,000.00		Y
Product Code: Agency Notes:	- -	Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$20.00	500 / linear foot	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$24.00	500 / linear foot	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 🧕	First Offer - \$37.00	500 / linear foot	\$18,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$40.00	500 / linear foot	\$20,000.00		Y
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$55.00	500 / linear foot	\$27,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-0307--01-109 BASE BID: 828-08 FENCE 4 FT. CHAIN LINK (COMPLETE IN PLACE)

bid #PM-0307 - Concrete
Streets and Sidewalks

ets and Sidewalks	its Trusts					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$34.00	100 / linear foot	\$3,400.00		Y	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$40.00	100 / linear foot	\$4,000.00		Y	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$60.00	100 / linear foot	\$6,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				
C-P Integrated Services 🙀	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				

PM-030701-110 BASE BID: 830-01 TACTILE MARKE	RS/TRUNCATED DOME	S			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 🙀	First Offer - \$26.00	1600 / square foot	\$41,600.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$30.00	1600 / square foot	\$48,000.00		Y
		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$32.00	1600 / square foot	\$51,200.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$35.00	1600 / square foot	\$56,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$35.00	1600 / square foot	\$56,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$40.00	1600 / square foot	\$64,000.00		Y
		Supplier Product Code: Supplier Notes:	I		
C-P Integrated Services	First Offer - \$61.00	1600 / square foot	\$97,600.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	I		

PM-030701-111 BASE BID: 830-02 ADA CURB RAMP (6 INCH)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C-P Integrated Services 👔	First Offer - \$80.00	500 / square yard	\$40,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
	1 1	1	1				

#PM-0307 - Concrete eets and Sidewalks	City of Oklahoma C its Trusts	City and		
EMC SERVICES LLC	First Offer - \$96.00	500 / square yard	\$48,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Atlas Paving Company 👔	First Offer - \$110.00	500 / square yard	\$55,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	I	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$110.00	500 / square yard	\$55,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		I
Rudy Construction Co. 👔	First Offer - \$130.00	500 / square yard	\$65,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Silver Star Construction Company 🙀	First Offer - \$134.00	500 / square yard	\$67,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	·	·
T.J. Campbell Construction Co.	First Offer - \$180.00	500 / square yard	\$90,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

PM-030701-112 BASE BID: 830-09 ADA CURB RAM	IP (8 INCH)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
C-P Integrated Services 🙀	First Offer - \$88.00	300 / square yard	\$26,400.00		Y	
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$105.00	300 / square yard	\$31,500.00		Y	
		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 🧕	First Offer - \$120.00	300 / square yard	\$36,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$125.00	300 / square yard	\$37,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$135.00	300 / square yard	\$40,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$150.00	300 / square yard	\$45,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$215.00	300 / square yard	\$64,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PM-030701-113 BASE BID: 840-00 SOLID SLAB SODDING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$3.00	10000 / square yard	\$30,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co. 👔	First Offer - \$3.50	10000 / square yard	\$35,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
C-P Integrated Services 🙀	First Offer - \$3.98	10000 / square yard	\$39,800.00		Y		

bid #PM-0307 - Concrete
Streets and Sidewalks

ets and Sidewalks	its Trust	5		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Silver Star Construction Company 👔	First Offer - \$4.00	10000 / square yard	\$40,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
EMC SERVICES LLC	First Offer - \$4.00	10000 / square yard	\$40,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5.25	10000 / square yard	\$52,500.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$9.50	10000 / square yard	\$95,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

PM-030701-114 BASE BID: 843-16 TREE REMOV	AL ((OVER 3 INCHES TO 12 INC	HES CALIPER)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
C-P Integrated Services 🙀		First Offer - \$450.00	1 / each	\$450.00		Y	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
EMC SERVICES LLC		First Offer - \$900.00	1 / each	\$900.00		Y	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$1,190.00	1 / each	\$1,190.00		Y	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				
Rudy Construction Co. 👔		First Offer - \$1,200.00	1 / each	\$1,200.00		Y	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$1,200.00	1 / each	\$1,200.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Atlas Paving Company 👔		First Offer - \$1,500.00	1 / each	\$1,500.00		Y	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$4,500.00	1 / each	\$4,500.00		Y	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				

PM-030701-115 BASE BID: 843-17 TREE REMOVAL (OVER 12 INCHES CALIPER)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C-P Integrated Services 🙀	First Offer - \$750.00	1 / each	\$750.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
EMC SERVICES LLC	First Offer - \$1,100.00	1 / each	\$1,100.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co. 🙀	First Offer - \$2,000.00	1 / each	\$2,000.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2,000.00	1 / each	\$2,000.00		Y		
Product Code:		Supplier Product Co	ode:				

115 110515				
	Supplier Notes:			
First Offer - \$2,500.00	1 / each	\$2,500.00	Y	
	Supplier Product Co Supplier Notes:	ode:		
First Offer - \$5,000.00	1 / each	\$5,000.00	Y	
	Supplier Product Co	ode:		
	Supplier Notes:			
First Offer - \$5,000.00	1 / each	\$5,000.00	Y	
	Supplier Product Co	ode:		
	Supplier Notes:			
	First Offer - \$2,500.00	Supplier Notes: First Offer - \$2,500.00 1 / each Supplier Product Co Supplier Notes: Supplier Notes: First Offer - \$5,000.00 1 / each Supplier Product Co Supplier Notes: Supplier Product Co Supplier Notes: First Offer - \$5,000.00 1 / each First Offer - \$5,000.00 1 / each	Supplier Notes: First Offer - \$2,500.00 1 / each \$2,500.00 Supplier Product Code: Supplier Notes: First Offer - \$5,000.00 1 / each \$5,000.00 First Offer - \$5,000.00 1 / each \$5,000.00 Supplier Product Code: Supplier Notes: First Offer - \$5,000.00 1 / each \$5,000.00 First Offer - \$5,000.00 1 / each \$5,000.00 Supplier Product Code: Supplier Product Code:	Supplier Notes: First Offer - \$2,500.00 1 / each \$2,500.00 Y Supplier Product Code: Supplier Notes: Y First Offer - \$5,000.00 1 / each \$5,000.00 Y Supplier Product Code: Supplier Product Code: Y First Offer - \$5,000.00 1 / each \$5,000.00 Y First Offer - \$5,000.00 1 / each \$5,000.00 Y Supplier Product Code: Supplier Notes: Y Supplier Product Code: Supplier Notes: Y

PM-030701-116 BASE BID: 900-04 TRIANGULAR SILT DIKES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company 🙀	First Offer - \$9.00	100 / linear foot	\$900.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:					
Atlas Paving Company 🙀	First Offer - \$10.00	100 / linear foot	\$1,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:					
EMC SERVICES LLC	First Offer - \$10.00	100 / linear foot	\$1,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:					
T.J. Campbell Construction Co.	First Offer - \$14.00	100 / linear foot	\$1,400.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:					
C-P Integrated Services 👔	First Offer - \$16.75	100 / linear foot	\$1,675.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Rudy Construction Co. 🙀	First Offer - \$20.00	100 / linear foot	\$2,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:						

PM-030701-117 BASE BID: 900-09 ROCK BAG SILT FENCE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 🙀	First Offer - \$7.00	100 / linear foot	\$700.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$8.00	100 / linear foot	\$800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 🙀	First Offer - \$10.00	100 / linear foot	\$1,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services 👔	First Offer - \$13.50	100 / linear foot	\$1,350.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$15.00	100 / linear foot	\$1,500.00		Y
Product Code: Agency Notes:	1	Supplier Product Code Supplier Notes:	:		

印M-0307 - Concrete ets and Sidewalks	City of Oklahoma C its Trusts	ity and		
T.J. Campbell Construction Co.	First Offer - \$30.00	100 / linear foot	\$3,000.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$30.00	100 / linear foot	\$3,000.00	Y
Product Code:		Supplier Product Code	::	
Agency Notes:		Supplier Notes:		

PM-030701-118 BASE BID: 982-00 PIPERAIL (POW	/DE	R COATED STEEL) (3 IN	CH)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$95.00	100 / linear foot	\$9,500.00		Y
Product Code:			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$115.00	100 / linear foot	\$11,500.00		Y
Product Code:			Supplier Product Code	:		-
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 👔		First Offer - \$130.00	100 / linear foot	\$13,000.00		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$145.00	100 / linear foot	\$14,500.00		Y
Product Code:			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			
Atlas Paving Company 🙀		First Offer - \$150.00	100 / linear foot	\$15,000.00		Y
Product Code:			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$160.00	100 / linear foot	\$16,000.00		Y
Product Code:			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			
C-P Integrated Services 🙀		First Offer - \$268.00	100 / linear foot	\$26,800.00		Y
Product Code:			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			

PM-030701-119 BASE BID: 982-02 PEDESTRIAN H	HAN	DRAIL-OPTION 1 (POW	DER COATED STEEL) (1	.5 INCH)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$75.00	100 / linear foot	\$7,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		
Silver Star Construction Company 👔		First Offer - \$115.00	100 / linear foot	\$11,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		1
Rudy Construction Co. 👔		First Offer - \$115.00	100 / linear foot	\$11,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		
T.J. Campbell Construction Co.		First Offer - \$145.00	100 / linear foot	\$14,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		
Atlas Paving Company 👔		First Offer - \$150.00	100 / linear foot	\$15,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		1
SCHWARZ PAVING CO., INC. 👔		First Offer - \$175.00	100 / linear foot	\$17,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		
C-P Integrated Services 👔		First Offer - \$305.00	100 / linear foot	\$30,500.00		Y

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:

PM-030701-120 BASE BID: 982-03 PEDESTRIAN HA	ANC	RAIL-OPTION 2 (GAL)	ANIZED COATED STEEL	.) (1.5 INCH)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔		First Offer - \$74.00	100 / linear foot	\$7,400.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
EMC SERVICES LLC		First Offer - \$75.00	100 / linear foot	\$7,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
Rudy Construction Co. 👔		First Offer - \$115.00	100 / linear foot	\$11,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.		First Offer - \$145.00	100 / linear foot	\$14,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
Atlas Paving Company 👔		First Offer - \$150.00	100 / linear foot	\$15,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$175.00	100 / linear foot	\$17,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
C-P Integrated Services 🙀		First Offer - \$288.00	100 / linear foot	\$28,800.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		

PM-030701-121 BASE BID: 988-01 GEOTEXTILE SEP	ARATOR FABRIC FOR	BASES			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 🙀	First Offer - \$2.70	4000 / square yard	\$10,800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$2.75	4000 / square yard	\$11,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$3.00	4000 / square yard	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$3.00	4000 / square yard	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$3.50	4000 / square yard	\$14,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3.75	4000 / square yard	\$15,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$4.00	4000 / square yard	\$16,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-0307--01-122 BASE BID: SP IRRIGATION REPLACEMENT / REPAIR - 1/2"

bid #PM-0307 - Concrete	
Streets and Sidewalks	

City of Oklahoma City and

its Trusts				
Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Offer - \$13.50	50 / linear foot	\$675.00		Y
	Supplier Product Cod	e:		
	Supplier Notes:			
First Offer - \$20.00	50 / linear foot	\$1,000.00		Y
	Supplier Product Cod	e:		
	Supplier Notes:			
First Offer - \$20.00	50 / linear foot	\$1,000.00		Y
	Supplier Product Cod	e:		
	Supplier Notes:			
First Offer - \$38.00	50 / linear foot	\$1,900.00		Y
	Supplier Product Cod	e:		
	Supplier Notes:			
First Offer - \$40.00	50 / linear foot	\$2,000.00		Y
<u> </u>	Supplier Product Cod	e:		
	Supplier Notes:			
First Offer - \$50.00	50 / linear foot	\$2,500.00		Y
	Supplier Product Cod	e:		
	Supplier Notes:			
First Offer - \$65.00	50 / linear foot	\$3,250.00		Y
	Supplier Product Cod	e:		
	Supplier Notes:			
	Unit Price First Offer - \$13.50 First Offer - \$20.00 First Offer - \$38.00 First Offer - \$38.00 First Offer - \$30.00 First Offer - \$50.00	Unit Price Qty/Unit Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Supplier Notes: Image: Product Cod Supplier Notes: Supplier Product Cod Su	Unit PriceQty/UnitTotal PriceImage: Price Price Product Code: Supplier Notes: Supplier Notes:Supplier Notes: Supplier Notes:Image: Price Product Code: Supplier Notes: Supplier Notes:Supplier Product Code: Supplier Notes:Image: Price Product Code: Supplier Notes:Supplier Notes:Image: Price Product Code: Supplier Notes:Supplier Notes:Image: Product Code: Supplier Notes:Supplier Product Code: Supplier Notes:Image: Price Product Code: Supplier Notes:Supplier Notes:Image: Price Product Code: Supplier Notes:Supplier Notes:Image: Price Product Code: Supplier Notes:Supplier Notes:Image: Product C	Unit PriceQty/UnitTotal PriceAttch.First Offer - \$13.5050 / linear foot\$675.00\$675.00Supplier Product Code: Supplier Notes:\$1,000.00\$1First Offer - \$20.0050 / linear foot\$1,000.00\$1Supplier Product Code: Supplier Notes:\$1,000.00\$1First Offer - \$20.0050 / linear foot\$1,000.00\$1Supplier Product Code: Supplier Notes:\$0 / linear foot\$1,000.00\$1First Offer - \$20.0050 / linear foot\$1,000.00\$1Supplier Product Code: Supplier Notes:\$00 / linear foot\$1,000.00\$1First Offer - \$38.0050 / linear foot\$1,900.00\$1Supplier Product Code: Supplier Notes:\$00 / linear foot\$1,000.00\$1First Offer - \$38.0050 / linear foot\$1,000.00\$2Supplier Product Code: Supplier Notes:\$00.00\$1\$1Supplier Product Code: Supplier Notes:\$00.00\$2,000.00\$1First Offer - \$50.0050 / linear foot\$2,500.00\$2First Offer - \$50.0050 / linear foot\$2,500.00\$2First Offer - \$65.0050 / linear foot\$3,250.00\$2First Offer - \$65.0050 / linear foot\$3,250.00\$3Supplier Product Code: Supplier Notes:\$3,250.00\$3\$3Supplier Product Code: Supplier Product Code:\$3\$3\$3Supplier Product Code:\$3\$3\$3\$3Supplier Product Co

PM-030701-123 BASE BID: SP IRRIGATION HEAD RE	PAIR / REPLACEMENT				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C-P Integrated Services 🙀	First Offer - \$75.00	1 / each	\$75.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$95.00	1 / each	\$95.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$125.00	1 / each	\$125.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 🙀	First Offer - \$200.00	1 / each	\$200.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
EMC SERVICES LLC	First Offer - \$250.00	1 / each	\$250.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 👔	First Offer - \$400.00	1 / each	\$400.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Atlas Paving Company 🙀	First Offer - \$500.00	1 / each	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PM-030701-124 BASE BID: 700-00 TRAFFIC CONTROL (4 LANE MILE SECTION)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀	First Offer - \$7,000.00	1 / lump sum	\$7,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
		1	1	1		

d #PM-0307 - Concrete treets and Sidewalks	City of Oklahoma City a its Trusts	and		
EMC SERVICES LLC	First Offer - \$15,400.00	1 / lump sum	\$15,400.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Rudy Construction Co. 👔	First Offer - \$16,000.00	1 / lump sum	\$16,000.00	Y
Product Code: Agency Notes:	·	Supplier Product Co Supplier Notes:	de:	I
SCHWARZ PAVING CO., INC. 👔	First Offer - \$16,500.00	1 / lump sum	\$16,500.00	Y
Product Code: Agency Notes:	1	Supplier Product Co Supplier Notes:	de:	
C-P Integrated Services 👔	First Offer - \$18,750.00	1 / lump sum	\$18,750.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
T.J. Campbell Construction Co.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Silver Star Construction Company 👔	First Offer - \$60,000.00	1 / lump sum	\$60,000.00	Y
Product Code: Agency Notes:	·	Supplier Product Co Supplier Notes:	ode:	

PM-030701-125 BASE BID: 700-00 TRAFFIC CONTR	OL (2 LANE MILE SECTION)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C-P Integrated Services 🙀	First Offer - \$1,275.00	1 / lump sum	\$1,275.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Atlas Paving Company 👔	First Offer - \$4,000.00	1 / lump sum	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
EMC SERVICES LLC	First Offer - \$10,450.00	1 / lump sum	\$10,450.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co. 👔	First Offer - \$11,000.00	1 / lump sum	\$11,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$13,000.00	1 / lump sum	\$13,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 👔	First Offer - \$42,000.00	1 / lump sum	\$42,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PM-030701-126 BASE BID: 700-00 TRAFFIC CONTROL (SIGNALIZED INTERSECTION)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀	First Offer - \$700.00	2 / each	\$1,400.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
EMC SERVICES LLC	First Offer - \$1,100.00	2 / each	\$2,200.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:	Supplier Notes:								
C-P Integrated Services 🙀	First Offer - \$1,350.00	2 / each	\$2,700.00		Y				

bid #PM-0307 - Concrete Streets and Sidewalks

City of Oklahoma City and its Trusts

its trusts				
		ode:		
First Offer - \$1,400.00	2 / each	\$2,800.00	Y	
	Supplier Product Co Supplier Notes:	ode:		
First Offer - \$1,500.00	2 / each	\$3,000.00	Y	
	Supplier Product Co Supplier Notes:	ode:		
First Offer - \$3,000.00	2 / each	\$6,000.00	Y	
	Supplier Product Co Supplier Notes:	ode:		
First Offer - \$10,000.00	2 / each	\$20,000.00	Y	
	Supplier Product Co Supplier Notes:	ode:		
	First Offer - \$1,400.00 First Offer - \$1,500.00 First Offer - \$3,000.00	Supplier Product Co First Offer - \$1,400.00 2 / each Supplier Product Co Supplier Product Co First Offer - \$1,500.00 2 / each First Offer - \$1,500.00 2 / each Supplier Product Co Supplier Product Co Supplier Product Co Supplier Product Co First Offer - \$3,000.00 2 / each First Offer - \$10,000.00 2 / each Supplier Product Co Supplier Product Co Supplier Notes: Supplier Product Co First Offer - \$10,000.00 2 / each	Supplier Product Code: Supplier Notes:First Offer - \$1,400.002 / each\$2,800.00Supplier Product Code: Supplier Notes:\$3,000.00First Offer - \$1,500.002 / each\$3,000.00First Offer - \$1,500.002 / each\$6,000.00First Offer - \$3,000.002 / each\$6,000.00First Offer - \$10,000.002 / each\$2,000.00First Offer - \$10,000.002 / each\$20,000.00First Offer - \$10,000.002 / each\$20,000.00	Supplier Product Cole: Supplier Notes:First Offer - \$1,400.002 / each\$2,800.00YSupplier Product Cole: Supplier Notes:First Offer - \$1,500.002 / each\$3,000.00YSupplier Product Cole: Supplier Notes:First Offer - \$3,000.002 / each\$6,000.00YSupplier Product Cole: Supplier Notes:First Offer - \$3,000.002 / each\$6,000.00YSupplier Product Cole: Supplier Notes:First Offer - \$10,000.002 / each\$6,000.00YFirst Offer - \$10,000.002 / each\$20,000.00Y

PM-030701-127 BASE BID: 700-00 TRAFFIC CONT	2M-0307–01-127 BASE BID: 700-00 TRAFFIC CONTROL (CHANGEABLE MESSAGE SIGNS)							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
EMC SERVICES LLC		First Offer - \$171.00	3 / day	\$513.00	Y	Y		
Product Code: Agency Notes:			Supplier Product Supplier Notes: B	Code: ND BOND ATTACHED TC	THIS PAY	ITEM.		
Silver Star Construction Company 👔	Т	First Offer - \$175.00	3 / day	\$525.00		Y		
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		<u></u>		
T.J. Campbell Construction Co.		First Offer - \$180.00	3 / day	\$540.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
C-P Integrated Services 👔		First Offer - \$225.00	3 / day	\$675.00		Y		
Product Code: Agency Notes:		1	Supplier Product Supplier Notes:	Code:		<u></u>		
Rudy Construction Co. 🧕		First Offer - \$350.00	3 / day	\$1,050.00		Y		
Product Code: Agency Notes:		1	Supplier Product Supplier Notes:	Code:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$750.00	3 / day	\$2,250.00		Y		
Product Code: Agency Notes:		1	Supplier Product Supplier Notes:	Code:				
Atlas Paving Company 👔		First Offer - \$1,000.00	3 / day	\$3,000.00		Y		
Product Code: Agency Notes:		1	Supplier Product Supplier Notes:	Code:				

Supplier Totals

f EMC SERVIC	F EMC SERVICES LLC \$4,565,647.50 (127/127 items)						
Bid Contact	Saul Elizondo emcservicesllc16@gmail.com Ph 405-605-8131	Address 1400 SW 56th ST Oklahoma City , OK 73119					
Qualifications	OKC PRE-QUALIFIED CONTRACTORS						
Bid Notes	BID BOND ATTACHED TO THE LAST PAY ITEM PM-0307-01-127	,					
Agency Notes		Supplier Notes: BID BOND ATTACHED TO THE LAST PAY ITEM PM-0307-01-127	Head Attch:				

f Atlas Paving	gCompany	\$4,728,400.00 (127/127 items)	
Bid Contact	Carol McCoin cmccoin@atlaspavingok.com Ph 405-947-2381 Fax 405-947-3670	Address 3800 NW 8th Street Oklahoma City, OK 73107	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	👔 (Status: Authorized on Jan 29, 2024)		
Agency Notes		Supplier Notes:	Head Attch:
f Rudy Consti	ruction Co.	\$4,876,120.00 (127/127 items)	
Bid Contact	Doug Walker ppratt@rudycc.com Ph 405-478-9900	Address 3101 NE 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	👔 (Status: Authorized on Jan 30, 2024)		
Agency Notes:		Supplier Notes:	Head Attch:
f SCHWARZ P	AVING CO., INC.	\$5,298,625.00 (127/127 items)	
Bid Contact	BRIAN SCHWARZ BRIAN.SCHWARZ@SCHWARZPAVING.COM Ph 405-789-7203	Address 8251 WEST RENO AVE OKLAHOMA CITY, OK 73127	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	👔 (Status: Authorized on Jan 30, 2024)		
Agency Notes		Supplier Notes:	Head Attch: 🔊
f C-P Integrat	ed Services	\$5,491,877.50 (127/127 items)
Bid Contact	Durinda Fisher dfisher@cpiokc.com Ph 405-732-0532	Address 3007 NW 63rd Street, Ste 205 Oklahoma City, OK 73116	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	👔 (Status: Authorized on Jan 31, 2024)		
Agency Notes		Supplier Notes:	Head Attch: 🕖
f T.J. Campbe	ll Construction Co.	\$5,721,435.00 (127/127 items)	
Bid Contact	Donnie Dorn TJCESTIMATING@TJCAMPBELL.COM Ph 405-672-6768 Fax 405-513-6786	Address PO Box 3788 Edmond, OK 73083	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes: H	ead Attch:
f Silver Star C	onstruction Company	\$7,359,000.00 (127/127 items)	
Bid Contact	Amber Harris tim@silverstarconst.com Ph 405-793-1725	Address 2401 S Broadway Moore, OK 73160	

Qualifications	CS ARCH ENG	OKC PRE-QUALIFIED CONTRACTORS
Quantications	COARCHENG	ONCI NE QUALITIED CONTINACTORS

Agency Notes:

Supplier Notes:

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

bid #25500 - Fire Apparatus and Fire Hose Third Party Testing

Creatio	n Date Dec 27, 2023	End Date Jan 31	I, 2024 10:00	:00 AM CST	
Start Da	ate Jan 10, 2024 7:44:51 AM CST	Awarded Date Not Yet Awarded			
Mistra	is Group			\$2,110.38 (14/14 items)	
Bid Co	ntact Jonathon Larner jonathon.larner@mistrasgroup.com Ph 740-788-9188	Address 1480 James Parkway Heath, OH 43056			
Agency	Notes:	Supplier Notes:			
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25500- 01-01	Annual Pump Third Party Testing: Pump Testing - First Offer	\$300.00	1 / each	\$300.00	
Produc Agency		Supplier Product Code: Supplier Notes:			
				Lot Total: \$300.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25500- 02-01	- Annual Aerial Device Third Party Testing: Initial Test Per Unit First Offer		1 / each	\$900.00	
Produc Agency		Supplier Product Code: Supplier Notes:	·		
25500- 02-02	Annual Aerial Device Third Party Testing: Repeat Test Per Unit (if applicable) - First Offer		1 / each	\$900.00	
Produc Agency		Supplier Product Code: Supplier Notes: \$900.00 fc hour not to exceed \$900.00		partials are done at \$105.00 per	
25500- 02-03	Annual Aerial Device Third Party Testing: Heat Sensors Installed - First Offer		1 / each	\$2.50	
Produc Agency		Supplier Product Code: Supplier Notes:			
				Lot Total: \$1,802.50	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25500- 03-01	Annual Ground Ladder Third Party Testing: Ground Ladder Testing NDT (Nondestructive Test) - First Offer		1 / foot	\$2.50	
Produc Agency		Supplier Product Code: Supplier Notes:			
25500- 03-02	Annual Ground Ladder Third Party Testing: Heat Sensors Installed - First Offer		1 / each	\$2.50	
Produc Agency		Supplier Product Code: Supplier Notes:			
25500- 03-03	Annual Ground Ladder Third Party Testing: Ladder Positioning Labels - First Offer		1 / each	\$2.50	

Supplier Product Code:

Product Code:

		1	
Ager	ICV N	lotes	•

gency Notes:	Supplier Notes:			
			Lot Total: \$7.50	
tem Line Item	Unit Price	Qty/Unit	Total Price	
25500- Fire Hose Third Party Testing: Fire Hose Third Party Testin 4-01	-	1 / foot	\$0.38	
roduct Code: gency Notes:	Supplier Product Code: Supplier Notes:	1		
25500- Fire Hose Third Party Testing: Estimate hours each apparat 4-02 will be out of service - First Off		1 / hour		
roduct Code: gency Notes:	Supplier Product Code: Supplier Notes:			
25500- Fire Hose Third Party Testing: Number of days for completion 4-03 of all hose to be tested - First Off		1 / day		
roduct Code: gency Notes:	Supplier Product Code: Supplier Notes:	1		
			Lot Total: \$0.38	
tem Line Item	Unit Price	Qty/Unit	Total Price	
25500- Attachment: Exceptions - First Off 5-01	er	1 / each		
roduct Code: gency Notes:	Supplier Product Code: Supplier Notes:	1		
25500-Attachment: Licenses, Accreditations, Certification5-02Qualifications - First Off		1 / each		
roduct Code: gency Notes:	Supplier Product Code: Supplier Notes: 28 In-field Technicians, 9 of which are Level II NDT technicians for VT,MT,PT, and UTT			
			Lot Total: \$0.00	
tem Line Item	Unit Price	Qty/Unit	Total Price	
25500- References: References - First Off 6-01	er	1 / each		
roduct Code: gency Notes:	Supplier Product Code: Supplier Notes:			
			Lot Total: \$0.00	
tem Line Item	Unit Price	Qty/Unit	Total Price	
25500- W-9: W-9 - First Off 7-01	er	1 / each		
roduct Code: gency Notes:	Supplier Product Code: Supplier Notes:			
			Lot Total: \$0.00	

Sharp	Testing Services, Inc.			\$6.00	(10/14 items)
Bid Contact Stephen SharpAddress 9506 Miller Rdstephen@sharptesting.comMagnolia, TX 77354Ph 281-356-1235Contact Stephen			7354		
Agency	Notes:	Supplier Notes:			
ltem #	Line Item	Unit Price	Qty/Unit		Total Price
25500-	Annual Pump Third Party Testing: Pump Testing			· · · · · · · · · · · · · · · · · · ·	No Bids

1 110 11030	e finituriality ite				
01-01					
Agency	Notes:	Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25500- 02-01	Annual Aerial Device Third Party Testing: Initial Test Per Unit			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
25500- 02-02	Annual Aerial Device Third Party Testing: Repeat Test Per Unit (if applicable)			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
25500- 02-03	Annual Aerial Device Third Party Testing: Heat Sensors Installed			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
		1	1	Lot Total: \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25500- 03-01	Annual Ground Ladder Third Party Testing: Ground Ladder Testing NDT (Nondestructive Test) - First Offer		1 / foot	\$2.00	
Product Agency		Supplier Product Code: Supplier Notes: Unit Price is \$2.00 per foot. Unsure if this is the ground ladders on the Aerial device(s)			
25500- 03-02	Annual Ground Ladder Third Party Testing: Heat Sensors Installed - First Offer		1 / each	\$2.00	
Product Agency		Supplier Product Code: Supplier Notes: Heat Sensors are installed a	as needed. (4 p	er section) @ 2.00 per sensor.	
25500- 03-03	Annual Ground Ladder Third Party Testing: Ladder Positioning Labels - First Offer		1 / each	\$2.00	
Product Agency		Supplier Product Code: Supplier Notes: Unit price is \$2.00 per foot.	Total price is a	pprox \$8000.00.	
				Lot Total: \$6.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25500- 04-01	- Fire Hose Third Party Testing: Fire Hose Third Party Testing First Offer	\$0.00	1 / foot	\$0.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Unit price is \$.27 cents per f	foot. Total esti	nates price is \$37800.00	
25500- 04-02	Fire Hose Third Party Testing: Estimate hours each apparatus will be out of service - First Offer		1 / hour		

25500 - I Fire Hose		lahoma City and s Trusts		
Product Agency				time is 2-3 hours per apparatus. Dur goal is 4 apparatus per day.
25500- 04-03	Fire Hose Third Party Testing: Number of days for completion of all hose to be tested - First Offe		1 / day	
Product Agency		Supplier Product Code: Supplier Notes: 14-16 days with one crew d more crews across the test		veather and setup. We can assigr eded.
ltem			05.//	Lot Total: \$0.00
#	Line Item	Unit Price	Qty/Unit	Total Price
25500- 05-01	Attachment: Exceptions - First Offe	-	1 / each	
Product Agency		Supplier Product Code: Supplier Notes: N/A		
25500- 05-02	Attachment: Licenses, Accreditations, Certifications Qualifications - First Offe		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: N/A	1	1
			-	Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25500- 06-01	References: References - First Offe	-	1 / each	
Product Agency		Supplier Product Code: Supplier Notes: Attached in the e-documen	ts	
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25500- 07-01	W-9: W-9 - First Offe		1 / each	
Produc Agency		Supplier Product Code: Supplier Notes:		•
		1 -		Lot Total: \$0.00

Tresha Williams	Angee Wagner	Janet McWilliams
City Clerk	Purchasing Agent	Auditor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #COTPA RFB 05-24 - Uniform Rental Services

Creation Date Nov 30, 2023		End Date	Jan 31, 2024 10:00:00 AM C	ST	
Start Date Dec 20, 2023 8:08:31 AM CST		Awarded Date	Not Yet Awarded		
COTPA RFB 05-24–01-01 Group 1,ENHANCHED V	Unit Price		MENS SIZE S-3XL Regular Total Price	Attch.	Docs
Supplier	Unit Price	Qty/Unit	No Bids	Attch.	Docs
Agency Product Code: Agency Notes:	1 1	Supplier Notes:		I	
		1			
COTPA RFB 05-24-01-02 Group 1,ENHANCHED V		HIRT: WITH STRIPING:	MENS SIZE 4XL-8XL Regular		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:	•	Supplier Notes:			
COTPA RFB 05-24-01-03 Group 1,ENHANCHED V	ISIBILITY WORK S	HIRT: WITH STRIPING:	MENS SIZE M-3XL Tall		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
COTPA RFB 05-24-01-04 Group 1,ENHANCHED V		HIRT: WITH STRIPING:			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
Agency Notes.					
COTPA RFB 05-24–01-05 Group 1,ENHANCHED V	Unit Price		Total Price	Attch.	Docs
Supplier	Unit Price	Qty/Unit	No Bids	Attch.	DOCS
Agency Product Code:		Supplier Notes:			
Agency Notes:		Supplier Hotes.			
COTPA RFB 05-24-01-06 Group 1,ENHANCHED V		HIRT: WITH STRIPING:	WOMENS SIZES MISSES PETIT	E 2MP-16MP	,
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code:		Supplier Notes:			
Agency Notes:					
COTPA RFB 05-24-01-07 Group 1,ENHANCHED V	ISIBILITY WORK S		JUNIOR SIZES 5-15		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
COTPA RFB 05-24-01-08 Group 1,ENHANCHED V	ISIBILITY WORK S	HIRT: WITH STRIPING:	JUNIOR PETITE 3JP-13JP		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
		1	No Bids		

COTPA RFB 05-24-02-01 Group 2, ENHANCED VISIBILITY WORK PANT: WITH STRIPING: MENS SIZE 26-58 EVEN SIZES										
Supplier	Unit Price		Qty/Unit	Total Price	Attch.	Docs				
				No Bids						
Agency Product Code:		Supplier Notes:								
Agency Notes:										

COTPA RFB 05-24-02-02 Group 2, ENHANCED VISIBILITY WORK PANT: WITH STRIPING: WOMENS SIZES MISSES 2-20,									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
			No Bids						
Agency Product Code:		Supplier Notes:							
Agency Notes:									

COTPA RFB 05-24-02-03 Group 2, ENHANCED VISIBILITY WORK PANT: WITH STRIPING: WOMENS SIZES MISSES PETITE 2MP-16MP										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
			No Bids							
Agency Product Code:		Supplier Notes:								
Agency Notes:										

COTPA RFB 05-24-02-04 Group 2, ENHANCED VISIBILITY WORK PANT: WITH STRIPING: JUNIOR SIZES 5-15									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
			No Bids						
Agency Product Code:		Supplier Notes:							
Agency Notes:									

COTPA RFB 05-24-02-05 Group 2, ENHANCED VISIBILITY WORK PANT: WITH STRIPING: JUNIOR PETITE 3JP-13JP									
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs				
			No Bids						
Agency Product Code: Agency Notes:		Supplier Notes:							

COTPA RFB 05-24-03-01 Group 3, FIRE RETARDANT (FR) WORK SHIRT WITH STRIPING: MENS SIZE S-3XL Regular										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
			No Bids							
Agency Product Code:		Supplier Notes:								
Agency Notes:										

COTPA RFB 05-24-03-02 Group 3, FIRE RETARDANT (FR) WORK SHIRT WITH STRIPING: MENS SIZE 4XL-8XL Regular										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
			No Bids							
Agency Product Code:		Supplier Notes:								
Agency Notes:										

COTPA RFB 05-24-03-03 Group 3, FIRE RETARDANT (FR) WORK SHIRT WITH STRIPING: MENS SIZE M-3XL Tail										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
			No Bids							
Agency Product Code: Agency Notes:		Supplier Notes:								

COTPA RFB 05-24-03-04 Group 3, FIRE RETARDANT (FR) WORK SHIRT WITH STRIPING: MENS SIZE 4XL-8XL Tall							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		

			No Bids	
Agency Product Code:		Supplier Notes:		
Agency Notes:				

COTPA RFB 05-24-03-05 Group 3, FIRE RETARDANT (FR) WORK SHIRT WITH STRIPING: WOMENS SIZES MISSES 2-20,									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
			No Bids						
Agency Product Code:		Supplier Notes:							
Agency Notes:									

COTPA RFB 05-24-03-06 Group 3, FIRE RETARDANT (FR) WORK SHIRT WITH STRIPING: WOMENS SIZES MISSES PETITE 2MP-16MP									
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs				
			No Bids						
Agency Product Code: Agency Notes:		Supplier Notes:							

COTPA RFB 05-24-03-07 Group 3, FIRE RETARDANT (FR) WORK SHIRT WITH STRIPING: JUNIOR SIZES 5-15									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
			No Bids						
Agency Product Code:		Supplier Notes:							
Agency Notes:									

COTPA RFB 05-24-03-08 Group 3, FIRE RETARDANT (FR) WORK SHIRT WITH STRIPING: JUNIOR PETITE 3JP-13JP									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
			No Bids						
Agency Product Code:		Supplier Notes:							
Agency Notes:									

COTPA RFB 05-24-04-01 Group 4, FIRE RETARDANT (FR) WORK PANT WITH STRIPING: MENS SIZE 26-58 EVEN SIZES									
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs				
			No Bids						
Agency Product Code:		Supplier Notes:							
Agency Notes:									

COTPA RFB 05-24-04-02 Group 4, FIRE RETARDANT (FR) WORK PANT WITH STRIPING: WOMENS SIZES MISSES 2-20,									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
			No Bids						
Agency Product Code:		Supplier Notes:			-				
Agency Notes:									

COTPA RFB 05-24-04-03 Group 4, FIRE RETARDANT (FR) WORK PANT WITH STRIPING: WOMENS SIZES MISSES PETITE 2MP-16MP								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
			No Bids					
Agency Product Code: Agency Notes:		Supplier Notes:						

COTPA RFB 05-24-04-04 Group 4, FIRE RETARDANT (FR) WORK PANT WITH STRIPING: JUNIOR SIZES 5-15									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
			No Bids						
Agency Product Code:		Supplier Notes:							
Agency Notes:									

COTPA RFB 05-24-04-05 Group 4, FIRE RETARDANT (FR) WORK PANT WITH STRIPING: JUNIOR PETITE 3JP-13JP

Supplier	Ur	nit Price	Qty/Unit	Total Price	Attch.	Docs
				No Bids		
Agency Product Code:			Supplier Notes:			
Agency Notes:						

COTPA RFB 05-24–05-01 Group 5, HEAVY DUTY ALL WEATHER COAT:WITH STRIPING: SIZES S-3XL									
Supplier	Unit Pi	ce Qty/Unit	Total Price	Attch.	Docs				
			No Bids						
Agency Product Code:		Supplier Notes:							
Agency Notes:									

COTPA RFB 05-24–05-02 Group 5, HEAVY DUTY ALL WEATHER COAT:WITH STRIPING: SIZES 4XL-8XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
			No Bids						
Agency Product Code:		Supplier Notes:							
Agency Notes:									

COTPA RFB 05-24-05-03 Group 5, HEAVY DUTY ALL WEATHER COAT:WITH STRIPING: SIZES M-3XL Tall										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
			No Bids							
Agency Product Code:		Supplier Notes:								
Agency Notes:										

COTPA RFB 05-24-05-04 Group 5, HEAVY DUTY ALL WEATHER COAT:WITH STRIPING: SIZES 4XL-8XL Tail											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
			No Bids								
Agency Product Code: Agency Notes:		Supplier Notes:									

COTPA RFB 05-24–06-01 Group 6, MEDIUM WEIGHT ALL WEATHER JACKET: WITH STRIPING: SIZES S-3XL											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
			No Bids								
Agency Product Code:		Supplier Notes:									
Agency Notes:											

COTPA RFB 05-24–06-02 Group 6, MEDIUM WEIGHT ALL WEATHER JACKET: WITH STRIPING: SIZES 4XL-8XL											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
			No Bids								
Agency Product Code:		Supplier Notes:									
Agency Notes:											

COTPA RFB 05-24-06-03 Group 6, MEDIUM WEIGHT ALL WEATHER JACKET: WITH STRIPING: SIZES M-3XL Tall											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
			No Bids								
Agency Product Code:		Supplier Notes:									
Agency Notes:											

COTPA RFB 05-24-06-04 Group 6, MEDIUM WEIGHT ALL WEATHER JACKET: WITH STRIPING: SIZES 4XL-8XL Tall											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
			No Bids								
Agency Product Code:		Supplier Notes:									
Agency Notes:											

COTPA RFB 05-24-07-01 Group 7, HEAVY DUTY B	B COVERALL:WI	TH STRIPING: SIZES S-3XL			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
COTPA RFB 05-24-07-02 Group 7, HEAVY DUTY B	IB COVERALL:WI	TH STRIPING: SIZES 4XL-8	XL		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
COTPA RFB 05-24-07-03 Group 7, HEAVY DUTY B	IB COVERALL:WI	TH STRIPING: SIZES M-3XI	L Ta l		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
COTPA RFB 05-24-07-04 Group 7, HEAVY DUTY B	1		1	م ند م	Dect
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
COTPA RFB 05-24–08-01 Group 8, Direct ItemsPu	1				-
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Agency Product Code: Agency Notes:		Supplier Notes:	No Bids		
		1	-		
COTPA RFB 05-24–08-02 Group 8, Direct ItemsPu	rchase , OXFORD	SHIRT: MEN SIZES 4XL-8	XL		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
COTPA RFB 05-24-08-03 Group 8, Direct ItemsPu	rchase , OXFORI	SHIRT: WOMEN SIZES S-	3XL		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
COTPA RFB 05-24–08-04 Group 8, Direct ItemsPu	1		1		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code:		Supplier Notes:			
Agency Notes:					
COTPA RFB 05-24-09-01 Group 9, Direct ItemsPu	Irchase . POLO SI	IRT WITH COLLAR: SIZES	S-3XL		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code:		Supplier Notes:			
Agency Notes:]		

Supplier	· · · · · · · · · · · · ·		IXL-8XL		
	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
COTPA RFB 05-24-10-01 Group 10, D	irect ItemsPurchase . HEAVY	WEIGHT SHORT SLEEVE PO	CKET T-SHIRT: SIZES S-3XL		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
COTPA RFB 05-24-10-02 Group 10, D	irect ItemsPurchase , HEAVY	WEIGHT SHORT SLEEVE PO	CKET T-SHIRT: SIZES 4XL-8	XL	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
COTPA RFB 05-24-11-01 Group 11, D	irect ItemsPurchase , WORK	PANTS: MENS WAIST SIZE	28-56- INSEAM 28-40		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code: Agency Notes:		Supplier Notes:			
COTPA RFB 05-24-11-02 Group 11, D	irect ItemsPurchase , WORK	PANTS: WOMENS WAIST S	IZE 28-56 - INSEAM 28-40		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Agency Product Code:		Supplier Notes:	No Bids		
Agency Product Code: Agency Notes:			No Bids		
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S		NCHES BY 10 INCHES			
Agency Product Code: Agency Notes:	HOP TOWELS/SWIP RAGS: 8 II Unit Price	NCHES BY 10 INCHES	Total Price	Attch.	Docs
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S Supplier		NCHES BY 10 INCHES Qty/Unit		Attch.	Docs
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S		NCHES BY 10 INCHES	Total Price	Attch.	Docs
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S Supplier Agency Product Code: Agency Notes:	Unit Price	NCHES BY 10 INCHES Qty/Unit Supplier Notes:	Total Price No Bids		Docs
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S Supplier Agency Product Code: Agency Notes: COTPA RFB 05-24–12-02 Group 12, S	Unit Price	NCHES BY 10 INCHES Qty/Unit Supplier Notes: UNDRY BAG FOR TRANSPO	Total Price No Bids		Docs
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S Supplier Agency Product Code: Agency Notes:	Unit Price	NCHES BY 10 INCHES Qty/Unit Supplier Notes:	Total Price No Bids DRT OF TOWLES AND RAGS	5	
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S Supplier Agency Product Code: Agency Notes: COTPA RFB 05-24–12-02 Group 12, S Supplier Agency Product Code:	Unit Price	NCHES BY 10 INCHES Qty/Unit Supplier Notes: UNDRY BAG FOR TRANSPO	Total Price No Bids ORT OF TOWLES AND RAGS Total Price	5	
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S Supplier Agency Product Code: Agency Notes: COTPA RFB 05-24–12-02 Group 12, S Supplier Agency Product Code:	Unit Price	NCHES BY 10 INCHES Qty/Unit Supplier Notes: UNDRY BAG FOR TRANSPO Qty/Unit Supplier Notes:	Total Price No Bids ORT OF TOWLES AND RAGS Total Price	5	
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S Supplier Agency Product Code: Agency Notes: COTPA RFB 05-24–12-02 Group 12, S Supplier Agency Product Code: Agency Product Code: Agency Notes:	Unit Price	NCHES BY 10 INCHES Qty/Unit Supplier Notes: UNDRY BAG FOR TRANSPO Qty/Unit Supplier Notes:	Total Price No Bids ORT OF TOWLES AND RAGS Total Price	5	
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S Supplier Agency Product Code: Agency Notes: COTPA RFB 05-24–12-02 Group 12, S Supplier Agency Product Code: Agency Product Code: Agency Notes: COTPA RFB 05-24–13-01 Groupd 13,	Unit Price	NCHES BY 10 INCHES Qty/Unit Supplier Notes: UNDRY BAG FOR TRANSPO Qty/Unit Supplier Notes: Size SAFETY MAT	Total Price No Bids ORT OF TOWLES AND RAGS Total Price No Bids	S Attch.	Docs
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S Supplier Agency Product Code: Agency Notes: COTPA RFB 05-24–12-02 Group 12, S Supplier Agency Product Code: Agency Notes: COTPA RFB 05-24–13-01 Groupd 13, Supplier Agency Product Code:	Unit Price	NCHES BY 10 INCHES Qty/Unit Supplier Notes: UNDRY BAG FOR TRANSPO Qty/Unit Supplier Notes: Size SAFETY MAT	Total Price No Bids ORT OF TOWLES AND RAGS Total Price No Bids Total Price	S Attch.	Docs
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S Supplier Agency Product Code: Agency Notes: COTPA RFB 05-24–12-02 Group 12, S Supplier Agency Product Code: Agency Notes: COTPA RFB 05-24–13-01 Groupd 13, Supplier Agency Product Code: Agency Product Code: Agency Notes:	Unit Price	NCHES BY 10 INCHES Qty/Unit Supplier Notes: UNDRY BAG FOR TRANSPO Qty/Unit Supplier Notes: Size SAFETY MAT Qty/Unit Supplier Notes:	Total Price No Bids ORT OF TOWLES AND RAGS Total Price No Bids Total Price	S Attch.	Docs
Agency Product Code: Agency Notes: COTPA RFB 05-24–12-01 Group 12, S Supplier Agency Product Code: Agency Notes: COTPA RFB 05-24–12-02 Group 12, S Supplier Agency Product Code: Agency Product Code: Agency Notes: COTPA RFB 05-24–13-01 Groupd 13,	Unit Price	VCHES BY 10 INCHES Qty/Unit Supplier Notes: UNDRY BAG FOR TRANSPO Qty/Unit Supplier Notes: Size SAFETY MAT Qty/Unit Supplier Notes: Size SAFETY MAT Qty/Unit Supplier Notes: Supplier Notes: Vinyl Walk Off Mats	Total Price No Bids ORT OF TOWLES AND RAGS Total Price No Bids Total Price	S Attch.	Docs

Agency Notes:					
COTPA RFB 05-24-13-03 Groupd 13, SAFETY MAT	1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code:		Supplier Notes:			
Agency Notes:					
COTPA RFB 05-24-13-04 Groupd 13, SAFETY MAT	S: 3 feet X 5 feet	Vinvl Walk Off Mats			
Supplier	Unit Price		Total Price	Attch.	Docs
			No Bids	71000111	2002
Agency Product Code:		Supplier Notes:			
Agency Notes:		Supplier Notes.			
COTPA RFB 05-24-13-05 Groupd 13, SAFETY MAT	'S: 4 feet X 5 feet	Vinyl Walk Off Mats			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code:		Supplier Notes:			
Agency Notes:					
COTPA RFB 05-24-13-06 Groupd 13, SAFETY MAT	S: 4 feet X 6 feet	Vinvl Walk Off Mats			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
		Qui onic	No Bids	Accent	2003
Agangy Broduct Codes		Supplier Notes	NO DIUS		
Agency Product Code: Agency Notes:		Supplier Notes:			
Agency Notes.					
COTPA RFB 05-24-14-01 Group 14, Delivery: DEL	IVERY				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			No Bids		
Agency Product Code:		Supplier Notes:			
Agency Notes:					
COTPA RFB 05-24–15-01 Group 15, Patches, Logo	s Embroidon S	nvices: Patches/Logo			
	1		Total Price	Attab	Dece
Supplier	Unit Price	Qty/Unit		Attch.	Docs
			No Bids		
Agency Product Code:		Supplier Notes:			
Agency Notes:					

COTPA RFB 05-24–16-01 Group 16, Attachments: Website/Catalog											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
			No Bids								
Agency Product Code:		Supplier Notes:									
Agency Notes:											

COTPA RFB 05-24–16-02 Group 16, Attachments: Cleaning Process											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
			No Bids								
Agency Product Code: Agency Notes:		Supplier Notes:									

COTPA RFB 05-24–16-03 Group 16, Attachments: Inventory Procedure										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					

			No Bids	
Agency Product Code:		Supplier Notes:		
Agency Notes:				

COTPA RFB 05-24–16-04 Group 16, Attachments: FTA Clauses								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
			No Bids					
Agency Product Code:	Supplier Notes:			-				
Agency Notes:								

COTPA RFB 05-24–16-05 Group 16, Attachments: DBE Forms								
Supplier	Qty/Unit	Total Price	Attch.	Docs				
			No Bids					
Agency Product Code:		Supplier Notes:						
Agency Notes:								

COTPA RFB 05-24–16-06 Group 16, Attachments: W-9						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
			No Bids			
Agency Product Code:		Supplier Notes:				
Agency Notes:						

Tresha Williams	Angee Wagner	Janet McWilliams
City Clerk	Purchasing Agent	Auditor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

\$0.00 (104/104 items)

Bid #OCWUT 27-24 - Hydrants, Valves, Repair Kits, Valve Positioners, and Repair Parts/Services

Creation Date Dec 1, 2023

CORE & MAIN LP

Start Date Jan 3, 2024 7:35:09 AM CST

End DateJan 31, 2024 10:00:00 AM CSTAwarded DateNot Yet Awarded

Bid Contact Michael Beckham michael.beckham@coreandmain.com Ph 918-586-7100 Fax 918-586-7101		Address 14701 E 116th St N Owasso, OK 74055			
Agency I	Notes:	Supplier Notes:			
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 27-24- -01-01	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 3 foot - First Offer		1 / each	-54.50%	
Product Agency I		Supplier Product Code: Al Supplier Notes: YES MINUS PERCENT FROM LIS			
OCWUT 27-24- -01-02	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4 foot - First Offer		1 / each	-54.50%	
Product Agency I		Supplier Product Code: Al Supplier Notes: YES MINUS PERCENT FROM LIS			
OCWUT 27-24- -01-03	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4.5 foot - First Offer		1 / each	-54.50%	
Product Agency I		Supplier Product Code: Af Supplier Notes: YES MINUS PERCENT FROM LIS			
OCWUT 27-24- -01-04	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 5 foot - First Offer		1 / each	-54.50%	
Product Agency I		Supplier Product Code: Al Supplier Notes: YES MINUS PERCENT FROM LIS			

#OCWUT 2 rants. Valv		ahoma City and Trusts		
OCWUT 27-24-	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 6 foot - First Offer	-54.50%	1 / each	-54.50%
-01-05	-			
Product Agency N		Supplier Product Code: AF Supplier Notes: YES MINUS PERCENT FROM LIS		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -02-01	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 16 inch - First Offer	25.00%	1 / each	25.00%
Product Agency N		Supplier Product Code: VA Supplier Notes: YES ADD PERCENTAGE TO LIST		<u>, </u>
OCWUT 27-24- -02-02	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 18 inch - First Offer	25.00%	1 / each	25.00%
Product Agency N		Supplier Product Code: VA Supplier Notes: YES ADD PERCENT TO LIST PRIC		
OCWUT 27-24- -02-03	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 20 inch - First Offer	25.00%	1 / each	25.00%
Product Agency N		Supplier Product Code: VA Supplier Notes: YES ADD PERCENT TO LIST PRIC		
OCWUT 27-24- -02-04	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 24 inch - First Offer	25.00%	1 / each	25.00%
Product Agency N		Supplier Product Code: VA Supplier Notes: YES ADD PERCENT TO LIST PRIC		

rants, vaiv	es, Repair Its	Irusts		
OCWUT 27-24- -02-05	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 30 inch - First Offer		1 / each	25.00%
Product Agency N		Supplier Product Code: V/ Supplier Notes: YES ADD PERCENT TO LIST PRIC		
OCWUT 27-24- -02-06	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 36 inch - First Offer		1 / each	25.00%
Product Agency N		Supplier Product Code: VA Supplier Notes: YES ADD PERCENT TO LIST PRIC		
OCWUT 27-24- -02-07	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 48 inch - First Offer		1 / each	25.00%
Product (Agency N		Supplier Product Code: VALMATIC Supplier Notes: YES ADD PERCENT TO LIST PRICE		
OCWUT 27-24- -02-08	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 6 inch - 56 inch - First Offer		1 / each	25.00%
Product Agency N		Supplier Product Code: VA Supplier Notes: YES ADD PERCENT TO LIST PRIC		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -03-01	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 2 inch - First Offer		1 / each	-49.50%
Product Code: Supplier Product Code: AFC Agency Notes: Supplier Notes: YES MINUS PERCENT TO LIST PRICE				
OCWUT 27-24- -03-02	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 3 inch - First Offer		1 / each	-49.50%
Product Agency N		Supplier Product Code: AF Supplier Notes: YES MINUS PERCENT FROM LIS		
OCWUT 27-24-	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 4 inch - First Offer		1 / each	-49.50%

OCWUT		ahoma City and		
ants, Valv -03-03	es, Repair its	Trusts		
Product Agency I		Supplier Product Code: AFC Supplier Notes: YES MINUS PERCENT FROM LIST PRICE		
OCWUT 27-24- -03-04	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 6 inch - First Offer		1 / each	-49.50
Agency Notes:		Supplier Product Code: AFC Supplier Notes: YES MINUS PERCENT FROM LIST PRICE		
OCWUT 27-24- -03-05	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 10 inch - First Offer		1 / each	-49.50
Product Agency I		Supplier Product Code: Af Supplier Notes: YES MINUS PERCENT FROM LIS		
OCWUT 27-24- -03-06	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 12 inch - First Offer		1 / each	-49.50
Product Agency I		Supplier Product Code: AF Supplier Notes: YES MINUS PERCENT FROM LIS		
OCWUT 27-24- -03-07	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 14 inch - First Offer		1 / each	49.50
Product Agency I		Supplier Product Code: Af Supplier Notes: YES MINUS PERCENT FROM LIS		
OCWUT 27-24- -03-08	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 16 inch - First Offer		1 / each	-49.50
Product Agency I		Supplier Product Code: Af Supplier Notes: YES MINUS PERCENT FROM LIS		
OCWUT 27-24- -03-09	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 18 inch - First Offer		1 / each	-49.50
Product Agency I		Supplier Product Code: Af Supplier Notes: YES MINUS PERCENT FROM LIS		
OCWUT 27-24- -03-10	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 20 inch - 56 inch - First Offer		1 / each	-49.50
Product Agency I		Supplier Product Code: AF Supplier Notes: YES	FC	

MINUS PERCENET FROM LIST PRICE

				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -04-01	Group 4: Mechanical Joint Valves: ABZ Mastergear Valve Operators and Valves - First Offer	0.00%	1 / each	0.00%
Product Agency		Supplier Product Code: No Supplier Notes:	O BID	
OCWUT		-10.00%	1 / each	-10.00%
27-24- -04-02	Operators and Valves - First Offer	-10.00%	17 each	-10.00%
Agency Notes:		Supplier Product Code: GA Supplier Notes: YES MINUS PERCENT FROM LIS		
OCWUT 27-24- -04-03	Group 4: Mechanical Joint Valves: American Valves - First Offer	-49.50%	1 / each	-49.50%
Product Code: Agency Notes:		Supplier Product Code: AF Supplier Notes: YES MINUS PERCENT FROM LIS		
OCWUT 27-24- -04-04	Group 4: Mechanical Joint Valves: APCO Valves - First Offer	0.00%	1 / each	0.00%
Product Agency		Supplier Product Code: NO BID Supplier Notes:		
OCWUT 27-24- -04-05	Group 4: Mechanical Joint Valves: ARI - Air Relief Valves - First Offer	-15.00%	1 / each	-15.00%
Product Agency		Supplier Product Code: ARI Supplier Notes: YES MINUS PERCENT FROM LIST PRICE		
OCWUT 27-24- -04-06	Group 4: Mechanical Joint Valves: ASCO Valves - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Product Code: AS Supplier Notes: YES ADD PERCENT TO LIST PRIC		1
OCWUT 27-24- -04-07	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally closed - First Offer	20.00%	1 / each	20.00%
Product Agency		Supplier Product Code: AS Supplier Notes: YES https://www.valve-warehou ADD PERCENT TO LIST PRIC	ise.net/Downl	oads_ep_28.html

OCWUT 2 ants, Valve		ahoma City and Trusts			
OCWUT 27-24- -04-08	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally open - First Offer		1 / each	20.00%	
Agency Notes:		Supplier Product Code: ASCO Supplier Notes: YES ADD PERCENT TO LIST PRICE https://www.valve-warehouse.net/Downloads_ep_28.html			
OCWUT 27-24- -04-09	Group 4: Mechanical Joint Valves: ASCO: 3-way, 2 position - First Offer	20.00%	1 / each	20.00%	
Product C Agency N		Supplier Product Code: AS Supplier Notes: YES ADD PERCENT TO LIST PRIC			
OCWUT 27-24- -04-10	Group 4: Mechanical Joint Valves: ASCO: 4-way, 2 position - First Offer	0.00%	1 / each	0.00%	
Product (Agency N		Supplier Product Code: No Supplier Notes:) BID		
OCWUT 27-24- -04-11	Group 4: Mechanical Joint Valves: Auma valves and operators - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Code: NO BID Supplier Notes:			
OCWUT 27-24- -04-12	- Group 4: Mechanical Joint Valves: Bailey Valve Positioners First Offer	0.00%	1 / each	0.00%	
Product C Agency N		Supplier Product Code: No Supplier Notes:) BID		
OCWUT 27-24- -04-13	Group 4: Mechanical Joint Valves: Bermed Valve, Parts, and Controls - First Offer	0.00%	1 / each	0.00%	
Product (Agency N		Supplier Product Code: No Supplier Notes:) BID	1	
	Group 4: Mechanical Joint Valves: Chapman Valve Operators and Valves - First Offer	-43.50%	1 / each	-43.50%	
Product C Agency N		Supplier Product Code: AF Supplier Notes: YES MINUS PERCENT FROM LIST			
OCWUT 27-24- -04-15	Group 4: Mechanical Joint Valves: Check Valves 4 inch to 24 inch flanged - First Offer		1 / each	250.00%	
Product C Agency N		Supplier Product Code: CL Supplier Notes: YES ADD PERCENT TO LIST PRIC PRICE BOOK FROM 2016		·	

City of Oklahoma City and its Trusts

OCWUT 27-24- -04-16	- Group 4: Mechanical Joint Valves: Cla-val Altitude Valves First Offer	250.00%	1 / each	250.00%	
Product Agency N		Supplier Product Code: CLA-VAL Supplier Notes: YES CLA-VAL NO LONGER SUPPLYS LIST PRICING. PLEASE SEE LIST PRICING FROM 2016 ADD PERCENT TO LIST PRICE			
OCWUT 27-24- -04-17	Group 4: Mechanical Joint Valves: Cla-val Globe Valves - First Offer	250.00%	1 / each	250.00%	
Product (Agency N		Supplier Product Code: CL Supplier Notes: YES ADD PERCENT TO LIST PRIC			
OCWUT 27-24- -04-18	Group 4: Mechanical Joint Valves: Cla-val Pump Control Valves - Booster Type - First Offer		1 / each	250.00%	
Product Agency N		Supplier Product Code: CLA-VAL Supplier Notes: YES ADD PERCENT TO LIST PRICE -PRICE BOOK 2016			
OCWUT 27-24- -04-19	Group 4: Mechanical Joint Valves: Cla-val Pilot Valves, 4 inch to 12 inch - First Offer	250.00%	1 / each	250.00%	
Product (Agency N		Supplier Product Code: CAL-VAL Supplier Notes: YES ADD PERCENT TO LIST PRICE -PRICE BOOK 2016			
OCWUT 27-24- -04-20	Group 4: Mechanical Joint Valves: Cla-Val Replacement Parts/Kits - First Offer		1 / each	225.00%	
Product Agency N		Supplier Product Code: CLA-VAL Supplier Notes: YES ADD PERCENT TO LIST PRICE -PRICE BOOK 2016			
OCWUT 27-24- -04-21	Group 4: Mechanical Joint Valves: Cla-val Valves, Parts, and Controls - First Offer		1 / each	225.00%	
Product Agency N		Supplier Product Code: CL Supplier Notes: YES ADD PERCENT TO LIST PRIC		K 2016	

City of Oklahoma City and its Trusts

OCWUT 27-24- -04-22	Group 4: Mechanical Joint Valves: Cla-val Needle Valve Assemblies - First Offer	250.00%	1 / each	250.00%	
Product Agency I		Supplier Product Code: CL Supplier Notes: YES	A-VAL		
		ADD PERCENT TO LIST PRIC	e -Price Boo	К 2016	
OCWUT 27-24- -04-23	Group 4: Mechanical Joint Valves: Cla-val flow clean strainer, straight & angled, x47 model - First Offer	250.00%	1 / each	250.00%	
Product Agency I		Supplier Product Code: CL Supplier Notes: YES ADD PERCENT TO LIST PRIC		К 2016	
OCWUT 27-24- -04-24	Group 4: Mechanical Joint Valves: Cla-val model x105L, x105L2, limit switch assemblies - First Offer	250.00%	1 / each	250.00%	
Product Agency I		Supplier Product Code: CLA-VAL Supplier Notes: YES ADD PERCENT TO LIST PRICE -PRICE BOOK 2016			
OCWUT 27-24- -04-25	Group 4: Mechanical Joint Valves: Cla-val 3/8 inch to 24 inch pressure relief/control valves - First Offer	250.00%	1 / each	250.00%	
Product Agency I		Supplier Product Code: CLA-VAL Supplier Notes: YES ADD PERCENT TO LIST PRICE -PRICE BOOK 2016			
OCWUT 27-24- -04-26	Group 4: Mechanical Joint Valves: Cla-val solenoid control valves - First Offer	250.00%	1 / each	250.00%	
Product Agency I		Supplier Product Code: CLA-VAL Supplier Notes: YES			
		ADD PERCENT TO LIST PRIC	E -PRICE BOO	K 2016	
OCWUT 27-24- -04-27	Group 4: Mechanical Joint Valves: Clayton valve operators, positioners, and valves - First Offer	0.00%	1 / each	0.00%	
Product Agency N		Supplier Product Code: No Supplier Notes:	O BID		
OCWUT 27-24- -04-28	Group 4: Mechanical Joint Valves: Clow Valves - First Offer	0.00%	1 / each	0.00%	
Product Agency I		Supplier Product Code: No Supplier Notes:) BID		
OCWUT	Group 4: Mechanical Joint Valves: Clow Valves, 6 inch to 12		1 / each	0.00%	

		ahoma City and Trusts		
27-24-	es, Repair its inch, flanged - First Offer	1		
-04-29	inci, hangeu - hist onei			
Product Agency I		Supplier Product Code: N Supplier Notes:	O BID	
OCWUT 27-24- -04-30	Group 4: Mechanical Joint Valves: Crispen Valves - First Offer	-20.00%	1 / each	-20.00%
Product Agency I		Supplier Product Code: Cf Supplier Notes: YES MINUS PERCENT FROM LIS		
OCWUT 27-24- -04-31	Group 4: Mechanical Joint Valves: Darling gate valves 4 inch to 24 inch, flanged - First Offer		1 / each	-49.50%
Product Agency I		Supplier Product Code: Al Supplier Notes: YES MINUS PERCENET FROM LI		
OCWUT 27-24- -04-32	Group 4: Mechanical Joint Valves: Darling valve operators and valves - First Offer		1 / each	-15.00%
Product Agency I		Supplier Product Code: Al Supplier Notes: YES MINUS PERCENT FROM LIS		
OCWUT 27-24- -04-33	Group 4: Mechanical Joint Valves: DeZurik Valves - First Offer	0.00%	1 / each	0.00%
Product		Supplier Product Code: N	O BID	
Agency I OCWUT 27-24- -04-34			1 / each	0.00%
Product		Supplier Product Code: N Supplier Notes:	O BID	1
Agency I OCWUT 27-24- -04-35	Group 4: Mechanical Joint Valves: Golden Anderson Valves - First Offer	-20.00%	1 / each	-20.00%
Product Agency I		Supplier Product Code: G, Supplier Notes: YES https://gaindustries.com/ MINUS PERCENT FROM LIS		
OCWUT 27-24- -04-36	Group 4: Mechanical Joint Valves: Hydro Gate Valves - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: N Supplier Notes:	O BID	

#OCWUT 2 drants, Valv		ahoma City and Trusts		
OCWUT 27-24- -04-37	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: N Supplier Notes:	O BID	
OCWUT 27-24- -04-38	Group 4: Mechanical Joint Valves: Keystone valve operators and valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: N Supplier Notes:	O BID	1
OCWUT 27-24- -04-39	Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators - First Offer	0.00%	1 / each	0.00%
Product	Code:	Supplier Product Code: N	O BID	
Agency N		Supplier Notes:		
OCWUT 27-24- -04-40	Group 4: Mechanical Joint Valves: Kunkle Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: N Supplier Notes:	O BID	
OCWUT 27-24- -04-41	Group 4: Mechanical Joint Valves: Kytronics Valves Positioners - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: N Supplier Notes:	O BID	
OCWUT 27-24- -04-42	Group 4: Mechanical Joint Valves: Limitorque Valve Positioners - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: N Supplier Notes:	O BID	
OCWUT 27-24- -04-43	Group 4: Mechanical Joint Valves: Ludlow Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: N Supplier Notes:	O BID	
OCWUT 27-24- -04-44	Group 4: Mechanical Joint Valves: Mercoid: Pressure Adjustment Switches - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: N Supplier Notes:	O BID	
OCWUT 27-24- -04-45	- Group 4: Mechanical Joint Valves: Miller Valve Operators First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: N Supplier Notes:	O BID	
OCWUT 27-24- -04-46	- Group 4: Mechanical Joint Valves: Mueller Valve Operators First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: N Supplier Notes:	OBID	
OCWUT 27-24- -04-47	Group 4: Mechanical Joint Valves: Parker Hannifir Valve Operators - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: N Supplier Notes:	O BID	
OCWUT	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4		1 / each	0.00%

ants, Valves, Repair	ts Trusts
27-24- inch to 24 inch, flanged - First Offe -04-48	ir la
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:
OCWUTGroup 4: Mechanical Joint Valves: Pratt Butterfly Valves27-24-inch to 24 inch, non-flanged - First Offe-04-49-04-49	
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:
OCWUT Group 4: Mechanical Joint Valves: Pratt Valve Operators ar 27-24- -04-50	
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:
OCWUT Group 4: Mechanical Joint Valves: Rensselaer check valves 27-24- -04-51	6 0.00% 1 / each 0.00%
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:
OCWUT Group 4: Mechanical Joint Valves: Rodney Hunt Valves - Fir 27-24- -04-52	
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:
OCWUT Group 4: Mechanical Joint Valves: Ross Valves - First Offe 27-24- -04-53	or 0.00% 1 / each 0.00%
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:
OCWUT Group 4: Mechanical Joint Valves: Rototork: Valve Actuators 27-24- -04-54	- 0.00% 1/each 0.00%
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:
OCWUT Group 4: Mechanical Joint Valves: Sluce Gate Valves - Fir 27-24- -04-55	t 0.00% 1/each 0.00%
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:
OCWUT Group 4: Mechanical Joint Valves: Val-matic Valves - Fir 27-24- -04-56	t 25.00% 1 / each 25.00%
Product Code: Agency Notes:	Supplier Product Code: VALMATIC Supplier Notes: YES ADD PERCENT TO LIST PRICE
	ADD PERCENT TO LIST PRICE
OCWUT Group 4: Mechanical Joint Valves: Verse Valve Operators 27-24- -04-57	
Product Code: Agency Notes:	Supplier Product Code: NO BID Supplier Notes:
OCWUT Group 4: Mechanical Joint Valves: Xomox Valves - First Offe 27-24- -04-58	er 0.00% 1 / each 0.00%
Product Code:	Supplier Product Code: NO BID

Agency I	Notes:	Supplier Notes:			
		I		Lot Total: \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 27-24- -05-01	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-62 Repair Parts, Tools, and/or Accessories - First Offer		1 / each	-10.00%	
Product Agency I		Supplier Product Code: Af Supplier Notes: YES MINUS PERCENT FROM LIS			
OCWUT 27-24- -05-02	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-84 Repair Parts, Tools, and/or Accessories - First Offer		1 / each	-10.00%	
Product Agency I		Supplier Product Code: Af Supplier Notes: YES MINUS PERCENT FROM LIS			
OCWUT 27-24- -05-03	Group 5: Hydrant and Valve Repair Parts: American Darling Gate and Tapping Valve Repair Parts - First Offer		1 / each	-10.00%	
Product Agency I		Supplier Product Code: Af Supplier Notes: YES MINUS PERCENT FROM LIS			
OCWUT 27-24- -05-04	Group 5: Hydrant and Valve Repair Parts: Mueller A-423 Centurion Repair Parts, Tools, and Accessories - First Offer		1 / each	0.00%	
Product Agency I		Supplier Product Code: No Supplier Notes:	OBID		
OCWUT 27-24- -05-05	Group 5: Hydrant and Valve Repair Parts: Mueller Valve Operators, Gate, and Tapping Valves - First Offer	0.00%	1 / each	0.00%	
Product Agency I		Supplier Product Code: N Supplier Notes:	O BID		
OCWUT 27-24- -05-06		0.00%	1 / each	0.00%	
Product Agency I		Supplier Product Code: No Supplier Notes:	O BID		
OCWUT 27-24- -05-07	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Large Barrel Pre-1994 Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%	
Product Agency I		Supplier Product Code: No Supplier Notes:	O BID		
OCWUT 27-24- -05-08	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Small Barrel Pre-1994 Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%	
Product Agency I		Supplier Product Code: No Supplier Notes:	OBID		
OCWUT 27-24- -05-09	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Sentinel Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%	
Product	Code:	Supplier Product Code: N			

I

1/31/2024

City of Oklahoma City and its Trusts

	es, Repair Its	Irusts			
Agency N	Notes:	Supplier Notes:	1		
OCWUT 27-24- -05-10	Group 5: Hydrant and Valve Repair Parts: M&H 129 Reliant Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%	
Product Code: S		Supplier Product Code: NO BID Supplier Notes:			
OCWUT 27-24- -05-11	Group 5: Hydrant and Valve Repair Parts: M&H Gate and Tapping Valve Repair Parts - First Offer	0.00%	1 / each	0.00%	
Product	Code:	Supplier Product Code: N	O BID		
Agency N		Supplier Notes:			
OCWUT 27-24- -05-12	Group 5: Hydrant and Valve Repair Parts: Clow F2500 Repair Parts, Tools, and Accessories - First Offer	0.00%	1 / each	0.00%	
Product Agency N		Supplier Product Code: No Supplier Notes:	O BID		
Agency Notes: OCWUT Group 5: Hydrant and Valve Repair Parts: Clow Gate and 27-24- Tapping Valve Repair Parts, Tools, & Accessories - First Offer -05-13 -05-13		0.00%	1 / each	0.00%	
Product Agency N		Supplier Product Code: No Supplier Notes:	O BID		
OCWUT 27-24- -05-14	Group 5: Hydrant and Valve Repair Parts: Clow Medallion Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%	
		Supplier Product Code: NO BID Supplier Notes:			
OCWUT 27-24- -05-15	Group 5: Hydrant and Valve Repair Parts: Kennedy Gate and Tapping Valve Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%	
Product Code:		Supplier Product Code: No Supplier Notes:	O BID		
OCWUT 27-24- -05-16	Group 5: Hydrant and Valve Repair Parts: Kennedy K-81 Guardian Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%	
Product Agency N		Supplier Product Code: NO BID Supplier Notes:			
OCWUT 27-24- -05-17	Group 5: Hydrant and Valve Repair Parts: Pratt Butterfly Valves Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%	
Product	Code:	Supplier Product Code: NO BID			
Agency N	Notes:	Supplier Notes:	1		
OCWUT 27-24- -05-18	Group 5: Hydrant and Valve Repair Parts: Vertical shoe for hydrants - First Offer	0.00%	1 / each	0.00%	
Product		Supplier Product Code: NO BID			
Agency N		Supplier Notes:			
OCWUT 27-24- -05-19	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Watermaster 5CD250 Repair, parts, Tools, and/or Accessories - First Offer	0.00%	1 / each	0.00%	
Product Agency N		Supplier Product Code: No Supplier Notes:	O BID		
OCWUT 27-24- -05-20	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Flowmaster RW Repair, Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%	
Product Agency N	Code:	Supplier Product Code: No Supplier Notes:	O BID		

	ves, Repair its	Trusts		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -06-01	Group 6: Shop Labor: Shop Labor - First Offer	\$0.00	1 / hour	\$0.00
Product Agency N		Supplier Product Code: No Supplier Notes:) BID	
OCWUT 27-24- -06-02	Group 6: Shop Labor: Shop Labor - First Offer	\$0.00	1 / hour	\$0.00
Product		Supplier Product Code: No) D BID	
Agency M	Notes:	Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.00 Total Price
	Group 7: Federal Acquisition Regulations: Federal Acquisition Regulations - First Offer	Chief Thee	1 / each	
Product Agency N		Supplier Product Code: Supplier Notes:	1	1
				Lot Total: \$0.00
EJ USA,	Inc			\$0.00 (104/104 items)
Bid Con	ntact EJ USA, Inc. us.bids@ejco.com Ph 800-874-4100		301 Spring S EAST JORDA	treet, PO Box 439 N, MI 49727
Qualifica Bid Note	ations CS ARCH ENG es All Required Documents For The Bid is Attach	ed Under Line Item 1.		
Agency N	Notes:	Supplier Notes: All Require Line Item 1.	ed Documents	For The Bid is Attached Under
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -01-01	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 3 foot - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: 70 Supplier Notes:)500D	
OCWUT 27-24- -01-02	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4 foot - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: 71 Supplier Notes:	520D	
OCWUT 27-24- -01-03	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4.5 foot - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: 72 Supplier Notes:	2521D	
OCWUT 27-24- -01-04	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 5 foot - First Offer	0.00%	1 / each	0.00%
Product		Supplier Product Code: 73	3525D	
Agency N	Notes: Group 1: Traffic Model Fire Hydrants: Traffic Model Fire	Supplier Notes: 0.00%	1 / each	0.00%
OCWUT 27-24- -01-05	Hydrants depth of bury 6 foot - First Offer			

Agency	Notes:	Supplier Notes:		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -02-01	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 16 inch - First Offer		1 / each	0.00%
Product Agency		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -02-02	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 18 inch - First Offer	0.00%	1 / each	0.00%
Product Agency		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -02-03	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 20 inch - First Offer	0.00%	1 / each	0.00%
Product Agency		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -02-04	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 24 inch - First Offer	0.00%	1 / each	0.00%
Product Agency	Notes:	Supplier Product Code: No Supplier Notes: No Bid		
OCWUT 27-24- -02-05	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 30 inch - First Offer		1 / each	0.00%
Product Agency		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -02-06		0.00%	1 / each	0.00%
Product Agency		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -02-07	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 48 inch - First Offer	0.00%	1 / each	0.00%
Product Agency		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -02-08	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 6 inch - 56 inch - First Offer	0.00%	1 / each	0.00%
Product Agency		Supplier Product Code: No Supplier Notes:	o Bid	
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price

OCWUT 2	- , -	ahoma City and Trusts		
OCWUT 27-24- -03-01	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 2 inch - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: 22 Supplier Notes: 2200200 - Tapping Valve - No Bid		
OCWUT 27-24- -03-02	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 3 inch - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: 22 Supplier Notes: 2200300 - Tapping Valve - No Bid		
OCWUT 27-24- -03-03	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 4 inch - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: 22 Supplier Notes: 2200400 - 2500400 - Tapping Valve - N	Gate Valve - N	
OCWUT 27-24- -03-04	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 6 inch - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: 22 Supplier Notes: 2200600 - 2500600 - Tapping Valve - N	Gate Valve - N	
OCWUT 27-24- -03-05	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 10 inch - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: 22 Supplier Notes: 2201000 - 2501000 - Tapping Valve - N	Gate Valve - N	
OCWUT 27-24- -03-06	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 12 inch - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: 22 Supplier Notes: 2201200 - 2501200 - Tapping Valve - N	Gate Valve - N	
OCWUT	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves:	0.00%	1 / each	0.00%

1/31/2024

		ahoma City and Trusts		
27-24- -03-07	Gate Valve complete with accessories 14 inch - First Offer	1		
Product Agency N		Supplier Product Code: 22 Supplier Notes: 2201400 - Tapping Valve - No Bid		
OCWUT 27-24- -03-08	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 16 inch - First Offer		1 / each	0.0
Product Agency N		Supplier Product Code: 22 Supplier Notes: 2201600 - 2501600 - Tapping Valve - N	Gate Valve - N	
OCWUT 27-24- -03-09	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 18 inch - First Offer		1 / each	0.0
Product Agency N		Supplier Product Code: No Supplier Notes: Gate Valve Tapping Valve -No Bid		
OCWUT 27-24- -03-10	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 20 inch - 56 inch - First Offer		1 / each	0.0
Product Agency M		Supplier Product Code: 22 2222402 / 2222403 / 23220 Supplier Notes: 2222000 - 2222002 - 20' Gate Valve Be 2222003 - 20' Gate Valve Sp 2222400 - 20' Gate Valve - N 2222402 - 20' Gate Valve Be 2222403 - 20' Gate Valve Sp 2522000 - 24' Tapping Valve 2522400 - 24' Tapping Valve	00 / 2322400 20' Gate Valve evel Gear - Net Jur Gear - Net Jet 26983.77 evel Gear - Net our Gear - Net e - Net 23170.2	- Net 19019.25 21037.07 23000.80 29001.59 30965.32 29
				Lot Total: \$0
Item # OCWUT 27-24- -04-01	Line Item Group 4: Mechanical Joint Valves: ABZ Mastergear Valve Operators and Valves - First Offer		Qty/Unit 1 / each	Total P 0.0
		Supplier Product Code: No Supplier Notes:	b Bid	1
			1 / each	0.0
Product Agency N OCWUT 27-24- -04-02	Group 4: Mechanical Joint Valves: Allis Chalmers Valve Operators and Valves - First Offer		i / cach	
Agency N OCWUT 27-24-	Group 4: Mechanical Joint Valves: Allis Chalmers Valve Operators and Valves - First Offer Code:			

bid #OCWUT 27-24 -	
Hydrants, Valves, Repair	

City of Oklahoma City and its Trusts

ianis, vaives, Repair		
Product Code: Agency Notes:	Supplier Product Code: No Bid Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: APCO Valves - First Offer 27-24- -04-04	0.00% 1 / each 0.00%	
Product Code: Agency Notes:	Supplier Product Code: No Bid Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: ARI - Air Relief Valves - First 27-24- -04-05		
Product Code: Agency Notes:	Supplier Product Code: No Bid Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: ASCO Valves - First Offer 27-24- -04-06	0.00% 1 / each 0.00%	
Product Code: Agency Notes:	Supplier Product Code: No Bid Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: ASCO: 1-way, normally 27-24- -04-07		
Product Code: Agency Notes:	Supplier Product Code: No Bid Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: ASCO: 1-way, normally 27-24- -04-08		
Product Code: Agency Notes:	Supplier Product Code: No Bid Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: ASCO: 3-way, 2 position 27-24- -04-09 First Offer	0.00% 1 / each 0.00%	
Product Code: Agency Notes:	Supplier Product Code: No Bid Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: ASCO: 4-way, 2 position 27-24- -04-10	0.00% 1 / each 0.00%	
Product Code: Agency Notes:	Supplier Product Code: No Bid Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: Auma valves and 27-24- -04-11 operators - First Offer		
Product Code: Agency Notes:	Supplier Product Code: No Bid Supplier Notes:	
OCWUTGroup 4: Mechanical Joint Valves: Bailey Valve Positioners27-24-First Offer-04-12-04-12	0.00% 1 / each 0.00%	
Product Code: Agency Notes:	Supplier Product Code: No Bid Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: Bermed Valve, Parts, and 27-24- -04-13	0.00% 1 / each 0.00%	
Product Code: Agency Notes:	Supplier Product Code: No Bid Supplier Notes:	
OCWUT Group 4: Mechanical Joint Valves: Chapman Valve Operators 27-24- -04-14	0.00% 1 / each 0.00%	
Product Code:	Supplier Product Code: No Bid	

rants, valve	es, Repair	Trusts		
Agency N	lotes:	Supplier Notes:		
OCWUT 27-24- -04-15	Group 4: Mechanical Joint Valves: Check Valves 4 inch to 24 inch flanged - First Offer	0.00%	1 / each	0.00%
Product	Code:	Supplier Product Code: No	o Bid	
Agency N	lotes:	Supplier Notes:	1	
OCWUT 27-24- -04-16	Group 4: Mechanical Joint Valves: Cla-val Altitude Valves - First Offer	0.00%	1 / each	0.00%
Product	Code:	Supplier Product Code: No	o Bid	
Agency N		Supplier Notes:		
OCWUT 27-24- -04-17	Group 4: Mechanical Joint Valves: Cla-val Globe Valves - First Offer	0.00%	1 / each	0.00%
Product	Code:	Supplier Product Code: No	D Bid	
Agency N		Supplier Notes:		
OCWUT 27-24- -04-18	Group 4: Mechanical Joint Valves: Cla-val Pump Control Valves - Booster Type - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-19	Group 4: Mechanical Joint Valves: Cla-val Pilot Valves, 4 inch to 12 inch - First Offer	0.00%	1 / each	0.00%
Product (Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-20	Group 4: Mechanical Joint Valves: Cla-Val Replacement Parts/Kits - First Offer		1 / each	0.00%
Product (Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-21	Group 4: Mechanical Joint Valves: Cla-val Valves, Parts, and Controls - First Offer	0.00%	1 / each	0.00%
Product	Code:	Supplier Product Code: No	o Bid	
Agency N	lotes:	Supplier Notes:		
OCWUT 27-24- -04-22	Group 4: Mechanical Joint Valves: Cla-val Needle Valve Assemblies - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-23	Group 4: Mechanical Joint Valves: Cla-val flow clean strainer, straight & angled, x47 model - First Offer	0.00%	1 / each	0.00%
Product	Code:	Supplier Product Code: No	o Bid	
Agency N	lotes:	Supplier Notes:		
OCWUT 27-24- -04-24	Group 4: Mechanical Joint Valves: Cla-val model x105L, x105L2, limit switch assemblies - First Offer	0.00%	1 / each	0.00%
Product		Supplier Product Code: No Bid		
Agency N		Supplier Notes:		
OCWUT 27-24- -04-25	Group 4: Mechanical Joint Valves: Cla-val 3/8 inch to 24 inch pressure relief/control valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	

bid #OCWUT 27-24 -				
Hydrants, Valves, Repair				

unto, vuiv	65, Ropan 15	114010		
OCWUT 27-24- -04-26	Group 4: Mechanical Joint Valves: Cla-val solenoid control valves - First Offer	0.00%	1 / each	0.00%
		Supplier Product Code: No Bid Supplier Notes:		
OCWUT 27-24- -04-27	Group 4: Mechanical Joint Valves: Clayton valve operators, positioners, and valves - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	1
		0.00%	1 (oach	0.0006
OCWUT 27-24- -04-28	Group 4: Mechanical Joint Valves: Clow Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24-	Group 4: Mechanical Joint Valves: Clow Valves, 6 inch to 12 inch, flanged - First Offer		1 / each	0.00%
-04-29				
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-30	Group 4: Mechanical Joint Valves: Crispen Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	1
OCWUT 27-24- -04-31	Group 4: Mechanical Joint Valves: Darling gate valves 4 inch to 24 inch, flanged - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-32	Group 4: Mechanical Joint Valves: Darling valve operators and valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-33	Group 4: Mechanical Joint Valves: DeZurik Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-34	Group 4: Mechanical Joint Valves: EIM Valve Operators - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: No Bid Supplier Notes:		1
OCWUT 27-24- -04-35	- Group 4: Mechanical Joint Valves: Golden Anderson Valves First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Bid Supplier Notes:		
OCWUT 27-24- -04-36	Group 4: Mechanical Joint Valves: Hydro Gate Valves - First Offer		1 / each	0.00%
Product		Supplier Product Code: No	o Bid	
Agency N OCWUT	Notes: Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to	Supplier Notes: 0.00%	1 / each	0.00%
				I

27-24-	24 inch - First Offer			
-04-37				
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-38	Group 4: Mechanical Joint Valves: Keystone valve operators and valves - First Offer	0.00%	1 / each	0.1
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-39	Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators - First Offer	0.00%	1 / each	0.
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-40	Group 4: Mechanical Joint Valves: Kunkle Valves - First Offer	0.00%	1 / each	0.
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-41	Group 4: Mechanical Joint Valves: Kytronics Valves Positioners - First Offer	0.00%	1 / each	0.1
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-42	Group 4: Mechanical Joint Valves: Limitorque Valve Positioners - First Offer	0.00%	1 / each	0.
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-43	Group 4: Mechanical Joint Valves: Ludlow Valves - First Offer	0.00%	1 / each	0.
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-44	Group 4: Mechanical Joint Valves: Mercoid: Pressure Adjustment Switches - First Offer	0.00%	1 / each	0.
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-45	Group 4: Mechanical Joint Valves: Miller Valve Operators - First Offer	0.00%	1 / each	0.
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-46	Group 4: Mechanical Joint Valves: Mueller Valve Operators - First Offer	0.00%	1 / each	0.1
Product (Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-47	Group 4: Mechanical Joint Valves: Parker Hannifir Valve Operators - First Offer	0.00%	1 / each	0.
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
		0.00%	1 / each	0.

ants, vaiv	es, Repair its	Trusts		
-04-48				
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-49	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, non-flanged - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-50	Group 4: Mechanical Joint Valves: Pratt Valve Operators and Valves - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-51	Group 4: Mechanical Joint Valves: Rensselaer check valves 6 inch to 20 inch, flanged - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-52	Group 4: Mechanical Joint Valves: Rodney Hunt Valves - First Offer		1 / each	0.00%
Product		Supplier Product Code: No	o Bid	
Agency N OCWUT 27-24- -04-53	Notes: Group 4: Mechanical Joint Valves: Ross Valves - First Offer	Supplier Notes: 0.00%	1 / each	0.00%
Product		Supplier Product Code: No Bid Supplier Notes:		
Agency N OCWUT 27-24- -04-54	Group 4: Mechanical Joint Valves: Rototork: Valve Actuators - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Bid Supplier Notes:		
OCWUT 27-24- -04-55	Group 4: Mechanical Joint Valves: Sluce Gate Valves - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-56	Group 4: Mechanical Joint Valves: Val-matic Valves - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-57	Group 4: Mechanical Joint Valves: Verse Valve Operators - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -04-58	Group 4: Mechanical Joint Valves: Xomox Valves - First Offer	0.00%	1 / each	0.00%
Product		Supplier Product Code: No	o Bid	
Agency N	Notes:	Supplier Notes:		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT	Group 5: Hydrant and Valve Repair Parts: American Darling		1 / each	0.00%

	es, Repair its	Trusts	1 1		
27-24- -05-01	Model B-62 Repair Parts, Tools, and/or Accessories - First Offer				
Product Agency N		Supplier Product Code: No Supplier Notes:	Supplier Product Code: No Bid Supplier Notes:		
OCWUT 27-24- -05-02	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-84 Repair Parts, Tools, and/or Accessories - First Offer	0.00%	1 / each	0.00	
Product (Agency N		Supplier Product Code: No Supplier Notes:	o Bid		
OCWUT 27-24- -05-03	Group 5: Hydrant and Valve Repair Parts: American Darling Gate and Tapping Valve Repair Parts - First Offer	0.00%	1 / each	0.00	
Product (Agency N		Supplier Product Code: No Supplier Notes:	o Bid		
OCWUT 27-24- -05-04	Group 5: Hydrant and Valve Repair Parts: Mueller A-423 Centurion Repair Parts, Tools, and Accessories - First Offer	0.00%	1 / each	0.00	
Product (Agency N		Supplier Product Code: No Supplier Notes:	o Bid		
OCWUT 27-24- -05-05	Group 5: Hydrant and Valve Repair Parts: Mueller Valve Operators, Gate, and Tapping Valves - First Offer	0.00%	1 / each	0.00	
Product (Agency N		Supplier Product Code: No Supplier Notes:	o Bid		
OCWUT 27-24- -05-06	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Gate and Tapping Valves Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00	
Product Agency N		Supplier Product Code: No Bid Supplier Notes:			
OCWUT 27-24- -05-07	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Large Barrel Pre-1994 Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00	
Product (Agency N		Supplier Product Code: No Supplier Notes:	o Bid		
OCWUT 27-24- -05-08	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Small Barrel Pre-1994 Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00	
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid		
OCWUT 27-24- -05-09	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Sentinel Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00	
Product Agency N		Supplier Product Code: No Bid Supplier Notes:			
OCWUT 27-24- -05-10	Group 5: Hydrant and Valve Repair Parts: M&H 129 Reliant Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00	
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid		
OCWUT 27-24-	Group 5: Hydrant and Valve Repair Parts: M&H Gate and Tapping Valve Repair Parts - First Offer		1 / each	0.00	

City of Oklahoma City and its Trusts

rants, Valv	es, Repair its	Trusts		
-05-12				
Product Agency N		Supplier Product Code: No Bid Supplier Notes:		
OCWUT 27-24- -05-13	Group 5: Hydrant and Valve Repair Parts: Clow Gate and Tapping Valve Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -05-14	Group 5: Hydrant and Valve Repair Parts: Clow Medallion Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -05-15	Group 5: Hydrant and Valve Repair Parts: Kennedy Gate and Tapping Valve Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -05-16	Group 5: Hydrant and Valve Repair Parts: Kennedy K-81 Guardian Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -05-17	Group 5: Hydrant and Valve Repair Parts: Pratt Butterfly Valves Repair Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -05-18	Group 5: Hydrant and Valve Repair Parts: Vertical shoe for hydrants - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: No Supplier Notes:	o Bid	
OCWUT 27-24- -05-19	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Watermaster 5CD250 Repair, parts, Tools, and/or Accessories - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: 00946492 / 00946493 / 00946493 / 00946494 00946450 / 00946452 / 00946454 / Supplier Notes: 00946492 - Gasket Repair Kit - Net 79.35 00946493 - Shut Off Drips Kit - Net 378.04 00946494 - Seat Repair Kit - Net 447.44 00946450 - 6" Hydrant Extension - Net 430.00 00946452 - 12" Hydrant Extension - Net 495.00 00946454 - 18" Hydrant Extension - Net 560.00 00946456 - 24" Hydrant Extension - Net 630.00 00946458 - 30" Hydrant Extension - Net 830.00 00946459 - 36" Hydrant Extension - Net 1030.00		
OCWUT 27-24- -05-20	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Flowmaster RW Repair, Parts, Tools, & Accessories - First Offer		1 / each	0.00%

drants, Valves, Repair	its Trusts
Product Code: Agency Notes:	Supplier Product Code: 91970 / 91984 / 91858 / 91893 / 00944275 / 00944375 / 00944575 / 00944675 Supplier Notes: 91970 - Hold Down Nut Wrench - 90.30 91984 - Stem Drive Wrench - 327.75 91858 - Screw Removal Socket - 30.20 91893 - Nozzle Removal Tool - 195.58 00944275 - 4RW Gasket Repair Kit - 61.87 00944375 - 6RW Gasket Repair Kit - 61.87 00944575 - 10RW Gasket Repair Kit - 146.72 00944675 - 12RW Gasket Repair Kit - 192.65
	Lot Total: \$0.00

ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT	Group 6: Shop Labor: Shop Labor - First Offer	\$0.00	1 / hour	\$0.00
27-24-				
-06-01				
Product	Code:	Supplier Product Code: N	o Bid	
Agency I	Notes:	Supplier Notes:		
OCWUT	Group 6: Shop Labor: Shop Labor - First Offer	\$0.00	1 / hour	\$0.00
27-24-				
-06-02				
Product	Code:	Supplier Product Code: N	o Bid	
Agency I	Notes:	Supplier Notes:		
				Lot Total: \$0.00

				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -07-01	Group 7: Federal Acquisition Regulations: Federal Acquisition Regulations - First Offer		1 / each	
Product Agency N		Supplier Product Code: No Bid Supplier Notes:		

Lot Total: \$0.00

UTILITY TECHNOLOGY SERVICES

\$0.00 (17/104 items)

Bid Contact Al Weber

Addı

aweber@etnasupply.com

Address 9636 W RENO AVE. OKLAHOMA CITY, OK 73127

Ph 616-745-9842

Agency Notes:		Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -01-01	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 3 foot - First Offer		1 / each	1960.00%
Product (Agency N		Supplier Product Code: Supplier Notes: We are a c price	listributor of E	ast Jordan. Prices are a per each

rants, Valves, Repair its	Trusts		
OCWUTGroup 1: Traffic Model Fire Hydrants: Traffic Model Fire27-24-Hydrants depth of bury 4 foot - First Offer		1 / each	2055.00%
-01-02			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: We are a c	listributor of E	ast Jordan. Prices are a per each
	price		
OCWUT Group 1: Traffic Model Fire Hydrants: Traffic Model Fire 27-24- Hydrants depth of bury 4.5 foot - First Offer -01-03		1 / each	2100.00%
Product Code: Agency Notes:	price		ast Jordan. Prices are a per each
OCWUTGroup 1: Traffic Model Fire Hydrants: Traffic Model Fire27-24-Hydrants depth of bury 5 foot - First Offer-01-04-01-04	2150.00%	1 / each	2150.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: We are a c price	listributor of E	ast Jordan. Prices are a per each
OCWUTGroup 1: Traffic Model Fire Hydrants: Traffic Model Fire27-24-Hydrants depth of bury 6 foot - First Offer-01-05-01-05		1 / each	2245.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: We are a c price	listributor of E	ast Jordan. Prices are a per each

ants, Valv	ves, Repair its	Trusts		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT		Unit Price	Qty/Onit	No Bids
27-24- -02-01	valve with accessories 16 inch			
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly			No Bids
27-24- -02-02	valve with accessories 18 inch			
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT				No Bids
27-24- -02-03	valve with accessories 20 inch			
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly			No Bids
27-24- -02-04	valve with accessories 24 inch			
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT				No Bids
27-24- -02-05	valve with accessories 30 inch			
Agency I	Notes:	Supplier Product Code: Supplier Notes:	1	
OCWUT				No Bids
27-24- -02-06	valve with accessories 36 inch			
Agency I	Notes:	Supplier Product Code: Supplier Notes:	<u> </u>	
OCWUT				No Bids
27-24- -02-07	valve with accessories 48 inch			
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -02-08	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 6 inch - 56 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	<u> </u>	
		·		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves:	425.00%	1 / each	425.00%
OCWUT 27-24- -03-01	Gate Valve complete with accessories 2 inch - First Offer			

#OCWUT 2 Irants, Valve	- , -	ahoma City and Trusts		
Agency Notes:		Supplier Notes: We are a distributor of East Jordan. Prices are a per ea price		
OCWUT 27-24- -03-02	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 3 inch - First Offer		1 / each	600.00%
Product (Agency N		Supplier Product Code: Supplier Notes: We are a o price	distributor of E	ast Jordan. Prices are a per each
OCWUT 27-24- -03-03	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 4 inch - First Offer		1 / each	670.00%
Product (Agency N		Supplier Product Code: Supplier Notes: We are a d price. Tapping Valve Price is		ast Jordan. Prices are a per each
OCWUT 27-24- -03-04	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 6 inch - First Offer		1 / each	870.00%
Product (Agency N		Supplier Product Code: Supplier Notes: We are a d price. Tapping Valve Price is		ast Jordan. Prices are a per each
OCWUT 27-24- -03-05	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 10 inch - First Offer		1 / each	2035.00%
Product (Agency N		Supplier Product Code: Supplier Notes: We are a d price. Tapping Valve Price is		ast Jordan. Prices are a per each
OCWUT 27-24- -03-06	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 12 inch - First Offer		1 / each	2540.00%
Product (Agency N		Supplier Product Code: Supplier Notes: We are a c	distributor of E	ast Jordan. Prices are a per each

#OCWUT 2 Irants, Valv		ahoma City and Trusts		
		price. Tapping Valve Price is	s: \$3595.00	
OCWUT 27-24- -03-07	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 14 inch - First Offer		1 / each	7430.00%
Product Agency I		Supplier Product Code: Supplier Notes: We are a c price. NO BID ON 14" TAPP		ast Jordan. Prices are a per each
OCWUT 27-24- -03-08	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 16 inch - First Offer		1 / each	8065.00%
Product Agency I		Supplier Product Code: Supplier Notes: We are a c price. Tapping Valve Price is		ast Jordan. Prices are a per each
OCWUT 27-24- -03-09	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 18 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	1	
OCWUT 27-24- -03-10	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 20 inch - 56 inch - First Offer		1 / each	18955.00%
Product Agency I		Supplier Product Code: Supplier Notes: We are a c price. Tapping Valve Price is		ast Jordan. Prices are a per each
				Lot Total: \$0.00
Item # OCWUT 27-24- -04-01	Line Item Group 4: Mechanical Joint Valves: ABZ Mastergear Valve Operators and Valves	Unit Price	Qty/Unit	Total Price No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	1	
OCWUT 27-24- -04-02	Group 4: Mechanical Joint Valves: Allis Chalmers Valve Operators and Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-03	Group 4: Mechanical Joint Valves: American Valves			No Bids

ants, vaiv	ves, Repair its	s Trusts
Agency Notes:		Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-04	Group 4: Mechanical Joint Valves: APCO Valves	No Bid
Agency I	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-05	Group 4: Mechanical Joint Valves: ARI - Air Relief Valves	No Bid
Agency I	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-06	Group 4: Mechanical Joint Valves: ASCO Valves	No Bid
Agency I	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-07	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally closed	No Bid
Agency I	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-08	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally open	No Bid
Agency I	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-09	Group 4: Mechanical Joint Valves: ASCO: 3-way, 2 position	No Bid
Agency I	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-10	Group 4: Mechanical Joint Valves: ASCO: 4-way, 2 position	No Bid
Agency I	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-11	Group 4: Mechanical Joint Valves: Auma valves and operators	No Bid
Agency I	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-12	Group 4: Mechanical Joint Valves: Bailey Valve Positioners	No Bid
Agency I	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-13	Group 4: Mechanical Joint Valves: Bermed Valve, Parts, and Controls	No Bid
Agency I	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-14	Group 4: Mechanical Joint Valves: Chapman Valve Operators and Valves	No Bid
Agency I	Notes:	Supplier Product Code:

ants, vaiv	es, Repair its	Trusts	
		Supplier Notes:	
OCWUT 27-24- -04-15	Group 4: Mechanical Joint Valves: Check Valves 4 inch to 24 inch flanged		No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -04-16	Group 4: Mechanical Joint Valves: Cla-val Altitude Valves		No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -04-17	Group 4: Mechanical Joint Valves: Cla-val Globe Valves		No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -04-18	Group 4: Mechanical Joint Valves: Cla-val Pump Control Valves - Booster Type		No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -04-19	Group 4: Mechanical Joint Valves: Cla-val Pilot Valves, 4 inch to 12 inch		No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -04-20	Group 4: Mechanical Joint Valves: Cla-Val Replacement Parts/Kits		No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -04-21	Group 4: Mechanical Joint Valves: Cla-val Valves, Parts, and Controls		No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -04-22	Group 4: Mechanical Joint Valves: Cla-val Needle Valve Assemblies		No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -04-23	Group 4: Mechanical Joint Valves: Cla-val flow clean strainer, straight & angled, x47 model		No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -04-24	Group 4: Mechanical Joint Valves: Cla-val model x105L, x105L2, limit switch assemblies		No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -04-25	Group 4: Mechanical Joint Valves: Cla-val 3/8 inch to 24 inch pressure relief/control valves		No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:	

OCWUT	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to		No Bids
Agency N	Г	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- 04-36	Group 4: Mechanical Joint Valves: Hydro Gate Valves		No Bids
Agency M	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- 04-35	Group 4: Mechanical Joint Valves: Golden Anderson Valves		No Bid:
	Г	Supplier Notes:	
•04-34 Agency N	Notes:	Supplier Product Code:	
OCWUT 27-24-	Group 4: Mechanical Joint Valves: EIM Valve Operators		No Bid
Agency N	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- 04-33	Group 4: Mechanical Joint Valves: DeZurik Valves		No Bid
Agency N	Г	Supplier Product Code: Supplier Notes:	
04-32			
OCWUT	Group 4: Mechanical Joint Valves: Darling valve operators and valves		No Bid
Agency N	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- 04-31	Group 4: Mechanical Joint Valves: Darling gate valves 4 inch to 24 inch, flanged		No Bids
Agency N	Γ	Supplier Product Code: Supplier Notes:	
27-24- 04-30			
OCWUT	Group 4: Mechanical Joint Valves: Crispen Valves	Supplier Notes:	No Bid:
Agency N	Notes:	Supplier Product Code:	
OCWUT 27-24- ·04-29	Group 4: Mechanical Joint Valves: Clow Valves, 6 inch to 12 inch, flanged		No Bids
Agency N	Γ	Supplier Product Code: Supplier Notes:	
27-24- 04-28		Sumalian Develue: C. J	
OCWUT	Group 4: Mechanical Joint Valves: Clow Valves	Supplier Notes:	No Bids
Agency N	Notes:	Supplier Product Code:	
OCWUT 27-24- ·04-27	Group 4: Mechanical Joint Valves: Clayton valve operators, positioners, and valves		No Bids
Agency N	Γ	Supplier Product Code: Supplier Notes:	
04-26			
OCWUT 27-24-	Group 4: Mechanical Joint Valves: Cla-val solenoid control valves		No Bids

ants, Valv	ves, Repair its	Trusts
27-24- -04-37	24 inch	
Agency	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-38	Group 4: Mechanical Joint Valves: Keystone valve operators and valves	No Bio
Agency	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-39	Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators	No Bio
Agency	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-40	Group 4: Mechanical Joint Valves: Kunkle Valves	No Bio
Agency	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-41	Group 4: Mechanical Joint Valves: Kytronics Valves Positioners	No Bio
Agency Notes:		Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-42	Group 4: Mechanical Joint Valves: Limitorque Valve Positioners	No Bio
Agency	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-43	Group 4: Mechanical Joint Valves: Ludlow Valves	No Bio
Agency	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-44	Group 4: Mechanical Joint Valves: Mercoid: Pressure Adjustment Switches	No Bio
Agency	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-45	Group 4: Mechanical Joint Valves: Miller Valve Operators	No Bio
Agency	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-46	Group 4: Mechanical Joint Valves: Mueller Valve Operators	No Bio
Agency	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24- -04-47	Group 4: Mechanical Joint Valves: Parker Hannifir Valve Operators	No Bio
Agency	Notes:	Supplier Product Code: Supplier Notes:
OCWUT 27-24-	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, flanged	No Bio

Notes:	Supplier Product Code: Supplier Notes:	
Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, non-flanged		No Bids
Notes:	Supplier Product Code: Supplier Notes:	
Group 4: Mechanical Joint Valves: Pratt Valve Operators and Valves		No Bids
Notes:	Supplier Product Code: Supplier Notes:	
Group 4: Mechanical Joint Valves: Rensselaer check valves 6 inch to 20 inch, flanged		No Bids
Notes:	Supplier Product Code: Supplier Notes:	
Group 4: Mechanical Joint Valves: Rodney Hunt Valves		No Bids
Notes:	Supplier Product Code: Supplier Notes:	
Group 4: Mechanical Joint Valves: Ross Valves		No Bids
Notes:	Supplier Product Code: Supplier Notes:	
Group 4: Mechanical Joint Valves: Rototork: Valve Actuators		No Bids
Notes:	Supplier Product Code: Supplier Notes:	
Group 4: Mechanical Joint Valves: Sluce Gate Valves		No Bids
Notes:	Supplier Product Code: Supplier Notes:	
Group 4: Mechanical Joint Valves: Val-matic Valves		No Bids
Notes:	Supplier Product Code: Supplier Notes:	
Group 4: Mechanical Joint Valves: Verse Valve Operators		No Bids
Notes:	Supplier Product Code: Supplier Notes:	
Group 4: Mechanical Joint Valves: Xomox Valves		No Bids
Notes:	Supplier Product Code: Supplier Notes:	
		Lot Total: \$0.00
Line Item	Unit Price Qty/Unit	Total Price
	inch to 24 inch, non-flanged Notes: Group 4: Mechanical Joint Valves: Pratt Valve Operators and Valves Notes: Group 4: Mechanical Joint Valves: Rensselaer check valves 6 inch to 20 inch, flanged Notes: Group 4: Mechanical Joint Valves: Rodney Hunt Valves Notes: Group 4: Mechanical Joint Valves: Ross Valves Notes: Group 4: Mechanical Joint Valves: Rototork: Valve Actuators Notes: Group 4: Mechanical Joint Valves: Sluce Gate Valves Notes: Group 4: Mechanical Joint Valves: Sluce Gate Valves Notes: Group 4: Mechanical Joint Valves: Val-matic Valves Notes: Group 4: Mechanical Joint Valves: Val-matic Valves Notes: Group 4: Mechanical Joint Valves: Val-matic Valves Notes:	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 Supplier Product Code: Supplier Notes: Supplier Product Code: Group 4: Mechanical Joint Valves: Pratt Valve Operators and Valves Notes: Supplier Product Code: Group 4: Mechanical Joint Valves: Rensselaer check valves 6 Image: Code: Group 4: Mechanical Joint Valves: Rensselaer check valves 6 Image: Code: Group 4: Mechanical Joint Valves: Rensselaer check valves 6 Supplier Product Code: Group 4: Mechanical Joint Valves: Rodney Hunt Valves Supplier Notes: Group 4: Mechanical Joint Valves: Rodney Hunt Valves Supplier Notes: Group 4: Mechanical Joint Valves: Ross Valves Image: Code: Group 4: Mechanical Joint Valves: Ross Valves Supplier Notes: Group 4: Mechanical Joint Valves: Rototork: Valve Actuators Supplier Notes: Group 4: Mechanical Joint Valves: Sluce Gate Valves Image: Code: Supplier Notes: Supplier Notes: Group 4: Mechanical Joint Valves: Val-matic Valves Image: Code: Notes: Supplier Product Code: Group 4: Mechanical Joint Valves: Val-matic Valves Image: Code: Notes: Supplier Product Code: Group 4: Mechanical Joint Valves: Val-matic Valves

ants, Valv	ves, Repair its	Trusts	
27-24- -05-01	Model B-62 Repair Parts, Tools, and/or Accessories		
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -05-02	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-84 Repair Parts, Tools, and/or Accessories		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -05-03	Group 5: Hydrant and Valve Repair Parts: American Darling Gate and Tapping Valve Repair Parts		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -05-04	Group 5: Hydrant and Valve Repair Parts: Mueller A-423 Centurion Repair Parts, Tools, and Accessories		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -05-05	Group 5: Hydrant and Valve Repair Parts: Mueller Valve Operators, Gate, and Tapping Valves		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -05-06	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Gate and Tapping Valves Repair Parts, Tools, & Accessories		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -05-07	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Large Barrel Pre-1994 Repair Parts, Tools, & Accessories		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -05-08	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Small Barrel Pre-1994 Repair Parts, Tools, & Accessories		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -05-09	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Sentinel Repair Parts, Tools, & Accessories		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -05-10	Group 5: Hydrant and Valve Repair Parts: M&H 129 Reliant Repair Parts, Tools, & Accessories		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24- -05-11	Group 5: Hydrant and Valve Repair Parts: M&H Gate and Tapping Valve Repair Parts		No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 27-24-	Group 5: Hydrant and Valve Repair Parts: Clow F2500 Repair Parts, Tools, and Accessories		No Bids

ants, Valv	es, Repair its	Irusts		
-05-12				
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -05-13	Group 5: Hydrant and Valve Repair Parts: Clow Gate and Tapping Valve Repair Parts, Tools, & Accessories			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -05-14	Group 5: Hydrant and Valve Repair Parts: Clow Medallion Repair Parts, Tools, & Accessories			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -05-15	Group 5: Hydrant and Valve Repair Parts: Kennedy Gate and Tapping Valve Repair Parts, Tools, & Accessories			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -05-16	Group 5: Hydrant and Valve Repair Parts: Kennedy K-81 Guardian Repair Parts, Tools, & Accessories		No Bid	
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -05-17	Group 5: Hydrant and Valve Repair Parts: Pratt Butterfly Valves Repair Parts, Tools, & Accessories		No Bids	
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -05-18	Group 5: Hydrant and Valve Repair Parts: Vertical shoe for hydrants		No Bids	
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -05-19	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Watermaster 5CD250 Repair, parts, Tools, and/or Accessories - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: see attach	ed pricing	
OCWUT 27-24- -05-20	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Flowmaster RW Repair, Parts, Tools, & Accessories - First Offer		1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: see attach	ed pricing	
		I		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -06-01	Group 6: Shop Labor: Shop Labor			No Bids
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -06-02	Group 6: Shop Labor: Shop Labor			No Bids

Agency Notes

		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -07-01	Group 7: Federal Acquisition Regulations: Federal Acquisition Regulations - First Offer		1 / each	
		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00

Pionee	r Supply LLC	\$0.00 (49/104 items)			
Bid Con Qualifica Bid Note	rlillard@pioneersupplyok.com Ph 405-794-7705 Fax 405-794-3124 ations MBE es ALL FIRE HYDRANTS SUBMITTED AS MUELLER COMPLIANCE WITH OKC STANDARDS PER OCV WE ARE A CLA-VAL REP. ALL VALVES ARE BUILT CONTRACT DUE TO NO PUBLISHED LIST PRICIN ALL PRICING TO BE BY REQUEST ONLY.	Address 2008 Pole Rd. Moore, OK 73160 AS MUELLER CO. MODEL A-423 SUPER CENTURION 3-WAY IN FULL ARDS PER OCWUT_27-24_Bid_Form_ATechnical_Questionnaire. /ES ARE BUILT TO ORDER AND CLA-VAL HAS ELECTED TO NO QUOTE THIS ED LIST PRICING AND TOO MANY OPTIONS ON BASE VALVES PER MFG. REP. ONLY.			
Agency N	Notes:	Supplier Notes:All FIRE HYDRANTS SUBMITTED AS MUELLER CO. MODEL A-423 SUPER CENTURION 3-WAY IN FULL COMPLIANCE WITH OKC STANDARDS PER OCWUT_27-24_Bid_Form_A_ _Technical_Questionnaire.WE ARE A CLA-VAL REP. ALL VALVES ARE BUILT TO ORDER AND CLA-VAL HAS ELECTED TO NO QUOTE THIS CONTRACT DUE TO NO PUBLISHED LIST PRICING AND TOO MANY OPTIONS ON BASE VALVES PER MFG. REP. ALL PRICING TO BE BY REQUEST ONLY.ALL GATE VALVES FIGURED AS MUELLER A-2361 OR A-2362 AWWA C515 & C509 NRS RW OL.			
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 27-24- -01-01	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 3 foot - First Offer		1 / each	36.00%	
Product Agency N		Supplier Product Code: HUMOKC30 Supplier Notes: Limited Availability & Made to Order. Approximately 60 - 90 Day Lead Time.			
OCWUT 27-24- -01-02	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4 foot - First Offer		1 / each	36.00%	
Product Agency N		Supplier Product Code: HUMOKC40 Supplier Notes: Limited Availability & Made to Order.			

#OCWUT 2 drants, Valv		ahoma City and Trusts		
		Approximately 60 - 90 Day	Lead Time.	
OCWUT 27-24- -01-03	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4.5 foot - First Offer		1 / each	36.00%
Product Agency N		Supplier Product Code: H Supplier Notes: STOCK ITE TYPICALLY KEEEP BETWEEN	EM FOR US, BU	IT SUBJECT TO PRIOR SALE. WE HYDRANTS ON HAND.
OCWUT 27-24- -01-04	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 5 foot - First Offer		1 / each	36.00%
Product Agency N		Supplier Product Code: H Supplier Notes: Limited Av Approximately 60 - 90 Day	ailability & Ma	ide to Order.
OCWUT 27-24- -01-05	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 6 foot - First Offer		1 / each	36.00%
Product Agency M		Supplier Product Code: HUMOKC60 Supplier Notes: Limited Availability & Made to Order. Approximately 60 - 90 Day Lead Time.		nde to Order.
			1	Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -02-01	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 16 inch - First Offer		1 / each	33.00%
Product Agency N		Supplier Product Code: Supplier Notes: This pay it quoted BFVs in sizes, end c		ne price list for ALL Henry Pratt d options.
OCWUT	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve	33.00%	1 / each	33.00%

27-24- -02-02	with accessories 18 inch - First Offer				
Product Agency N		Supplier Product Code: Supplier Notes: See pay item attachment from above 16" BFV item 02-01 for list prices.			
OCWUT 27-24- -02-03	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 20 inch - First Offer	33.00%	1 / each	33.00%	
Product Agency N		Supplier Product Code: Supplier Notes: See pay ite for list prices.	em attachment	t from above 16" BFV item 02-01	
OCWUT 27-24- -02-04	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 24 inch - First Offer	33.00%	1 / each	33.00%	
Product Agency N		Supplier Product Code: Supplier Notes: See pay ite for list prices.	em attachment	t from above 16" BFV item 02-01	
OCWUT 27-24- -02-05	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 30 inch - First Offer	33.00%	1 / each	33.00%	
Product Agency N		Supplier Product Code: Supplier Notes: See pay ite for list prices.	em attachment	t from above 16" BFV item 02-01	
OCWUT 27-24- -02-06	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 36 inch - First Offer	33.00%	1 / each	33.00%	
Product Agency N		Supplier Product Code: Supplier Notes: See pay ite for list prices.	em attachment	t from above 16" BFV item 02-01	
OCWUT 27-24- -02-07	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 48 inch - First Offer	33.00%	1 / each	33.00%	
Product Agency N		Supplier Product Code: Supplier Notes: See pay ite for list prices.	em attachment	t from above 16" BFV item 02-01	

OCWUT	Crown 2: Ductile Iron Rediad Butterfly Values: Butterfly value	33.00%	1 / each	33.00%
27-24-	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 6 inch - 56 inch - First Offer		17 each	55.00%
-02-08				
Product	Code:	Supplier Product Code:		
Agency Notes:		Supplier Notes: See pay ite for list prices. The 56" and l request for pricing only.		t from above 16" BFV item 02-01 <i>v</i> es are available, but upon
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -03-01	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 2 inch - First Offer		1 / each	42.00%
Product		Supplier Product Code:		
Agency I		Supplier Notes:		
OCWUT 27-24- -03-02	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 3 inch - First Offer		1 / each	42.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: See price I tapping valves.	ist above for a	ll sizes 2" - 12" size gate and
OCWUT 27-24- -03-03	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 4 inch - First Offer		1 / each	42.00%
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -03-04	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 6 inch - First Offer		1 / each	42.00%
Agency Notes:		Supplier Product Code: Supplier Notes: See price I tapping valves.	ist above for a	ll sizes 2" - 12" size gate and

OCWUT 27-24- -03-05	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 10 inch - First Offer		1 / each	42.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: See price I tapping valves.	ist above for a	ll sizes 2" - 12" size gate and
OCWUT 27-24- -03-06	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 12 inch - First Offer		1 / each	42.00%
Product C Agency N		Supplier Product Code: Supplier Notes: See price I tapping valves.	ist above for a	ll sizes 2" - 12" size gate and
OCWUT 27-24- -03-07	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 14 inch - First Offer		1 / each	42.00%
Product C Agency N		Supplier Product Code: Supplier Notes: NEW price list attached to this bid form for ALL tapping valves & gate valves sized 14" - 48" with all end connections and options		
OCWUT 27-24- -03-08	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 16 inch - First Offer		1 / each	42.00%
Product Code: Supplier Product Code: Agency Notes: Supplier Notes: SEE FULL PRICE LIST ABOVE OF TAPPING VALVE BID ITEM LINE.			OVE ON 14" SIZE GATE &	

OCWUT 2	, , , , , , , , , , , , , , , , , , ,	lahoma City and s Trusts			
OCWUT 27-24- -03-09		42.00%	1 / each	42.00%	
Product Agency I		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -03-10	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves Gate Valve complete with accessories 20 inch - 56 inch - First Offer	42.00%	1 / each	42.00%	
Product Agency M		THAN THAT ARE SUBJECT T	O PRICING UP	TO 48" SIZE. ALL VALVES LARGE ON REQUEST. LARGER GATE S OF 48 - 60 WEEKS DEPENDING	
	I	1		Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 27-24- -04-01	Group 4: Mechanical Joint Valves: ABZ Mastergear Valve Operators and Valves			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:	• •		
OCWUT 27-24- -04-02	Group 4: Mechanical Joint Valves: Allis Chalmers Valve Operators and Valves			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:	1		
OCWUT 27-24- -04-03	Group 4: Mechanical Joint Valves: American Valves			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:	1		
OCWUT 27-24- -04-04	Group 4: Mechanical Joint Valves: APCO Valves			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:	1		
OCWUT 27-24- -04-05	Group 4: Mechanical Joint Valves: ARI - Air Relief Valves - First Offer		1 / each	0.00%	
Product Agency I			NG THE MOST VES FOR REFER	PUBLISHED PRICE LIST. COMMONLY USED OKC AIR RENCE. ALL OTHER VALVES ARE	
OCWUT 27-24- -04-06	Group 4: Mechanical Joint Valves: ASCO Valves			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24-	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally closed			No Bids	

-04-07					
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -04-08	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally open			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:	1		
OCWUT 27-24- -04-09	Group 4: Mechanical Joint Valves: ASCO: 3-way, 2 position			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -04-10	Group 4: Mechanical Joint Valves: ASCO: 4-way, 2 position			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -04-11	Group 4: Mechanical Joint Valves: Auma valves and operators			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:	<u>.</u>		
OCWUT 27-24- -04-12	Group 4: Mechanical Joint Valves: Bailey Valve Positioners			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -04-13	Group 4: Mechanical Joint Valves: Bermed Valve, Parts, and Controls			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -04-14	Group 4: Mechanical Joint Valves: Chapman Valve Operators and Valves			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -04-15	Group 4: Mechanical Joint Valves: Check Valves 4 inch to 24 inch flanged - First Offer		1 / each	30.00%	
Product Code: Agency Notes:		CHECK VALVE, FULL WATEF	R WAY, FLANGE	ENRY PRTT MODEL 8001A SWING E ENDS, CI BODY, BRONZE BODY GLE LEVER & WEIGHT, 8 MILS	
OCWUT 27-24- -04-16	Group 4: Mechanical Joint Valves: Cla-val Altitude Valves - First Offer		1 / each	0.00%	
Product Code: Agency Notes:		1	T PRICING AN	O NO QUOTE THIS CONTRACT D TOO MANY OPTIONS ON BASE E BY REQUEST ONLY.	

ants, vaiv	es, Repair	Trusts		
OCWUT 27-24- -04-17	Group 4: Mechanical Joint Valves: Cla-val Globe Valves - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CLA-VAL HAS ELECTED TO NO QUOTE THIS CONTRACT DUE TO NO PUBLISHED LIST PRICING AND TOO MANY OPTIONS ON BASE VALVES PER MFG. REP. ALL PRICING TO BE BY REQUEST ONLY.		
OCWUT 27-24- -04-18	Group 4: Mechanical Joint Valves: Cla-val Pump Control Valves - Booster Type - First Offer	0.00%	1 / each	0.00%
Product Agency M		Supplier Product Code: Supplier Notes: CLA-VAL HAS ELECTED TO NO QUOTE THIS CONTRACT DUE TO NO PUBLISHED LIST PRICING AND TOO MANY OPTIONS ON BASE VALVES PE MFG. REP. ALL PRICING TO BE BY REQUEST ONLY.		
OCWUT 27-24- -04-19	Group 4: Mechanical Joint Valves: Cla-val Pilot Valves, 4 inch to 12 inch - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: CLA-VAL HAS ELECTED TO NO QUOTE THIS CONTRACT DUE TO NO PUBLISHED LIST PRICING AND TOO MANY OPTIONS ON BASE VALVES PER MFG. REP. ALL PRICING TO BE BY REQUEST ONLY.		Y OPTIONS ON BASE VALVES PER
OCWUT 27-24- -04-20	Group 4: Mechanical Joint Valves: Cla-Val Replacement Parts/Kits - First Offer	0.00%	1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: CLA-VAL HAS ELECTED TO NO QUOTE THIS CONTRACT DUE TO NO PUBLISHED LIST PRICING AND TOO MANY OPTIONS ON BASE VALVES PER MFG. REP. ALL PRICING TO BE BY REQUEST ONLY.		
OCWUT 27-24- -04-21	Group 4: Mechanical Joint Valves: Cla-val Valves, Parts, and Controls - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CLA-VAL HAS ELECTED TO NO QUOTE THIS CONTRACT DUE TO NO PUBLISHED LIST PRICING AND TOO MANY OPTIONS ON BASE VALVES PER MFG. REP. ALL PRICING TO BE BY REQUEST ONLY.		
OCWUT	Group 4: Mechanical Joint Valves: Cla-val Needle Valve	0.00%	1 / each	0.00%

OCWUT 2 ants, Valve		klahoma City and its Trusts		
27-24- -04-22	Assemblies - First Off	er		
Product (Agency N			ST PRICING AN	O NO QUOTE THIS CONTRACT D TOO MANY OPTIONS ON BASE E BY REQUEST ONLY.
OCWUT 27-24- -04-23	Group 4: Mechanical Joint Valves: Cla-val flow clean straine straight & angled, x47 model - First Off		1 / each	0.00%
Product (Agency N			ST PRICING AN	O NO QUOTE THIS CONTRACT D TOO MANY OPTIONS ON BASE E BY REQUEST ONLY.
OCWUT 27-24- -04-24	Group 4: Mechanical Joint Valves: Cla-val model x105 x105L2, limit switch assemblies - First Off		1 / each	0.00%
OCWUT 27-24-	Group 4: Mechanical Joint Valves: Cla-val 3/8 inch to 24 in pressure relief/control valves - First Off	MFG. REP. ALL PRICING TO	ND TOO MAN	Y OPTIONS ON BASE VALVES PER
-04-25 Product		Supplier Product Code:		
Agency N	otes:	Supplier Notes: CLA-VAL HAS ELECTED TO PUBLISHED LIST PRICING A MFG. REP. ALL PRICING TO	ND TOO MAN	Y OPTIONS ON BASE VALVES PER
OCWUT 27-24- -04-26	Group 4: Mechanical Joint Valves: Cla-val solenoid contr valves - First Off		1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: CLA-VAL HAS ELECTED TO PUBLISHED LIST PRICING A MFG. REP. ALL PRICING TO	ND TOO MAN	Y OPTIONS ON BASE VALVES PER
OCWUT 27-24- -04-27	Group 4: Mechanical Joint Valves: Clayton valve operato positioners, and valves - First Off		1 / each	0.00%
Product (Agency N		Supplier Product Code: Supplier Notes: CLA-VAL HAS ELECTED TO PUBLISHED LIST PRICING A	-	IS CONTRACT DUE TO NO Y OPTIONS ON BASE VALVES PER

MFG. REP. ALL PRICING TO BE BY REQUEST ONLY.

OCWUT Group 4: Mechanical Joint Valves: Clow Valves No Bids 27-24--04-28 **Agency Notes: Supplier Product Code: Supplier Notes:** OCWUT Group 4: Mechanical Joint Valves: Clow Valves, 6 inch to 12 No Bids 27-24inch, flanged -04-29 Agency Notes: **Supplier Product Code: Supplier Notes:** OCWUT Group 4: Mechanical Joint Valves: Crispen Valves No Bids 27-24--04-30 Agency Notes: **Supplier Product Code: Supplier Notes:** OCWUT Group 4: Mechanical Joint Valves: Darling gate valves 4 inch No Bids 27-24to 24 inch, flanged -04-31 Agency Notes: **Supplier Product Code: Supplier Notes:** OCWUT Group 4: Mechanical Joint Valves: Darling valve operators No Bids 27-24and valves -04-32 **Agency Notes: Supplier Product Code: Supplier Notes:** OCWUT No Bids Group 4: Mechanical Joint Valves: DeZurik Valves 27-24--04-33 Agency Notes: **Supplier Product Code: Supplier Notes:** OCWUT Group 4: Mechanical Joint Valves: EIM Valve Operators No Bids 27-24--04-34 **Agency Notes: Supplier Product Code: Supplier Notes:** OCWUT Group 4: Mechanical Joint Valves: Golden Anderson Valves No Bids 27-24--04-35 **Agency Notes: Supplier Product Code: Supplier Notes:** OCWUT No Bids Group 4: Mechanical Joint Valves: Hydro Gate Valves 27-24--04-36 **Supplier Product Code: Agency Notes: Supplier Notes:** OCWUT Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to No Bids 27-24-24 inch -04-37 **Agency Notes: Supplier Product Code: Supplier Notes:** OCWUT Group 4: Mechanical Joint Valves: Keystone valve operators No Bids 27-24and valves -04-38

Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-39	Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	1	
OCWUT 27-24- -04-40	Group 4: Mechanical Joint Valves: Kunkle Valves			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-41	Group 4: Mechanical Joint Valves: Kytronics Valves Positioners			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-42	Group 4: Mechanical Joint Valves: Limitorque Valve Positioners			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	1	
OCWUT 27-24- -04-43	Group 4: Mechanical Joint Valves: Ludlow Valves			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-44	Group 4: Mechanical Joint Valves: Mercoid: Pressure Adjustment Switches			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-45	Group 4: Mechanical Joint Valves: Miller Valve Operators			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-46	Group 4: Mechanical Joint Valves: Mueller Valve Operators			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-47	Group 4: Mechanical Joint Valves: Parker Hannifir Valve Operators			No Bids
		Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-48	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, flanged - First Offer		1 / each	33.00%
Product Agency		Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-49	1	33.00%	1 / each	33.00%
L	I		<u> </u>	1

Product Code:

Agency	Notes:	Supplier Notes:		
OCWUT 27-24- -04-50	Group 4: Mechanical Joint Valves: Pratt Valve Operators and Valves - First Offer		1 / each	0.00%
Agency Notes:		Supplier Product Code: Supplier Notes: MUST CALL FOR PRICING, NO PRICE LISTS AVAILABLE FROM HENRY PRATT AT THIS TIME.		
OCWUT 27-24- -04-51	Group 4: Mechanical Joint Valves: Rensselaer check valves 6 inch to 20 inch, flanged			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-52	Group 4: Mechanical Joint Valves: Rodney Hunt Valves			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-53	Group 4: Mechanical Joint Valves: Ross Valves			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-54	Group 4: Mechanical Joint Valves: Rototork: Valve Actuators			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-55	Group 4: Mechanical Joint Valves: Sluce Gate Valves			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-56	Group 4: Mechanical Joint Valves: Val-matic Valves			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-57	Group 4: Mechanical Joint Valves: Verse Valve Operators			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-58	Group 4: Mechanical Joint Valves: Xomox Valves			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
	1			Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -05-01	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-62 Repair Parts, Tools, and/or Accessories			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		

OCWUT 27-24- -05-02	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-84 Repair Parts, Tools, and/or Accessories			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -05-03	Group 5: Hydrant and Valve Repair Parts: American Darling Gate and Tapping Valve Repair Parts			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -05-04	Group 5: Hydrant and Valve Repair Parts: Mueller A-423 Centurion Repair Parts, Tools, and Accessories - First Offer		1 / each	0.00%
Product Agency		LIKE GASKETS, BREAK COU	PLINGS AND P	ITEMS FROM WEAR AND TEAR INS ARE IN STOCK. OTHER ITEMS EE SECTION 9 OF ATTACHED. LIST
OCWUT 27-24- -05-05	Group 5: Hydrant and Valve Repair Parts: Mueller Valve Operators, Gate, and Tapping Valves - First Offer		1 / each	0.00%
Product Agency				L GATE VALVE PARTS & SECTION SC. VALVE PARTS. LIST PRICE IS
OCWUT 27-24- -05-06	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Gate and Tapping Valves Repair Parts, Tools, & Accessories			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -05-07	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Large Barrel Pre-1994 Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%
Agency Notes:		Supplier Product Code: Supplier Notes: NON-STO PLEASEA LLOW 4 - 6 WEEKS		WILL HAVE TO BE ORDERED IN.
OCWUT 27-24- -05-08	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Small Barrel Pre-1994 Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%

rants, Valv	ves, Repair its	s Trusts			
Product Agency		Supplier Product Code: Supplier Notes: NON-STOCK ITEMS AND WILL HAVE TO BE ORDERED IN. PLEASEA LLOW 4 - 6 WEEKS FOR ARO.			
OCWUT 27-24- -05-09	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Sentinel Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%	
		Supplier Product Code: Supplier Notes: NON-STO PLEASEA LLOW 4 - 6 WEEKS		WILL HAVE TO BE ORDERED IN.	
OCWUT 27-24- -05-10	Group 5: Hydrant and Valve Repair Parts: M&H 129 Reliant Repair Parts, Tools, & Accessories			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-11	Group 5: Hydrant and Valve Repair Parts: M&H Gate and Tapping Valve Repair Parts			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-12	Group 5: Hydrant and Valve Repair Parts: Clow F2500 Repair Parts, Tools, and Accessories			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-13	Group 5: Hydrant and Valve Repair Parts: Clow Gate and Tapping Valve Repair Parts, Tools, & Accessories			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-14	Group 5: Hydrant and Valve Repair Parts: Clow Medallion Repair Parts, Tools, & Accessories			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-15	Group 5: Hydrant and Valve Repair Parts: Kennedy Gate and Tapping Valve Repair Parts, Tools, & Accessories			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-16	Group 5: Hydrant and Valve Repair Parts: Kennedy K-81 Guardian Repair Parts, Tools, & Accessories			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-17	Group 5: Hydrant and Valve Repair Parts: Pratt Butterfly Valves Repair Parts, Tools, & Accessories - First Offer		1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO PRICE PLEASE CALL TO ORDER AN		LE AT THIS TIME FROM MFG. DED.	

OCWUT 27-24- -05-18	Group 5: Hydrant and Valve Repair Parts: Vertical shoe for hydrants			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-19	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Watermaster 5CD250 Repair, parts, Tools, and/or Accessories - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: ALL PRICIN	NG LISTED IS N	IET OKC BUYER PRICING.	
OCWUT 27-24- -05-20	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Flowmaster RW Repair, Parts, Tools, & Accessories - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: ALL PRICING LISTED IS NET OKC BUYER PRICE:			IET OKC BUYER PRICES.		
				Lot Total: \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 27-24- -06-01	Group 6: Shop Labor: Shop Labor			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -06-02	Group 6: Shop Labor: Shop Labor			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
		1		Lot Total: \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 27-24- -07-01	Group 7: Federal Acquisition Regulations: Federal Acquisition Regulations - First Offer		1 / each		
Product Agency I		Supplier Product Code: Ye Supplier Notes: Confirmed accordance with Federal Ac it applies to our goods.	l, yes we're wil	ling to provide goods in Ilations (FAR) contract clauses as	

Lot Total: \$0.00

ENVIRONMENTAL IMPROVEMENTS, INC. (ei2) \$400.00 (23/104 items) Bid Contact JAIMIE ALEMOND Address 517 N KEALY mledger@ei2dallas.com LEWISVILLE, TX 76262 Ph 972-436-2536 Agency Notes: **Supplier Notes:** ltem # Line Item Unit Price Qty/Unit **Total Price** OCWUT Group 1: Traffic Model Fire Hydrants: Traffic Model Fire No Bids

ianto, vaiv		110313		
27-24- -01-01	Hydrants depth of bury 3 foot			
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -01-02	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4 foot			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	1	
OCWUT 27-24- -01-03	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 4.5 foot			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -01-04	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 5 foot			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -01-05	Group 1: Traffic Model Fire Hydrants: Traffic Model Fire Hydrants depth of bury 6 foot			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -02-01	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 16 inch - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: List plus 15% - See Attached	d Price Sheets	
OCWUT 27-24- -02-02	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 18 inch - First Offer		1 / each	0.00%
Product Agency M		Supplier Product Code: Supplier Notes: List plus 15% - See Attached	d Price Sheets	
OCWUT 27-24- -02-03	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 20 inch - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: List plus 15% - See Attached	d Price Sheets	

OCWUT 27-24- -02-04	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 24 inch - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: List plus 15% - See Attached	d Price Sheets	
OCWUT 27-24- -02-05	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 30 inch - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: List plus 15% - See Attached All Valves larger than 24" m		from the factory.
OCWUT 27-24- -02-06	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 36 inch - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: List plus 15% - See Attached All Valves larger than 24" m		
OCWUT 27-24- -02-07	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 48 inch - First Offer		1 / each	0.00%
Product Agency N	Notes:	Supplier Product Code: Supplier Notes: List plus 15% - See Attached All Valves larger than 24" m		from the factory.
OCWUT 27-24-	Group 2: Ductile Iron Bodied Butterfly Valves: Butterfly valve with accessories 6 inch - 56 inch - First Offer		1 / each	0.00%

bid #OCWUT 27-24 -Hydrants, Valves, Repair

ants, Valv	ves, Repair its	Trusts		
-02-08				
Product Agency		Supplier Product Code: Supplier Notes: List plus 15% - See Attached All Valves larger than 24" m		from the factory.
		1		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -03-01	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 2 inch			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -03-02	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 3 inch			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -03-03	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 4 inch			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -03-04	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 6 inch			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -03-05	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 10 inch			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -03-06	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 12 inch			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -03-07	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 14 inch			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- •03-08	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 16 inch			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -03-09	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 18 inch			No Bids
-03-09 Δσency		Supplier Product Code:	<u> </u>	

Agency Notes:

City of Oklahoma City and its Trusts

,		Supplier Notes:		
OCWUT 27-24- -03-10	Group 3: Ductile Iron Bodied Gate Valves & Tapping Valves: Gate Valve complete with accessories 20 inch - 56 inch			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	·	
		1		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 27-24- -04-01	Group 4: Mechanical Joint Valves: ABZ Mastergear Valve Operators and Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-02	Group 4: Mechanical Joint Valves: Allis Chalmers Valve Operators and Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-03	Group 4: Mechanical Joint Valves: American Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-04	Group 4: Mechanical Joint Valves: APCO Valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-05	Group 4: Mechanical Joint Valves: ARI - Air Relief Valves - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: List plus 15% - See Attached	d Price Sheets	
OCWUT 27-24- -04-06	Group 4: Mechanical Joint Valves: ASCO Valves - First Offer	0.00%	1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: List plus 15% - See Attached	d Price Sheets	
OCWUT 27-24- -04-07	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally closed - First Offer		1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: List plus 15% - See Attached	d Price Sheets	
OCWUT 27-24- -04-08	Group 4: Mechanical Joint Valves: ASCO: 1-way, normally open - First Offer		1 / each	0.00%
Product Agency I		Supplier Product Code: Supplier Notes: List plus 15% - See Attached	d Price Sheets	
OCWUT	Group 4: Mechanical Joint Valves: ASCO: 3-way, 2 position -	0.00%	1 / each	0.00%

Agency N	IULES.	Supplier Product Code: Supplier Notes:		
-04-18	Group 4: Mechanical Joint Valves: Cla-val Pump Control Valves - Booster Type	Supplier Product Code:		No B
Agency N		Supplier Product Code: Supplier Notes:		
27-24- -04-17				
OCWUT	Group 4: Mechanical Joint Valves: Cla-val Globe Valves	Supplier Notes:		No B
Agency N	lotes:	Supplier Product Code:		
OCWUT 27-24- -04-16	Group 4: Mechanical Joint Valves: Cla-val Altitude Valves			No B
Product (Agency N		Supplier Product Code: Supplier Notes: List plus 15% - See Attached	Price Sheets	
OCWUT 27-24- -04-15	Group 4: Mechanical Joint Valves: Check Valves 4 inch to 24 inch flanged - First Offer		1 / each	0.0
Agency N		Supplier Product Code: Supplier Notes:		
-04-14	Group 4: Mechanical Joint Valves: Chapman Valve Operators and Valves			No B
		Supplier Product Code: Supplier Notes:		
27-24- -04-13 Agency N	Controls	Supplier Product Code:		
OCWUT	Group 4: Mechanical Joint Valves: Bermed Valve, Parts, and	Supplier Notes:		No B
27-24- -04-12 Agency N		Supplier Product Code:		
Agency N	Group 4: Mechanical Joint Valves: Bailey Valve Positioners	Supplier Notes:		No B
27-24- -04-11	operators	Supplier Product Code:		
OCWUT	Group 4: Mechanical Joint Valves: Auma valves and	List plus 15% - See Attached	l Price Sheets	No B
Product (Agency N		Supplier Product Code: Supplier Notes:		
27-24- -04-10	Group 4: Mechanical Joint Valves: ASCO: 4-way, 2 position - First Offer		1 / each	0.0
Agency N	lotes:	Supplier Product Code: Supplier Notes: List plus 15% - See Attached		
-04-09 Product (
27-24-	First Offer			

ants, Valv	ves, Repair its	Trusts		
-04-19				
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-20	Group 4: Mechanical Joint Valves: Cla-Val Replacement Parts/Kits			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-21	Group 4: Mechanical Joint Valves: Cla-val Valves, Parts, and Controls			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	1	
OCWUT 27-24- -04-22	Group 4: Mechanical Joint Valves: Cla-val Needle Valve Assemblies			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-23	Group 4: Mechanical Joint Valves: Cla-val flow clean strainer, straight & angled, x47 model			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-24	Group 4: Mechanical Joint Valves: Cla-val model x105L, x105L2, limit switch assemblies			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-25	Group 4: Mechanical Joint Valves: Cla-val 3/8 inch to 24 inch pressure relief/control valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:	1	
OCWUT 27-24- -04-26	Group 4: Mechanical Joint Valves: Cla-val solenoid control valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-27	Group 4: Mechanical Joint Valves: Clayton valve operators, positioners, and valves			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-28	Group 4: Mechanical Joint Valves: Clow Valves			No Bids
		Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-29	Group 4: Mechanical Joint Valves: Clow Valves, 6 inch to 12 inch, flanged			No Bids
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-30	Group 4: Mechanical Joint Valves: Crispen Valves - First Offer		1 / each	0.00%

Touuct	es, Repair its Code:	Supplier Product Code:		
Agency N		Supplier Notes: List plus 15% - See Attached Price Sheets. Please include Golden Anderson Air Release Valves in this section.		
Agency	voles.			
		Flease Include Golden And		
OCWUT	Group 4: Mechanical Joint Valves: Darling gate valves 4 inch			No
27-24-	to 24 inch, flanged			
-04-31				
Agency N	latos	Supplier Product Code:		
Agency		Supplier Notes:		
OCWUT	Group 4: Mechanical Joint Valves: Darling valve operators			No
	and valves			
-04-32				
Agency N	lotes:	Supplier Product Code:		
		Supplier Notes:		
OCWUT	Group 4: Mechanical Joint Valves: DeZurik Valves			Nol
27-24-				
-04-33				
Agency N	lotes:	Supplier Product Code:		
Agency I		Supplier Notes:		
OCWUT	Group 4: Machapical Joint Valver, EIMValve Operators			No I
	Group 4: Mechanical Joint Valves: EIM Valve Operators			INO I
27-24-				
-04-34				
Agency N	lotes:	Supplier Product Code: Supplier Notes:		
0.011			4 / .	-
OCWUT	Group 4: Mechanical Joint Valves: Golden Anderson Valves -	0.00%	1 / each	0.
27-24-	First Offer			
-04-35				
Product	Code:	Supplier Product Code:		
Agency N	lotes:	Supplier Notes:		
<u> </u>		List plus 15% - See Attached	d Price Sheets.	
	Group 4: Mechanical Joint Valves: Hydro Gate Valves			No
27-24-				
-04-36				
Agency N	lotes:	Supplier Product Code:		
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
Agency N				No I
OCWUT	Jotes: Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch			No I
OCWUT 27-24-	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to			Nol
OCWUT 27-24- -04-37	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch	Supplier Notes:		Nol
	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch	Supplier Notes: Supplier Product Code:		No I
OCWUT 27-24- -04-37 Agency N	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes:	Supplier Notes:		
OCWUT 27-24- -04-37 Agency N OCWUT	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes: Group 4: Mechanical Joint Valves: Keystone valve operators	Supplier Notes: Supplier Product Code:		No I
OCWUT 27-24- -04-37 Agency N OCWUT 27-24-	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes:	Supplier Notes: Supplier Product Code:		
OCWUT 27-24- -04-37 Agency N OCWUT 27-24-	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes: Group 4: Mechanical Joint Valves: Keystone valve operators	Supplier Notes: Supplier Product Code:		
OCWUT 27-24- -04-37 Agency N OCWUT	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Jotes: Group 4: Mechanical Joint Valves: Keystone valve operators and valves	Supplier Notes: Supplier Product Code:		
OCWUT 27-24- -04-37 Agency N OCWUT 27-24- -04-38	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Jotes: Group 4: Mechanical Joint Valves: Keystone valve operators and valves	Supplier Notes: Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-37 Agency N OCWUT 27-24- -04-38 Agency N	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes: Group 4: Mechanical Joint Valves: Keystone valve operators and valves Notes:	Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code:		No I
OCWUT 27-24- -04-37 Agency N OCWUT 27-24- -04-38 Agency N OCWUT	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes: Group 4: Mechanical Joint Valves: Keystone valve operators and valves Notes: Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve	Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code:		
OCWUT 27-24- -04-37 Agency N OCWUT 27-24- -04-38 Agency N OCWUT 27-24-	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes: Group 4: Mechanical Joint Valves: Keystone valve operators and valves Notes:	Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code:		No I
OCWUT 27-24- -04-37 Agency N OCWUT 27-24- -04-38 Agency N OCWUT 27-24- -04-39	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes: Group 4: Mechanical Joint Valves: Keystone valve operators and valves Notes: Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators	Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Notes:		No I
OCWUT 27-24- -04-37 Agency N OCWUT 27-24- -04-38 Agency N OCWUT 27-24-	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes: Group 4: Mechanical Joint Valves: Keystone valve operators and valves Notes: Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators	Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code:		No I
OCWUT 27-24- -04-37 Agency N OCWUT 27-24- -04-38 Agency N OCWUT 27-24- -04-39 Agency N	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes: Group 4: Mechanical Joint Valves: Keystone valve operators and valves Notes: Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators Notes:	Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Notes:		No I
OCWUT 27-24- -04-37 Agency N OCWUT 27-24- -04-38 Agency N OCWUT 27-24- -04-39 Agency N	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes: Group 4: Mechanical Joint Valves: Keystone valve operators and valves Notes: Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators	Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code:		No I
OCWUT 27-24- -04-37 Agency N OCWUT 27-24- -04-38 Agency N OCWUT 27-24- -04-39 Agency N OCWUT 27-24-	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes: Group 4: Mechanical Joint Valves: Keystone valve operators and valves Notes: Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators Notes:	Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code:		No I
OCWUT 27-24- -04-37 Agency N OCWUT 27-24- -04-38 Agency N OCWUT 27-24- -04-39 Agency N	Group 4: Mechanical Joint Valves: Kennedy Valves 6 inch to 24 inch Notes: Group 4: Mechanical Joint Valves: Keystone valve operators and valves Notes: Group 4: Mechanical Joint Valves: Kinetrol Pneumatic Valve Operators Notes:	Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code:		No I

ants, vaiv	ves, Repair its	Trusts		
		Supplier Notes:		
OCWUT 27-24- -04-41	Group 4: Mechanical Joint Valves: Kytronics Valves Positioners		No Bids	
		Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-42	Group 4: Mechanical Joint Valves: Limitorque Valve Positioners		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-43	Group 4: Mechanical Joint Valves: Ludlow Valves		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-44	Group 4: Mechanical Joint Valves: Mercoid: Pressure Adjustment Switches		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-45	Group 4: Mechanical Joint Valves: Miller Valve Operators		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-46	Group 4: Mechanical Joint Valves: Mueller Valve Operators		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-47	Group 4: Mechanical Joint Valves: Parker Hannifir Valve Operators		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-48	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, flanged		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-49	Group 4: Mechanical Joint Valves: Pratt Butterfly Valves 4 inch to 24 inch, non-flanged		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-50	Group 4: Mechanical Joint Valves: Pratt Valve Operators and Valves		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-51	Group 4: Mechanical Joint Valves: Rensselaer check valves 6 inch to 20 inch, flanged		No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:		

#OCWUT 2 rants, Valv		ahoma City and Trusts		
OCWUT 27-24- -04-52	Group 4: Mechanical Joint Valves: Rodney Hunt Valves - First Offer		1 / each	0.00%
Product Agency N		Supplier Product Code: Supplier Notes: List plus 15% - See Attached We are the exclusive repres Oklahoma. Due to market quotes must be made by th	sentative for Re prices of mater	rials such as stainless steel, all
OCWUT 27-24- -04-53	Group 4: Mechanical Joint Valves: Ross Valves			No Bids
Agency N	lotes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-54	Group 4: Mechanical Joint Valves: Rototork: Valve Actuators - First Offer	0.00%	1 / each	0.00%
Product Agency N		State of Oklahoma. I have p	facturers repre provided letters price must be the fact that ea	-
OCWUT 27-24- -04-55	Group 4: Mechanical Joint Valves: Sluce Gate Valves - First Offer		1 / each	0.00%
Product Agency N		and Fontaine. Both are slui	factures repre ce gate manuf As stated befor	sentative for both Rodney Hunt actures for which the City of re, these quotes will have to be
OCWUT 27-24- -04-56	Group 4: Mechanical Joint Valves: Val-matic Valves			No Bids
Agency N	lotes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-57	Group 4: Mechanical Joint Valves: Verse Valve Operators			No Bids
Agency N	lotes:	Supplier Product Code: Supplier Notes:		
OCWUT 27-24- -04-58	Group 4: Mechanical Joint Valves: Xomox Valves			No Bids
Agency N	lotes:	Supplier Product Code: Supplier Notes:		

ants, Valv	es, Repair its	s Trusts			
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 27-24- -05-01	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-62 Repair Parts, Tools, and/or Accessories			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-02	Group 5: Hydrant and Valve Repair Parts: American Darling Model B-84 Repair Parts, Tools, and/or Accessories			No Bids	
Agency N	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-03	Group 5: Hydrant and Valve Repair Parts: American Darling Gate and Tapping Valve Repair Parts			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-04	Group 5: Hydrant and Valve Repair Parts: Mueller A-423 Centurion Repair Parts, Tools, and Accessories			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-05	Group 5: Hydrant and Valve Repair Parts: Mueller Valve Operators, Gate, and Tapping Valves			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-06	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Gate and Tapping Valves Repair Parts, Tools, & Accessories			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-07	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Large Barrel Pre-1994 Repair Parts, Tools, & Accessories			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-08	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Metro Small Barrel Pre-1994 Repair Parts, Tools, & Accessories			No Bids	
Agency N	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-09	Group 5: Hydrant and Valve Repair Parts: U.S. Pipe Sentinel Repair Parts, Tools, & Accessories			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-10	Group 5: Hydrant and Valve Repair Parts: M&H 129 Reliant Repair Parts, Tools, & Accessories			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-11	Group 5: Hydrant and Valve Repair Parts: M&H Gate and Tapping Valve Repair Parts			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:	1		

ants, Valv	res, Repair its	Trusts			
OCWUT 27-24- -05-12	Group 5: Hydrant and Valve Repair Parts: Clow F2500 Repair Parts, Tools, and Accessories			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-13	Group 5: Hydrant and Valve Repair Parts: Clow Gate and Tapping Valve Repair Parts, Tools, & Accessories			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-14	Group 5: Hydrant and Valve Repair Parts: Clow Medallion Repair Parts, Tools, & Accessories			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-15	Group 5: Hydrant and Valve Repair Parts: Kennedy Gate and Tapping Valve Repair Parts, Tools, & Accessories			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-16	Group 5: Hydrant and Valve Repair Parts: Kennedy K-81 Guardian Repair Parts, Tools, & Accessories			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-17	Group 5: Hydrant and Valve Repair Parts: Pratt Butterfly Valves Repair Parts, Tools, & Accessories			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-18	Group 5: Hydrant and Valve Repair Parts: Vertical shoe for hydrants			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-19	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Watermaster 5CD250 Repair, parts, Tools, and/or Accessories			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 27-24- -05-20	Group 5: Hydrant and Valve Repair Parts: EJ (East Jordan) Flowmaster RW Repair, Parts, Tools, & Accessories			No Bids	
		Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 27-24- -06-01	Group 6: Shop Labor: Shop Labor - First Offer	\$200.00	1 / hour	\$200.00	
Product Agency I		Supplier Product Code: Supplier Notes: We provide service for all ite	ems bid within		
OCWUT 27-24-	Group 6: Shop Labor: Shop Labor - First Offer	\$200.00	1 / hour	\$200.00	

#OCWUT 27-24 - drants, Valves, Repair		ahoma City and s Trusts			
Product Agency N		Supplier Product Code: Supplier Notes: We provide service for all items bid within.			
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 27-24- -07-01	Group 7: Federal Acquisition Regulations: Federal Acquisitior Regulations - First Offe		1 / each		
Product Agency N		Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00	

<u>Tresha Williams</u> City Clerk Angee Wagner Purchasing Agent Janet McWilliams Auditor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.